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NOTES FROM THE AUTHORS

MIDDLE SCHOOL MATHWITH PIZZA!

isa series o five books designed to provide
practice with skills and concepts taught

in today's middle school mathematics
programs. The series uses many o the
same puzzleformats as PRE-ALGEBRA
WITH PIZZAZZ! and ALGEBRA WITH PIZZAZZ!
both published by Creative Publications.

We believe that mastery of math skills and
concepts requires both good teaching and a
great deal of practice. Our goal isto provide
puzzle activities that make this practice
more meaningful and effective. To this end,
we have tried to build into these activities
three characteristics:

1. KNOWLEDGE OF RESULTS. Various
devices are used in the puzzles to tell
students whether or not their answers
are correct. Feedback occurs immediately
after the student works each exercise.
For example, if a particular answer is not
in the code or scrambled answer list, the
student knows it isincorrect. He or she
can then try again or ask for help.
Additional feedback and reinforcement
occurs when the student finds a puzzle
solution that is appropriate. This
immediate knowledge of results benefits
students and also teachers, who no
longer have to spend time confirming
correct answers.

2. A MOTIVATING GOAL FOR THE
STUDENT. The puzzles are designed so
that students will construct a joke or
unscramble the answer to ariddlein
the process o checking their answers.
The humor operates as an incentive,
because the students are not rewarded
with the punch line until they complete
the exercises. While students may decry
these jokes as "dumb" and groan loudly,
our experience has been that they enjoy
the jokes and look forward to solving the
puzzles. The humor has a positive effect
on class morale. In addition to humor,
the variety and novelty of procedures for
solving the puzzles help capture student
interest. By keeping scrambled answer
lists short and procedures simple, we

have tried to minimize the time spent on
finding answers or doing other puzzle
mechanics.

3 CAREFUL SELECTION OF TCPI CS
AND EXERCISES. The puzzleswithin
each topic area are carefully sequenced
so that each one builds on skills and
concepts previously covered. The
sequence of exerciseswithin each puzzle
iIsdesigned to guide studentsinincre-
mental, step-by-step fashion toward
mastery of the skill or concept involved.
A primary godl isthe development of
problem-solving ability. In order to solve
problems, students need not only rules
and strategies but also a meaningful
understanding of basic concepts. Some
puzzles in this series are designed specif-
ically to build concepts. Other puzzles,
especially those for estimation, also help
deepen students' understanding by
encouraging them to look at numbers as
quantities rather than just as symbols to
be manipulated. For puzzles specifically
keyed to problem solving, we have tried
to write problems that are interesting
and uncontrived. We have included extra
information in some problems, and have
also mixed problem types within sets,
so that the problems cannot be solved
mechanically.

In addition to 'these efforts to make the
puzzles effective, we have tried to make
them easy to use. The topic for each puzzle
is given both at the bottom of the puzzle
page and in the Table d Contents on pages
iv and v. Each puzzle is keyed to a specific
topic in recent editions o leading middle
school textbooks. Each puzzle requires
duplicating only one page, and many

o them provide space for student work.
Finally, because the puzzles are self-
correcting, they can eliminate the task

o correcting assignments.

We hope that both you and your students
will enjoy using these materials.

Steve and Janis Marcy
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NOTES ABOUT USING THEPUZZLES

The selection o topics for M DOLE SCHOOL
MATH WITH PIZZAZZ! reflects recent thinking
about what isimportant in an updated middle
school math program. Virtually every puzzle can
be matched with a particular lesson in recent
editionsd popular textbooks. After students
have received instruction in a topic and worked
some sampl e exercises, you might assign a
puzzle along with a selection d textbook
exercises.

Studentsin the middle grades should begin to
classify many mathematics problems and
exercises into one o three categories:

1. MENTAL MATH. Problemsfor which an exact
answer can be obtained mentally.

2. ESTI MATI ON Problemsfor which an
approximate answer, obtained mentally, is
sufficient.

3. TOOLS. Problemsrequiring an exact answer
that cannot be obtained mentally. Students
will use paper and pencil and/or calculators.

Some d the puzzlesin this seriesfocus
specifically on one d these categories. A few
puzzles actually present problemsin all three
categories and ask the student to make the
classification.

By the time they reach the middle grades,
students should generally be permitted to use
calculators for problems that require tools
(Category 3).The most common argument
against calculator useis that students will
become overly dependent on them. This concern,
though, appears to be based primarily on fear
that studentswill rely on the calculator for

problemsin Categories 1 and 2, those that
should be done mentally.

To solve problemsin Category 3, calculators are
wonderful toolsfor computing. Students may
also need paper and pencil to make diagrams,
write equations, record results, etc., so they will
need both kinds of tools. On the other hand,
students should not need cal culators for
problemsin Categories 1 and 2, problems that
call for mental math or estimation. Skillsin
these areas are essential not only in daily life
but also for the intelligent use o the calculator
itself. The puzzlesin this seriesreflect these
three categories and the distinction between
them.

When students do use calculators, you may
want to have them write down whatever
numbers and operations they punch in and their
answers. This makes it easier to identify the
cause d any error and assistsin class
management. Even when students do mental
math or estimation puzzles, have them write a
complete list d answers and, where appropriate,
the process used to get the answers. Encourage
students to write each answer before locating it
in the answer list. Students should complete all
the exercises even if they discover the answer to
thejoke or riddle earlier.

One advantage o using a puzzleas an
assignment is that you can easily make a
transparency o the page and display the
exercises without having to recopy them on the
board. You can then point to parts d a problem
asyou discussit. It isoften helpful to cut the
transparency apart so that you can display
exercises on part o the screen and write
solutions on the remaining area.

Other books by Steve and Janis Marcy
published by Creative Publications

Pre-Algebra With Pizzazz! in a Binder
Covers most topics in a pre-algebra curriculum

Algebra With Pizzazz!in a Binder
Covers most topics in a first-year algebra curriculum
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What Do You Call a Lamb Covered with Chocolate?
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Use the "guess and check" method to solve these problems:

(1) Guess an answer that meets one of the conditions.

(2) Check your guessto see if it meets the other condition.

Find each correct answer and cross out the letter next to it. When you finish,
the answer to the title question will remain.

1.

11.

13.

Sum of two numbers = 15
Difference of the numbers = 3
Find the numbers.

What is their product?

Sum of two numbers = 13
Difference of the numbers =1
Find the numbers.

What is the larger number?

Sum of two numbers = 14
Product of the numbers =40
Find the numbers.

What is their difference?

2. Sum of two numbers = 16

Difference of the numbers = 6
Find the numbers.
What is their product?

Sum of two numbers = 11
Product of the numbers = 24
Find the numbers.

What is their difference?

Sum of two numbers = 15
Product of the numbers = 36
Find the numbers.

What is the smaller number?

The Vampires played 20 games. 8 Zarinasaid, "The sum of my
The team won 4 more games age and my father's age is 50.
than it lost. How many games The product of our ages is 400. "
did the Vampires win? How old is Zarina?

Ernie has twice as many 10. Tommy said, "My mommy is 4
stickers as Bert. Together they times as old as | am. The sum
have 90 stickers. How many of our ages is 40." How old is
stickers does Ernie have? Tommy's mommy?

Henry's sister is 3 years 12. Dadis twice as old as Junior.
younger than Henry. The Gramps is twice as old as Dad.
product of their ages is 180. The sum of the three ages is
How old is Henry? 140. How old is Gramps?

The Cyclone Coaster has 16 14. A math teacher drove past a

cars. Some of them hold 2
passengers and some hold 3
passengers. If there is room for
36 people altogether, how many
cars hold 3 passengers?

farmyard full of chickens and
pigs. The teacher noticed that
there were a total of 30 heads
and 100 legs. How many pigs
were there?

B"7 TOPIC 1-a: Problem Solving Strategy: Guess and Check ’
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How DoesaBeaver KnowWhich Treeto Gut Down?

[CEEDeED DO TIDe

Try working backward to help solve each problem. Find your answer in the
answer box. Write the letter of the answer in each space containing the number

of the problem.

44D o™= | GD S Sy

=

Susan made a deposit of $74 to her
bank account. She then had $192 in the
account. How much money was in the
account before the deposit?

Aram gave Steve 38 of his baseball
cards. He then had 145 cards left. How
many did he have to begin with?

Mark weighs half as much as his father.
If Mark weighs 76 pounds, how much
does his father weigh?

Karen's uncle said, “If you add 10 to my
age and then double the sum, the result
is 90." How old is Karen's uncle?

Ms. Shoe kept 2 meatballs for herself,
then divided the others equally among
her 14 children. If each child got 5
meatballs, how many did Ms. Shoe
have to begin with?

A burglar trying to escape police got on
the elevator in a tall building. He went
up 8 floors, down 4 floors, up 3 floors,
down 7 floors, and down 2 floors. If he
finished on Floor 20, what floor did he
start on?

7.

10.

Bob's mother asked how he had done
on a math test. Bob said, "If you
multiply my score by 3, then subtract 40
from that answer, then divide by 2 you
will get exactly 100." What was Bob's
score?

Keith bought a belt for $9 and a shirt
that cost 4 times as much as the belt.
He then had $10. How much money did
Keith have before he bought the belt
and shirt?

Mom had just filled the cookie jar when
the three children went to bed. That
night, one child woke up, ate half the
cookies, then went back to bed. Later,
the second child woke up, ate half the
remaining cookies, then went back to
bed. Still later, the third child woke up,
ate half the remaining cookies, leaving
3 cookies in the cookie jar. How many
cookies were in the jar to begin with?

Ms. Match went to a store, spent half of
her money and then $10 more. She
went to a second store, spent half the
money she had left and then $10 more.
She then had no money left. How much
money did Ms. Match have when she
started out?

(F) 38
() 72

W) 24
(D) 84
(©) 1521

(T) 67
(D) s1s

(R) 35
(L) 194

144 1b
(N) $55

(V) 8o
(A) 28

(H) $60
9 110

®
1131106 |7 |6 | 4

®$5o
8 |6

() 183 @$98
3]10]6 95

10| 6
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TOPIC 1-b: Problem Solving Strategy: Work Backwards
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WHERE WILL YOU FIND THE CENTER CF GRAVITY?

For each original problem, there is a simpler problem. Solve the simpler problem. K159 T 300 12

Then choose the correct method for solving the original problem. Write the letter
of the correct choice in the box containing the answer to the simpler problem.

Original Problem

30| 8 | 40| 10

Simpler Problem

Method for Solving
Original Problem

Jelly Junior High ordered 12 computers and 4 video
recorders. The computers sell for $979 each, but the school
got a discount and paid only $851 each. Each video recorder
cost $259. How much did the school pay for the computers?

The school bought 3 computers and
paid $100 for each. How much was
paid for the computers?

$ -

979-851

12x851

The fastest speed at which humans have traveled is 24,791
miles per hour when the Apollo 10 reached its maximum
speed 400,000 feet above the earth. At this speed, how long
would it take to travel to the moon, a distance of 233,812
miles?

How long would it take a person
traveling 10 miles per hour to travel
80 miles?

400,000 - 233,812

233,812 + 24,791

Ateam of 8 horses pulled a stagecoach toward Dodge City
in 1869. It carried 3 strongboxes, each with $4,750 in gold
coins. The stagecoach was attacked by 4 outlaws who stole
$10,392. What was the value of the gold left on the
stagecoach?

A stagecoach carried 3 boxes, each
holding $100. Outlaws stole $200.
How much was left?

$ I

(3 x 4,750) — 10,392

(4 x 10,392) - 4,750

When Rolex Glomgold died at the age of 78, his estate was
worth $916,694. His will directed that $134,250 be split
between 2 charities and the rest divided equally among his
29 grandchildren. How much did each grandchild receive?

Rolex died and left $100. $10 went to
charity. The rest was divided equally
among 3 people. How much

did each receive?

2 x 134,250 x 29

916,694 — 134,250
29

Mr. Pumpernickel's 1989 Buick gets 27 miles per gallon
when traveling at 50 miles an hour. At this rate, how much
gasoline is needed to travel from Miami to Dallas, a distance
of 1,338 miles, and then back again to Miami?

A car gets 20 miles per gallon. How
much gas is needed to travel 100
miles and back again?

gal

50 x 27 x 1,388

2 x 1,388
27

Chad works 13 hours a week after school. He earns $4.85
an hour. He also spends 7 hours a week practicing the violin.
He saved all his earnings for 6 weeks and bought a new
violin for $347. How much money did he have left?

Chad works 10 hours a week and earns
$5 an hour. He saved his earnings for 2
weeks and then spent $75. How much
did he have left? $

ORCARCIONGISINORONNGEORCONG)

(13 x 4.85  6) — 347

(6 x 7 x 4.85) — 347



What Train Do Pigs Ride?

For each exercise, write all the possibilities for the situation in an organized
list. Then answer the question and circle your answer in the answer column.

When you finish, write the letters in order from the letter of the smallest correct
answer to the letter of the largest correct answer.

@ A radio disk jockey has chosen the next 3 songs he will play, but
he hasn't decided in what order to play them. How many choices -
does he have? g

@ At Micron Middle School, each student must take two of these
classes: art, music, keyboarding, cooking, or shop. How many
different combinations does the student have from which to choose?

Answers

@ Susan bought 2 skirts, 4 blouses, and 2 sweaters to wear as
different outfits. How many different combinations can she make
that include a skirt, a blouse, and a sweater? (HINT Call the skirts
A and B; the blouses 7, 2, 3, and 4; the sweaters X and Y.)

@ There are 3 trombone players and 3 saxophone players in the
school band. The director needs 2 trombone players and 1
saxophone player for a special performance. How many different
choices does the director have?

Wilbur has trophies in football, soccer, bowling, and tennis. He
lines them up on a shelf in his room. How many different
arrangements of the 4 trophies are possible?

The telephone operator has told Jed to deposit 60 cents. In how
many ways can he do this using nickels, dimes, and quarters?

@ @ ©

A student must answer any 3 of the 4 essay questions on a social
studies test. How many different selections of questions can be made?

©

A computer game lets you create funny animals by combining the
head of one animal, the body of another animal, and the legs of a
third animal. You can choose the head of an elephant, gorilla, or
lion; the body of a horse or ostrich; and the legs of a camel, duck,
or pig. How many different animals can be made?

Letter of smallest —s & Letter of largest
correct answer correct answer

TOPIC 1-d: Problem Solving Strategy:
Make an Organized List B-1 0 MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK B

Group/McGraw-Hill
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Why Isa Stick & Gum Like a Sneeze?

Make a table and look for a pattern to help you solve each problem. As an
example, a table has been started for the first exercise.

Find each answer and cross out the letter next to it. When you finish, the
answer to the title question will remain.

@ Zelda's parents put $100 in a savings account on Zelda's first birthday.

Each year on her birthday they put in $200 more than on her last
birthday.

A. What will the total be when Zeldais 7 years old?

B. What will the total be when Zelda is 10 years old?

3,640

$275

$80

$4,900

$9,600

550

$255

$110
630
15

11

3,950

13

6

$4,400

$10,000

year 1 2 3 4 5 10
amount | 100 | 300 | 500 | 700
total | 100 | 400 | 900

@ Dr. Dorque wrote a book called 7007 Random Numbers in Ascending

S,

MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK B

Order. In the first month after it was published, 10 copies were sold. In
the second month, 30 copies were sold. In the third month, 60 copies
were sold. In the fourth month, 100 copies were sold. If this pattern
continues,

A. How many copies will be sold in the tenth month?

B. How many copies will be sold altogether in a year?

A subway train left downtown with 121 passengers aboard. At the first
stop, 1 person got off. At the second stop, 3 people got off. At the third
stop, 5 people got off. At the fourth stop, 7 people got off. If this pattern
continues,
A. How many people will get off at the 7th stop?
B. How many stops will the train have made when all the
passengers are off?

Bob's aunt offered him a choice of rewards for getting good grades. If
he chooses Plan 1, she will give him $10 for every "A" on his report
card. If he chooses Plan 2, she will give him $1 for the first "A," plus $2
for the second "A," plus $4 for the third "A," and so on, doubling with
each additional "A." Bob gets 8 different grades on his report card.
A. If Bob chooses Plan 1 and gets an "A" in every class, how much
money will he receive?
B. If Bob chooses Plan 2 and gets an "A" in every class, how much
money will he receive?
C. How many "A" grades must Bob receive to make Plan 2 the
better choice?

B-11

TOPIC 1-e: Problem Solving Strategy: Make a Table




How Did the Hunter Get Hurt While Bending

Over to Study Some Tracks?

Draw a picture to help solve each problem. Cross out the box containing
each correct answer. When you finish, write the letters from the remaining
boxes in the spaces at the bottom of the page.

Hope's Mom baked a cake for Hope's
birthday. It is in the shape of a rectangle 10
inches long and 6 inches wide. If she starts
at one corner and puts a candle every 2
inches, how many candles will fit around
the edge of the cake?

Four friends went to a park to fly kites. Asher
stood 50 feet due west of the flagpole.
Baxter stood 50 feet due north of Asher.
Cranby stood 100 feet due east of Baxter.
Dudley stood 50 feet due south of Cranby.
How far was Dudley from the flagpole?

ft

Gompers is trying to cut a round pizza into
the largest possible number of pieces with
3 straight cuts of the knife. He can't restack
or rearrange the pieces after a cut. What is
the largest number of pieces he can cut?

Driving along Route 77, Zeke passed the
towns of Bam, Jam, Ram, and Wam, in that
order. He noticed it was 27 miles from Bam
to Jam and 33 miles from Ram to Wam. On
his return trip, he noticed it was 100 miles
from Wam to Bam. How far is it from Jam to
Ram?

mi

The deck in Hope's backyard s round. It has
5 posts evenly spaced around the edge to
support a trellis. For her birthday party, she
wants to connect each post to all the other
posts with crepe-paper streamers. How many
streamers will she need?

Asher’s kite flew the highest. Baxter's kite
was 50 feet lower than Asher’s but 100 feet
higher than Cranby's. Cranby's kite was
100 feet higher than Dudley's. Dudley's kite
was 300 feet above the ground. How high
was Asher’s kite?

ft

Derek planted a garden in the shape of a
square 32 feet on each side. The garden
has a stream on one side, but he plans to
build a fence on the other three sides. If he
puts a fencepost every 8 feet, how many
posts will he need?

Five cars entered the Euclidean Grand Prix
auto race. They were given numbers for
identification. Car 33 came in last. Car 55
came in ahead of Car 22 but behind Car
44. Car 22 came in ahead of Car 66. Which
car won the race?

SH
44

TOPIC 1-f: Problem Solving Strategy: Draw a Picture

TH

52

B-12
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why Was the Fencing Champion So Honest?

11.

What logical conclusion, if any, follows from the given statement? For each
exercise, circle the letter of the better choice. Write this letter in each box
containing the number of the exercise.

3

)

. All whales are mammals. Moby is a

whale.
® Moby is a mammal.
@ No conclusion is possible.

All elephants are wrinkled. Ajax is an
elephant.

@ Ajax is wrinkled.
No conclusionis possible.

All librarians like to read books: Marion
is a librarian.

Marion likes to read books.

©©

No conclusion is possible.

All squares have 4 sides. Susan drew a
4-sided figure.

Susan drew a square.
N

0 conclusion is possible.

@0

Some radio stations play music. KISS is
a radio station.

@ KISS plays music.
® No conclusionis possible.

Allen is taller than Bill. Bill is taller than
Charles. Charles is taller than David.
Which of the following is true?

@ Allen is taller than David.
@ Charles is taller than Allen.

2.

10.

12.

Allislands are surrounded by water.
Javais an island.

@ Java is surrounded by water.
@ No conclusion is possible.

All elephants are wrinkled. Clyde is
wrinkled.

@ Clyde is an elephant.

@ No conclusion is possible.

All librarians like to read books. Terry
likes to read books.

@ Terry is a librarian.
@ No conclusion is possible.

All squares have 4 sides. Susan drew a
square.

@ Susan drew a 4-sided figure.
No conclusion is possible.

Some flowers are roses. Carlos bought
a flower.

@ Carlos bought a rose.
@ No conclusion is possible.

Kong is stronger than Wong. Wong is
stronger than Hong. Hong is stronger
than Pong. Pong is stronger than Tong.
Which of the following is true?

@ Pong is stronger than Kong.
@ Wong is stronger than Tong.

8|4 10 2J12 2 11|23 (5 1L {8[{2 12(10| 5 9[7
N I
TOPIC 1-g: Problem Solving Strategy:
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What Did the Hike

r Say As He

Removed His Backpack?

Do each exercise and find your answer at the bottom of the page.
containing the answer.

g Write the letter of the exercise in the box

A teacher asked students in her class what they had eaten for breakfast.
According to the Venn diagram, how many students had eaten:

cereal but not eggs?
eggs?
eggs but not cereal?

CERG®G®

both eggs and cereal?

cereal? cereal eggs

A geography class made a study of the colors used in national flags.
According to the Venn diagram, how many flags contain:

© red?

@ red but not white?

@ white?

@ white but not red?
(S) both red and white?

red white

A survey was taken to find how many students play certain sports.
According to the Venn diagram, how many students play:

@ tennis?

@ tennis but not soccer or volleyball?
@ soccer? tennis

@ soccer but not tennis or volleyball?
@ volleyball?

@ volleyball but not tennis or soccer?
® both tennis and soccer?

@ both tennis and volleyball?

@ both soccer and volleyball?

(P) allthree sports?

T\
(N

volleyball

30( 9110|134 14|12I120 5127 21|26 7

16I20 1386 3|4]|8(113

TOPIC 1-h: Problem Solving Strategy:
Use a Venn Diagram B-1 4
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What Did the Mechanical Man Do \WWhen
He Ran Out d Money at a Poker Game?

Solve each problem below. Find your solution and notice the
two letters next to it. Write these letters in the two boxes
above the exercise number at the bottom of the page. }

@ In the Land of Pi, there are six cities arranged in a circle. Each
city is connected to every other city by a straight road. How
many roads are there? —_

@ Tom made a New Year's resolution to stop spending all his
money. He has a plan. During January, he will save $1. During
Feb_rua% he will save $3. During March, he will save $5.
During April, he will save $7. If he continues to follow this plan,
how much money will he save altogether in one year?

[92)
«
—
w
o

awarded for each correct answer, and two points were
deducted for each incorrect answer. Matt's score was 39. How

: 13
many correct answers did he have?

@ At a math contest, 12 problems were given. Five points were
® %

In the mythical kingdom of Permutatus, wizards have special
2-digit license plates. The first digit is greater than 6, and the
second digit is odd. The two digits cannot be the same. How
many different license plates are possible?

15
21

—

@ Today is the teacher's birthday. The teacher said: “If you
multiply my age by 3, then subtract 20, the result is 100." How
old is the teacher?

m
~

$180

@ Tex is building a corral in the shape of a rectangle 40 feet long
and 32 feet wide. He plans to put a fencepost every 8 feet
around the corral. How many posts will he need? 40

@ Samantha has five objects, weighing 1 kg, 2 kg, 3 kg, 4 kg,
and 5 kg. If she weighs them two at a time, how many
different weights can she get?

The science club wants to charter a bus to the Space
Museum. The Red Line charges $50 for the first hour plus $30
for each additional hour. The Blue Line charges $100 for the
first hour plus $20 for each additibnal hour. What is the

smallest number of hours for which the two lines would charge
the same amount?

[5 3 7 1 6 4 8 2I
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What's the Difference Between a Barbell and an Ocean?

Write a decimal for each exercise. Cross out the box containing each correct answer. When you

finish, write the letters from the remaining boxes in the spaces at the bottom of the page.

©

®

®

YOO8 iZZvZZId H1IM HLYIN TOOHOS 31adIN

0 0.5 1.0
-« ,l_LlliLIIIJIILIU_LIIIHIIIIILIIlIulll_LliLlllllIlllj_l_lllLllLLlll_lllIIIILIU_IIII|IIIIILII|LIIILIIIII| »
4.0 4.5 5.0
@ three hundred eighty-five thousandths . 0.6 + 0.04 + 0.007
"P three and eighty-five thousandths @ 6 + 0.4 + 0.007
3 @ seventeen thousandths 20 + 0.02 + 0.005
one and seven thousandths @ 20+2+0.05
@ forty and nine hundred two thousandths 1+0.8+0.01+0.008
. @ four hundred ninety-two thousandths 100 + 80 + 1 + 0.08
o
= @ forty-nine and two thousandths 100 +8 + 0.1 + 0.008
5
£ TH EY | AT WE AK LL | GR | AB IG AR TS HT oP
§ 6.407 | 1.007 0.85 22.205 108.108 0.27 1.818 | 0.385 180.18 49.002 0.017 | 10.17 | 22.05
» PL AN TS UN DS UP TI DE EP TO EA CH TS
; 0.492 4.92 4.79 20.025 60.047 0.647 4.44 0.62 40.902 181.08 49.42 4.08 3.085
[e]
8
a
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How Can You Hdp Prevent Burglaries?

Do each exercise and find your answer in the set of answers to the right. Write the
letter of the exercise in the box containing the number of the answer.

. Give the value of the digit
" neachnumber 0 (4) 3hundreds (9 3tentrs

@ 2.35 @ 16.093 @ 3 tens (2) 3 hundredths
ones ousandths
(©) 0.134 (L) 43.75 (9 3 (26) 3 thousandth

. i igit 8
I ﬁ'éiéﬂenﬂﬁf f the digi ‘ 8 hundreds @ 8 tenths

@ 0.086 @ 94.008 @ 8 tens @ 8 hundredths
(E) 825 () 87025 @ 8 ones (3) 8 thousandths

lll.  Give the value of the digit 5
in each number.

@ 45.916 @ 950.44 N @ 5 tens . 5 hundredths
@ 12775 @ 6.157 @ 5 ones @ 5 thousandths

IV. Write the decimal. @ 2.74
@ twenty-seven and four tenths @ 27.4
® two and seventy-four hundredths @ 2.704
@ two and seventy-four thousandths @ 2.074
V.  Write the decimal. @ 0.816
@ eighty-one and six hundredths . 8.016
® eighty and one hundred six thousandths @ 81.06
@ eight hundred sixteen thousandths (20) 80.106
VI.  Write the decimal. R @ 53.009
@ five hundred three and nine tenths . 503.9
@ five hundred and thirty-nine hundredths ' 530.09
@ fifty-three and nine thousandths @ 50.309
® five hundred thirty and nine hundredths @ 500.39

®
|1'2 34567 ]|8[|9(10|11[12(13[14]115]16]17]18 |19 26-21}22 23’24 25 26|

MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK B B-19 TQP C2-c: Place Value to Thousandths




Why Is a Single Cow Always Brave?

Do each exercise and find your answer in the set of answers to the right. Write the
letter of the exercise in the box containing the number of the answer.

I.  Give the value of the digit 4

in each number.
@ 3.294

@ 6.475
@ 54.08 !

@ 4 ones

4 tenths
4 hundredths

4 thousandths

3

4 ten-thousandths
4 hundred-thousandths

@ 0.1422

Il. Give the value of the digit 6

in each number.
@ 87.3699

@ 2.0916
(T) 0.6008

@ 6 ones
. 6 tenths

6 hundredths @ 6 hundred-thousandths

. 6 thousandths
. 6 ten-thousandths

(0) 5.17776
Give the value of the digit 9

II.
in each number.
@ 0.004595

@ 28.43911
(0) 309.15 @ 8.037907

[ U ——— —

@ 9 ones

9 tenths
9 hundredths @ 9 hundred-thousandths

@ 9 thousandths
@ 9 ten-thousandths

IV. Write the decimal.

@ six and twenty-nine hundredths

@ six and twenty-nine ten-thousandths
@ sixty-two and nine thousandths

V. Write the decimal.

@ forty-three and eight tenths

four and thirty-eight thousandths

@ forty and three hundred eight ten-thousandths

VI.
® seven and fifteen hundred-thousandths
@ seventy-one and five hundredths

@ seven hundred fifteen thousandths

® seven hundred one and five tenths

Write the decimal.

| (2) 7105

1011 (12 14

’-1-23456789

16

17(18 20(21|22123

TOPIC 2-d: Place Value to Hundred-Thousandths
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What Did the Boy Rodent Say to the Girl Rodent?

Find your answer for the last
step of each exercise in the
boxes to the right. Write the
letter of the exercise in this box.

34

i ﬂi i

14 | 59

© 82.4375

1. Start with the digit in the
tenths place.

2. Add the digit in the
tens place.

3. Multiply by the digit in the
ten-thousandths place.

@ 9.02637

1. Start with the digitin the
thousandths place.

2. Multiply by the digit in the
hundred-thousandths place.

3. Divide by the digit in the
hundredths place.

0.143825
Start with the digit in the
millionths place.
2. Subtract the digit in the
tenths place.
3. Multiply by the digit in the
ten-thousandths place.

4. Add the digitin the
hundred-thousandthsplace.

=

@ 7,128.659

1. Start with the digit in the
thousands place.

2. Add the digitin the
thousandths place.

3. Subtract the digit in the
hundreds place.

4. Divide by the digit in the
hundredths place.

4526371 @ 890.3725
1. Start with the digit in the 1. Start with the digit in the
ten-thousandths place. hundredths place.

2. Multiply by the digit in the
hundred-thousandths place.

3. Subtract the digit in the
millionths place.

4. Divide by the digitin the

2. Add the digit in the
hundreds place.

3. Divide by the digit in the
tenths place.
4. Multiply by the digit in the

ones place. tens place.
© 0.0198236 ® 45.63041
1. Start with the digitin the 1. Start with the digit in the
thousandths place. tenths place.

2. Subtract the digit in the
hundred-thousandthsplace.

3. Multiply by the digitin the
ten-thousandths place.

4. Add the digitin the
millionths place.

MIDDLE SCHOOL MATH WITH P1ZZAZZ! BOOK B

2. Multiply by the digit in the
ones place.

3. Divide by the digitin the
hundredths place.

4. Subtract the digit in the
tens place.

TOPIC 2-e: Place Value to Millionths



Why Do We Remember theFirst Lid That
Cameto America?

Write each number as a decimal and find your answer in the list to the right. Write the
letter of the answer in the box containing the number of the exercise. If the answer
has a . shade in the box instead of writing a letter in it.

1. two and seventy-six hundredths 2 076

2. two and seventy-six thousandths : 27.006

3. two hundred seventy-six thousandths @ 2.76

4. twenty-seven and six thousandths 8 9 0.276

5. three thousand eight hundred fifty-four ten-thousandths @ 38.0054

6. three and eight hundred fifty-four ten-thousandths . 3.0854

7. thirty-eight and five hundred four thousandths ® 38.504

8. thirty-eight and fifty-four ten-thousandths @ 0.3854

9. nine hundred seventy-one millionths ‘ 9.000071
10. nine and seventy-one millionths " @ 0.009071
11. nine and seven hundred one millionths @ 9.000701
12. nine thousand seventy-one millionths @ 0.000971
13. six hundred fifty-two and eight tenths .& @ 0.06528
14. six thousand five hundred twenty-eight hundred-thousandths ‘ 650.00028
15. six hundred fifty and twenty-eight hundred-thousandths 652.8
16. six hundred and five hundred twenty-eight thousandths : % 600.528
17. four hundred ten and nine hundredths £ @ 0.0419
18. four hundred nineteen ten-thousandths & m 410 09
19. four and nineteen millionths -. @ 40.019
20. forty and nineteen thousandths .- @ 0.04019
21. four thousand nineteen hundred-thousandths ® 4.000019
14

8|3 17}9'11 151 4 | 6 18'1 20 (13 (10 (16 5 |21 ‘EFZ‘?

TOPIC 2-e: Place Value to Millionths 8' 2 2 MIDDLE SCHOOL MATH WITH P1ZZAZ7! BOOK B
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When Bunker Bung Got a Better-Paying Job,
Why Did H s Mother Visit Hawai i ?

Do each exercise and find your answer in the adjacent answer columns. Write the letter of
the exercise in the box containing the number of the answer.

Round to the nearest whole number.

@ 160. 2929

54.666666
(9) 79.05
(10) 3.4375
(11) 800.9
(12) 54.166666
(13) 195
199.875

Answers1-7:

) 38

245 %4

(N) 200

Round to the nearest tenth.

(15) 6.32
(16) 6.39
(17) 8275
31.225
140.6363
(20) 9.090909
(21) 9.030303

@ 0.444
@ 66.5099

‘ 5.2525252

141 |8

I127 2I9 5

1(722

19
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What Did Geor ge Washington, Abraham Lincoln, and
Chrigopher Columbus Have in Common?

Do each exercise and find your answer in the answer column directly under it. Write the letter of the
answer in the box containing the number of the exercise. If the answer has a

instead of writing a letter in it.

Round to the nearest tenth.

(4) 05059 (9) 12.78028 % (14) 3.845188
(5) 6.6666 (10) 4.96 (15) 0.6094222
Answers: Answers: Answers:

Round to the nearest hundredth or
to the nearest cent.

$7.752

(17) $60.465
$0.9493

$26.4848

$7.595

Answers:

BAXN X ENERNE NE P XRER XXX XR R XXX XX X

@ shade in the box

Round to the nearest whole number

or to the nearest dollar.

Answers:

(F) 32

84

158

© o

$44.50
(27) $168.15

(28) $2.7633
$99.909
$99.099

Answers:

(8) s167

W] FHAERXXXXXRXXERXEXXX RN RXRXXERXXXEXD

10 $4
(H) 172 W) 50 (R) 833 (M) $60.48 % 85 % $168
(1) 67 (D) 126 3.85 $26.48 (1) 157 $100
(A) 06 @ - 24.81 $7.61 @30 $46
5]2[6]9]7]10]4 81 15117 [12 1820 |13 |11 |19 [14 |16 |23 |26 [29 |21 |30 | 2528 [22 [27 | 24




srewoaq Buipunoy :6-z 9140.

9¢-4

g X009 iZZVZZId HLIM HLYW TO0HOS 31adin

What Did Orgo’s Mother Tdl Him to Do With the Seat Belt?

Do each exercise and find your answer in the adjacent answer columns. Write the letter of the
exercise in the box containing the number of the answer.

Round to the nearest hundredth or nearest cent.
@ 4.0718 ® e e o/ ANSWERS® @ 00

Round to the nearest tenth.
(7) 8.376 ® 000 ANSWERS® ® 0@

15.02499 (@) 6918  (E) 1300 (23) 0.6666666 92.34 (T) $324.47
(12) 0.2525252 (1) 80 (1) 150 92.354009 $5.39 (P) 0.02
(25) 691.908 . 0.02387 4.07 0.68
(2) 31736404 D) s. (7) $5.375

(21) 7.98 (s (1) $0.699

129.955 © (11) $324.4705

Round to the nearest thousandth. Round to 1-digit accuracy.

@ 238383 @000/ ANSWERSe e e e 61.75 o0 e e ANSWERSe® 0 e o
70.6591 (M) 70.659 (R) 4.297 (15) 3.6808 (B) 500 (D) 63
0.4444444 (1) 15.201 (E) 2.384 0.3333333 (1) 03 (H) 0.008
(9) 15.20072 (0) 2.385 (P) 0.446 (13) 592.5 L s (K) 600
(4) 15.20027 (H) 816.635 (T) 15.200 0.0727 (R) 05 (A) 0.08
(17) 816.63451 (s) 0.444 (L) 4.300 0.00772 (P) 60 Gk

(6) 4.2999 (G) 70.661 (N) 816.636 (229 0.48649 (s) 007 (N) 0.009

($)]

07 28_I

N
N
w
no

ih
n
(3
N
o

l1 2 3I4 51617 10 g 11 12I13 14 |1 16|17 18 19I20 2112
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Why |s It So Tiring To Do Nothing?

Use front-endestimationto estimate each sum. Under each exercise, circle
the letter of the better choice. Write this letter in the box containing the
number of the exercise.

Is $10.00 enough to buy each set of items? Choose "yes" or "no."

use with Middle School Math with Pizzazz! (Binder B). Copyright © Wright Group/MQO raw I

Permission is given to instructors to reproduce this page for

1. 2. 3. 4, 5.
$4.75 $7.29 $1.31 $3.72 $6.20
5.37 2.50 4.08 2.24 1.36
5.15 4.49 2.12
5 o SO
B yes U vyes G yes I vyes O vyes
T no M no A no E no F no
Il. Is $15.00 enough to buy each set of items? Choose "yes" or "no."
e M ~
“lg819| "|¢522| V|08 | *|$617| ™ $3.25
4.64 6.10 7.94 1.09 3.86
3.05 3.47 4.50 5.00 7.39
] o 2.43 ..,.E.gi
L vyes D vyes H vyes T yes V yes
Y no K no A no R no N no
Ill. Choose the better estimate for each sum.
3,367 7,495 , ,
@ e ® e O = .11
- o + 4,198 + 3,046

P about 7,000 I about 14,000
S about 8,000 O about 15,000 H about 10,000

C about 11,000

R about 18,000
D about 19,000

8,254 (16) 4512 6,330 3,508
® 1,760 ® 3,175 \ 4,719 7,653
+ 5,989 2,088 9,444 933
- + 2,238 + 1,526 + 3,891

L about 15,000
N about 16,000 P about 12,000

M about 13,000

F about 21,000
S about 22,000

T about 16,000
W about 17,000

I:6122 13|18 [15] 1 11118 | 5 |16 31107 144179'
TOPIC 3-a: Estimating Sums:
MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK B 8-27 Using Front-End Estimation



Why Did the Ant Wear a Bathing Suit
in the Kitchen?

|] For each exercise, write an estimate of the answer. On the number line
under the exercise, find a point near your estimate. Write the letter of the
exercise on the number line at that point.

© 2134379 () 8.75+20.8
© 103.6-11.2 ©) 16.1-594
©) 38.7+19.3+12.5 (@ as8te6.07t29

(D) 163.8-64.92 (S 80.2-79.6

@ Andy bought a shirt for $27. 95, a pair of pants for $39. 75,and a
belt for $11. 50. About how much did he pay for all three items?  §

L | L | | | L | | 1 .
0 10 20 30 40 50 60 70 80 90 100
(F) 5.291 +2.866 + 7.333 (N) 13.48 +16.19+0.05
E) 829-31.25 ) 9.1428 - 3.8571
(H) 21.7+4.09+7.93+ 122 (O) 19.49+0.018 +5.37
(S (6.15 + 3.9) — 9.8 (R) 48.75-39.03
Billy Bubble is 139. 5¢m tall. HS father, Mr. Bubble, is
181. Ocm tall. Estimate the difference in their heights. cm
-l | | | | 1 \ 1 | | |,
0 5 10 15 20 25 30 35 40 45 50
(© 2.25+3875 (V) 6.93+9.04 +0.07
W) 17.33-5.29 ) 26.41-7.75
(O) 3.16+0.87 + 1.35 + 4.67 (M) 1.925 +0.0098
(R (5.2+8.9)-6.08 (A) (162.3-151.9)+3.7
Ms. Take bought three steaks. They weighed 0. 94pounds, 1. 83
pounds, and 1.16 pounds. About how much steak did Ms. Take take? Ib
- L | L | I | | | |
0 2 4 6 8 10 12 14 16 18 20
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Permission is given to instructors to reproduce this page for classroom use with Middle School Math with Pizzazz! (Binder B). Copyright © Wright Group/McGraw-Hill



Permissionis given to instructorsto reproducethis page for classroom use with Middle School Math with Pizzazz! (Binder B). Copyright © Wright Group/McGraw-Hill

Why Did Dr. Dud Tell the3 ck Boy to Visit a Racet r ack?

l Do each exercise and find your answer at the bottom of the page. Write the , l

letter of the exercise in the box above the answer.

E) 83 @ 0.96 @ 13.56 (©) 4933 @ 0.826

+ 45 + 0.27 + 879 + 15.07 + 059

@ 3.73 (E) 855 () 164398 O 3.4625 @ $ 28.06

+ 4.961 + 9.782 + 29.06 + 70.39 + 158.57

g MO04d iZZvZZId HLIM H1VIN TOOHODS 31ddiiN

@ 75.66 @ 46.9 @ 3.077 @ 15.4 @ $468.20

4.39 5.039 91.58 500.642 95.19
q:l + 0.87 + 228.65 + 49. + 3.288 37.75
N - - - - + 9.48
({e) e ——
(K) 18+7.42+249 (R) 0.856 +3+1.75 (T) 0.0969 +0.37 +0.008
(M) $3.95 + $24.18 + $115.07 (L) 380 +98.6 + 4.25 + 200.7
Matt bought a skateboard for $67.50 and a pair of A beef sandwich has two slices of bread with a layer of
kneepads for $9.75. If the sales tax was $4.64, how meat between them. Each slice of bread is 1.4 cm thick,
much did he spend altogether? and the meat is 0.5 cm thick. How thick is the sandwich?

slewosq Buippy :9-¢ 0IdOL




Did You Hear Aboth
B C

& A E F é
g o
2|G H | J K L 5
= =
¢ ?
AT N 0 P Q R )
g |3
Do each exercise and find your answer in the appropriate answer column. Notice the
word under the answer. Write this word in the box containing the letter of the exercise.
(A) 516 835 (C) $7279
Answers A - 37.2 - 408 - 16.83 Answers JR:
$54.76 $46.27
FROM WITH
13.634 0.404 8.272 0.68 0.036 0z
TO @ ~ 0.269 @ ~ 3.19 @ ~ 0.455 KETCHUP
21.365 0.33288
FLORIDA ORDER
$55.96 0.044 oz
wo | © 13 ® s O g | e
581972 — — —_— $140.11
BECAUSE HE
14.4 14.4s
THE PAD
c83772 (J)47-6.38 (K) $192.70 - $52.59 405
JUST (L) $60 - $18.83 (M) 0.4906 ~ 0.15772 HAMBURGER
5.082 0.34198
To (N) 7.001-6.9 (0)5-0.05 HAVE
12.834 ® Ms. Tulips bought $56.12 worth of groceries. $AL.17
ouT However, she had coupons worth $9.85. How COULD
4.27 much did Ms. Tulips spend for the groceries? 0.101
FROG : A
@ A U.S. penny weighs 0.1 oz. The smallest
5.162 hummingbird on record was 2.24 inches long 40.62
THAT and weighed 0.056 oz. How much less than a SO
0.225 penny did the hummingbird weigh? $141.31
THE
MOVE ® A team of 4 studentsis running in a 400-meter
0135 relay race. The first 3 runners had times of 13.8s
DECIDED 14.7 s, 16.2 s, and 15.3 s. What time must the FLIES
23.265 4th runner beat in order for the total to be less $44.37
PARIS than 60 seconds? ROLL

TOPIC 3-d: Subtracting Decimals
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HovvCanYou Tell Which Endof aWaomls HisHead?

Do each exercise mentally, write your answer, and then find it in the corresponding set of
(_ \ answers. Write the letter of the exercise in the box above the answer.




CRYPTIC QUIZ

1. Why did the cowboy want to ride a bull in the rodeo?

13 5 6 16 13 2 10 16 1 11 18 4 15 12
2. Where does Santa keep his track and field trophies?

9 7 3 9 12 14 5 17 16 8 2 18 17

and notice the letter next to it. Each time the exercise number appears in

13
Do each exercise below. Find your answer in the appropriate answer box
the code, write this letter above it.

Answers | Answers |
1-9: I 2218 O 1.6493 10-18: J 137457 L 14.3kg
T 115.378 W 25.83 V 27.359 R 60.8 kg K 111.211 F $21.33
G 257.32 E 1.5893 U 26.28 E 225 T 14.4457 D 112101
A 6.6 N 111.278 C 28.38 Y $22.13 U 62.9kg M 13.6 kg
R 28.159 H 11.6 B 249.32 P 13.8657 B $473.79 S 1.8125
16.75 24.2 3.666 80.28
@ + 9.08 @ - 176 @ + 7.934 @ - 51.9
0.276 386.5 2.918 37.
@ 0.4333 @ - 129.18 @ 34.36 — 9.641
+ 0.94 + 74.
(9) 13+6.4+278 $50 — $28.67
(11) $377.49 + $96.30 (12) 3-1.1875
(13) 0.436 + 0.9097 + 5 + 8.1 20.3057 — 6.44
(15) 101.1 +0.101 + 10.01 (16) 25-0.25
@ Dexter weighs 50 kg. His body contains Anne's body contains 38.6 kg of oxygen,
30.8 kg of oxygen and 4.9 kg of 6.1 kg of hydrogen, and the rest other
hydrogen. The rest is made up of other elements. The weight of other elements
elements. How many kilograms of other is 20.4 kg less than the weight of
elements are in Dexter's body? oxygen. How much does Anne weigh?

TOPIC 3-f: Review: Addition and Subtraction B-32 MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK B
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What Lieson the Ground 100 Feet In the Air?

Solve each problem below. Find your solution and notice the two letters next to
it. Write these letters in the two boxes above the exercise number at the
bottom of the page.

@ A bicycle weighs 32.5 pounds. The box for it weighs 7.8 pounds. &
What is the total shipping weight for the bicycle and its box? S
b &
@ The members of the Pedal Pushers Bicycle Club have traveled ;
134.8 miles of a 200-mile trip. How many more miles do they have i
to go? mi : 841.5
@ A stone dropped from a tower falls 4.9 meters the first second and 49.6
14.7 meters the next second. How far does it fall during the two S
seconds? m :' @ 65.2
@ Last week, Maria worked 1.75 hours on Monday, 2.5 hours on ;:: 6.4
Wednesday, and 4 hours on Friday. How many hours did she work 'ZS @ 1.45
last week? h &
. : e P 19.22
Bill's normal temperature is 98.6 °F. Today Bill is sick and has a i
temperature of 102.3°F. How many degrees above his normal i @ 40.3
temperature is this? _°F
g (PR 44
@ At the beginning of a trip, the odometer in Mr. Kilowatt's car read e
9,651.4 miles. At the end of the trip, it read 10,475.9 miles. How 8.25
many miles was the trip? mi g
37.83
@ At a restaurant, Mr. Fudge ordered a fish platter for $12.75 and a i
piece of cheesecake for $2.50. The tax was $0.97. If he left a $3 i @D 8245
tip, how much did Mr. Fudge spend in all? $ ~. @ 18.62
Mike drove a nail 2.5 in. long through a board 0.75 in. thick into a % @ 196
post. How far did the nail go into the post? in. & ‘
@ At the 1984 Olympics, the United States team set a record in the : @ 1.75
400-meter relay. Each racer ran 100 meters. Their times were i @ 3.7
10.29, 9.19, 9.41, and 8.94 seconds. What was the record time for
the relay? s 38.43
U.S. coins have precise measurements. For example, a quarter :
has a diameter of 24.3 mm and weighs 5.67 g. Adime hasa
diameter of 17.9 mm and weighs 2.27 g. What is the difference in i
the diameters of these two coins? mm
7 2 10 5 1 8 3 6 9 4

MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK B 8' 33 TOPIC 3-g: Problem Solving: Mixed Applications



What Position Does aPig F "
Play in Baseball?

Solve each problem and cross out the letter above each
correct answer. When you finish, the answer to the title
guestion will remain. m B

On a baseball diamond, the distance from home plate to the pitcher's mound is 60.5
feet. From the pitcher's mound to second base is 66.8 feet.
A. How far is it from home plate to second base?
B. From home plate to first base is 90 feet. How much less is this than the distance
from home plate to second base?

A baseball must weigh not less than 5 ounces nor more than 5.25 ounces.
A. A baseball weighs 5.41 ounces. How much heavier than the maximum weight
is this?
B. A baseball weighs 4.37 ounces. How much lighter than the minimum weight
is this?

A baseball bat must be no more than 2.75 inches in diameter and no more than 42
inches long.
A. Abatis 2.375 inches in diameter. How much less than the maximum diameter
is this?
B. Abatis 38.8 inches long. How much less than the maximum length is this?

Ticket prices at a baseball stadium are given in the chart.
A. Merlin Fogg plans to buy one adult ticket

and two children’s tickets in the reserved Ticket Prices

section. How much will the tickets cost?

B. If Merlin pays for the three tickets with a adult_ child
$20 bill, how much change should he receive? box $8.00 $5.75
C. How much more will Merlin pay if he buys box reserved 6.50 4.50

seats instead of reserved seats?
D. How much less will Merlin pay if he buys
bleacher seats instead of reserved seats?

bleacher 400 2.75

Merlin bought four candy bars at a baseball game. They weighed 1.16 ounces, 2
ounces, 1.7 ounces, and 1.38 ounces. How many ounces of candy did Merlin buy
altogether?

In baseball history, the fastest recorded pitch traveled at 100.9 miles per hour. The
fastest recorded base runner took 13.3 seconds to run around the bases, averaging
18.45 miles per hour. How much faster was the pitch than the runner?

TIS|IE|C|H|OIN|B|R|S|A|[T|S|I|T|IL|IE|O|R|P|L

o N o

=3 : 2

N N N | & = | E N = | N N | N
Smmofsoo:omo V[ E|[Plw|w|[P|lo|la|°
2T glslglelE g8 |2|e|la|z|R|IN|a|B||6
Cld|a|@|w|R|g|N|IDIR|Z|F|T(N|N[T]|R|B|D|9|2
slr|lo|lo|lm|lo|ld|m|o|~|a|~|c|lo|d|ow|lo|oco|ad|éep|o
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Who Made Clothesfor the Brontosaur us?

Enter the given information in the checkbook record below. Compute the
balance after each check or deposit. Write the letter next to each balance in
the corresponding box at the bottom of the page.

@ On April 26, John Dough wrote check
#374 to Miller Pharmacy for $16.00.

On May 2, he wrote check #375 to

Pacific Electric for $136.80.

@ On May 5, he deposited an insurance

payment of $58.40.

@ On May 7, he wrote check #376 to

General Telephone for $47.94.

@ On May 10, he deposited a paycheck

On May 14, he wrote check #377 to
Dr. Eric Lewis for $74.35.

@ On May 14, he also deposited a

dividend check for $34.62.

On May 17, he wrote check #378 to
Air Chance for $195.28.

On May 24, he wrote check #379 to
Safeside Savings for $306.47.

On May 24, he also deposited a

in the amount of $366.85. paycheck in the amount of $366.85.
Date | Check Description Withdrawal Deposit Balance
Nurnber 729 50
~®
: ~(D
~(®)
-
~®
~©®
~©
s
S/ B/ S/ /X)) RS R W
ENVOTESTE OIS ARG
S/Q/) /LKLL)) L) &
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After Building 9 Modd Ships, Why
W as Baxter Bix Reminded of Cats?

Estimate each product. Under each exercise, circle the letter of the better choice.
Write this letter in the box containing the number of the exercise.

(1) 7x483

(2) 5x9.28

(3) 96 x39

O about 340 T about 46 O about 370
A about 34 B about 4.6 S about 37
@ 8.07 x $44 @ 6.7 x9.1 @ 2.875 x 16.4
T about $3,600 E about6l N about 4.7
H about $360 R about 610 | about 47
@ 4.1 x517 ‘ 930 x 1.94 @ 12.5 x 63.06
L about 210 P about 180 D about 790

U about 2,100

H about 1,800

R about 7,900

. 8 x 7.4

E more than 56
A lessthan 56

@ 3.2 x $20

T more than $60
N less than $60

@ 11 x 6.67

C morethan 77
G lessthan 77

@ 0.98 x 528

M more than 528
H lessthan 528

. 5 x 4.807

R more than 25
J lessthan 25

@ 253 x 3

U morethan 75
L lessthan 75

. 1.07 x 528

S more than 528
R less than 528

@ 2.9 x 4.9

N more than 15
T lessthan 15

7.3%9.18

N more than 63
D less than 63

. 6.29 x 1.085
B morethan 6

P lessthan 6

3.921 x 11.64

W more than 48
T lessthan 48

@ 8.63 x $8.70
D more than $81

K lessthan $81

TOPIC 4-a: Estimating Products:
Rounding to Whole Numbers
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Why Did the Greenhouse Call a Doctor ?

Do each exercise and find your answer to the right. Write the letter of the answer in
the box containing the number of the exercise. If the answer has a ., shade in the
box instead of writing a letter in it.

©) 73 (2) 618 (3 206 AnswersdD— 6:

X 4 X 9 X 8 @ 184.1 885

@ 236.8 @ 55.62
@ 0.34 @ 283 @ 1475 @ 54.82 ' 255.8

x 5 x 0.7 x 0.06 @ 50,2 @ 198.1

@ 7 (R) 863
@ 3.8 O, 69 (9) o087 Answers 7 — 14:

X 24 X 9.2 x 85 @ 653.8 @ 20.1

@ 54.964 @ 104.29

Q 4.94 @ 91.2
0.604 D 897 2 268 (E) 1842 (0) 17.02

x 91 x 0.27 x 0.075

@ 35 (1) eus
@ 107.19 @ 55.854
(13) 0.46 x 37 (14) 52 x 0.095 (s) 436 (5) 7185

@ 81+81+81+81+81+81+81

Answers 15 - 19:

0.625 + 0.625 + 0.625 + 0.625 (®) 594 @ $12.63

@ 1.09+1.09 + 1.09 + 1.09 + 1.09 @) 25 @ 570

@ Ms. Blox bought 6 pounds of hamburger at $1.88 per
‘ pound and a bag of potatoes for $1.35. How much did she $13.33 @ 5.45

spendin all?
(F) 543 (H) 567
A classified ad costs $2.45 per line per day. How much will
it cost to run a 4-line ad for 7 days? @ $68.60 @ 3.2

|12391561041781191371416112185]
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pxg *
Zﬁf How Do You Te & a Spaceship in Spac e.?4*

Do each exercise and find your answer in the rectangle below. Cross out the box that
contains your answer. When you finish, write the letters from the remaining boxes in

®

the spaces at the bottom of the page.

3.8
@ x 0.6
46.93
@V x 0.08
1.62
@ x 5.8

@ 0.7 0.8

(16) 0.6309 x 1.5

Sound is used to measure ocean depth.

®

®

0.92
x 0.7

7.1

x 5.3

376.4
x 0.007

Sound travels 1.5 km per second
through water. If it takes 3.7 seconds for
a sound to reach the bottom of the
ocean, how deep is the water?

O

Q)

47.8
x 0.04

0.89
x 2.7

0.825

x 18

®

:

@

@ 4.5 x $9.72

. 0.083 x 202

19.5

x 0.6

2.04
x 0.95

0.436
x 0.69

@ A scale model of arace car is 18.2 cm

long and 6.9 cm wide. Each centimeter
on the model represents 0.3 m on the
actual car. How long is the actual car?

TOPIC 4-c: Multiplying Decimals
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YO us LA Wi SH P RE TH EY
9.396 1.912 | 0.8991 | 496 m | 0.30084| 3.7544 | 546 m | $41.64 4.74
AS Tl CK HO TR YA ST AR OK
0.890115| 0.56 2.403 16.766 | 0.8871 2.28 2.6348 | 0.94635| 0.31114
IN MA NO TE IT upP TS PA CE
14.85 11.7 | 4.85km| 555km | 0.644 | $43.74 | 9.576 1.938 37.63
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BOOKSNEVER WRITTEN

The Broken Window Mystery by

5.04 936 981 1.2010111 1,062.36

Weeds in the Garden by

86.4 1444 2,520 6,000

099 981 3276 25201 0.99

Conceit Is Neat by

5840 1617 1672 0.216 32.76

14.44  1,013.36 11111111 1.962

1.6625 86.4 9.81 2.2301 5.04

ABOVE ARE THE TITLES OF THREE "BOOKS NEVER WRITTEN." TO
DECODE THE NAMES OF THEIR AUTHORS:

Do each exercise and find your answer in the code. Each time the answer
appears, write the letter of the exercise above it.

O 7.6 (YY) o044

x 1.9 x 3.8

@ 300 @ 7.69

x 8.4 x 0.29

@ 0.6 X0.6 0.6
@ (4.9 + 0.49) x 0.3
® 0.75 x 8,000

A gas tank contains 5.3 gallons. The
capacity of the tank is 12.5 gallons.

How much will it cost to fill the tank at
$1.30 per gallon?
$

MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK B

@ 2.375 @ 50.4

x 0.7 X 0.65

@ 545 817.2

x 0.018 x 1.3

@ 09x08x7
(D) (5-05)x0.22
@ 0.12345679 x 9

® Tape travels through a tape player at a

B-39

speed of 0.048 meters per second. How
long is a tape that can play for 30
minutes?

"

TOPIC 4-c: Multiplying Decimals ’
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1. “I'm waiting to see a doctor," Tom said
2. “I work for Nestles' Chocolate Company,” Tom said

3. “l'just had brain surgery," Tom said

Answers1-8:

Fun Times, Mathematically

115151411 (16 (15| 3 | 7

5(13(6 |1 |16|15 4 |14 |16 (10| 1 [10| 3

THESE ARE CALLED "TOM SWIFTY" JOKES. TO DECODE THE MISSING WORDS:

Do each exercise and find your answer in the answer columns. Write the letter of
the answer in each box containing the number of the exercise.

. . . 0.333
@ X 00148L @ X OOO.(QJ; @ X 0.0802 @ X 8
. .625 .188 6000
@ X 84112 @x 0?0802 @ X ° 14.7 x 0.095

@ 2.9 x 0.007

(11) (0.6 +0.27) x0.05
@ 38 x 0.00008

@ A pen costs $1.38. The sales
tax is 0.06 of the cost. What is
the amount of sales tax,
rounded to the nearest cent?

(10) 0.3x0.3x0.3
(12) (7-0.8) x0.049

0.001 x 0.001

Onamap, 1 cm represents 37.5
km. If two towns are 2.6 cm
apart on the map, what is the
actual distance between them?
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Why Do Some Poople Sleop with Hain Rollen 7

Do each exercise mentally and find your answer in the adjacent answer column.
Write the letter of the exercise in the box containing the number of the answer.

+
Write each product. 0.35 E Write each product. @ 0.024
o+
() 0.3x0.4 0.035 % ) 02x6 (®) 24
(L 08x0.2 (2 38 % (N) 0.7 x4 ) o027
€
(T) 05x07 @9 0.12 % E 3xo08 0.018
(©) 06x06 (19 0.36 % (H) 6x05 @9 2.8
(D 0.3x0.04 (@ o.016 % (S 0.3x09 (9 0.0024
+
(©) 0.8x0.02 (9 0036 : (R) 0.3x0.09 @) 1.2
+
(N) 0.07 x0.5 @49 0.16 % (D) 0.06 x 0.4 36) 0.027
() 0.09x0.4 @ o012 i (O 0.06x0.04 @) 3
+
'l'++++++++++++’l'++++++++++*+++++++++++++++E+++++++++++++++++++++++++++++++++++++++++
+
. + .
Write each product. @ 0.06 % Write each product. 2.5
(H) 0.3x06 G o018 i W 05x05 @) 0.4
+
© 02x0.2 6o 32 % (M) 0.5x0.05 (3 0.025
(®) 03x0.3 (@ 18 : (P 05x5 @5 4
E 0.2x03 (1) 3.2 % () 0.5 x50 @ 25
+
(N) 04x8 4 0.09 : © 05x0.8 26) 0.0025
(©) 0.4x80 @ 42 % (N) 0.5 x0.08 @ 40
+
@ 06x70 @0) 0.04 % K 050f8 (3 0.25
(T) 0.90f20 (® 0028 i (R) 0.50f80 @7) 0.04
1[2[3[4]s[e[7][8]e[10]11]12]13]14]15[16[17[18]19]20
21 (2223242526 [27 [28 |29 [30]31[32[33[34 3536 [37 383940
MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK B 8-41 TOPIC 4-¢: Mental Math: Multiplication
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columns. For each set of exercises, there is one extra answer.

ToWh omDid theFanous Chef Write LettersEvery Week?

Multiply mentally, write your answer, and then mark it in the answer

Write the letter of this answer in the correspondingbox at the right.

3.78 x 10 100

1 Answers: 6 x 0.0058 Answers:
0.378 x 10 @ 378 (P)3780 10 x 0.0058 @ 58 @ 0.058
3.78 x 100 @ 3738 @ 378 1,000 x 0.058 @ 5.8 @ 0.58
0.61 x 10 7.604—100

2 Answers 7 X Answers:
0.61 x 100 @ 61 ® 6.1 76.04 x 1,000 @ 7.604 @ 76.04
6.1 x 100 @ 610 (S)6,100 0.7604 x 10 @ 760.4 @ 76.040
4.777——,000 0.3%x0.9 x 10

3 x 1 Answers 8 Answers:
477 x 1,000 () 4770 (T) 4,700 03 x 0.9 x 100 (P)o27 (D) 27
47 x 1,000 @ 477 @ 4,777 0.3 X 0.9 x 1,000 @ 27 @ 270
18.3 x 10 10 x 0.6 X 0.6

4 Answers: 9 Answers:
18.3 x 100 @ 183 @ 18.3 100 x 0.9 X 0.4 @ 36 @ 360
18.3 x 1,000 1,830 (G) 18,300 1,000 x 1.2 x 0.3 ag  (L)3600
10__0.092

5 X Answers: 10 10 x $5.75 Answers:
1,000 X 0.92 @ 9.2 @ 0.92 100 x $57.50 @ $57.50 @ $575.00
100 x 92 @ 920 ® 9,200 1,000 x $0.575 @ $5.75 @ $5,750.00

s to reproduce thispage for classroom use with Middle School Math with Pizzazz! (Binder B). Copyright © Wright Group/McGraw-Hill
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__AS Why AreRestaurants So Danger ous?

—
A’4,VO Do each exercise below. /f the exercise involves money, round to the nearest cent. Find your 4,
answer in the appropriate answer column and notice the two letters next to it. Write these

letters in the two boxes above the exercise number at the bottom of the page.

Answers 1 —-8: $2.59 8.3 0.498 60.6 | Answers 9 - 16:
@ x 0.6 @ x 0.18 @ x 0.07 @ x 35
AN 0.3666 s - SE 360.3
LO 1.674 (round to the) IG $0.54
nearest cent
NI 0.8648 OR 0.355
AT 3,456.4 0.092 7.37 4174 5,280 MA $15.00
@ X 94 x 0.0006 @ x 8.5 x 0.63

HT $1.55 - - - SH 09 in.

IN 3,326.4 NT 146.3

UM 0.03486 RU 3,333

OA 0.004422 | (9) 0.15x0.15 x 10 2.09 x 0.7 x 100 TA 154.3

ER $2.35 (11) 0.008 x $66.90 (12) 0.7 x 0.4 x $55 GC $15.40

NE 1.494 (13) 1000 x (3.3 +0.033) (14) (9-1.6) x 100 ET $0.83

PA 0.8478 @ A sheet of plywood was made . (16) Jim bought 20 rose bushes last EN 0.225

HI 2121 by gluing 7 sheets of wood week. The regular price is $5.00 AT 075in.

’ together. Two of the sheets per bush, but last week they
YO 3,547.9 were 0.0625 inch thick, and the were on sale at 2 for $8.50. How FI $18.50
rest were 0.125 inch thick. How much did Jim save by buying the
TH 0.004712 thick was the plywood? bushes on sale? CK 740
I

7 3 11 1 13 5 10 6 16 2 15 8 12 14 9




Why Did Igar Glue His Clock to the Wall?

Estimate each product. Under each exercise, circle the letter of the better choice.
Write this letter in the box containing the number of the exercise.

@ 51 x2.3

@ 7.8 x 4.06

@ 6.2 x 0.81

E aboutl.2 N about 32 E aboutb

T abouti2 L about 320 H about50
@ 3.94 x 5.25 @ 0.42 x 0.93 @ 0.19 x 0.707

S about?2 I about04 U about0.14

A about 20 R about 4 B about1i.4
@ 0.666 x 52 . 97.4 % 0.29 @ 4.84 x $81.95

D about35 A about 28 T about $40

E about35 F about 280 G about $400

. 8.3 x 7.09

S more than 56
L lessthan 56

@ 0.514 x 60.2

T more than 30
R lessthan 30

@ 0.96 x 12.8

K more than 12.8
H lessthan 12.8

@ 0.69 x 0.7

R more than 0.5
J lessthan 0.5

‘ 0.38 x 0.86

O more than 0.36
I lessthan 0.36

@ 4.1 x 209

S more than 800
M less than 800

10.3 x $76

@ 0.8 x $76

. 1.054 x 3.9

1 ith Middle School Math 1 . R zazz(Sinder B). Copyright ©Wr ‘gl

W more than $760 C more than $760 P more than 3.9

L lessthan $760 T lessthan $760 N lessthan 3.9

Veal costs $7.19 per pound. Ms. Ruffle
bought 0.82 pound of veal. About how
much did it cost?

R about $4 M about $6

Gas costs $1.099 per gallon. Zzyzx
Hunk bought 18.7 gallons. About how
much did it cost?

V about $15 S about $20

TOPIC 4-h: Estimating Products B-44 MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK B
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c59 ./ What Isthe Easiest Way to Make More Money?

Do each exercise mentally, write your answer, and then find it in the corresponding set of
answers. Write the letter of the exercise in the box above the answer.

o ® ® > v/
A © /S & NS P Q'/ &
e} 3] ™ Q
‘b,\ N vo) Co(b W loco oco 0(0 Q\ vlo o/ Q QQ Ny Q‘?‘ S Qg QQ) v Qg N QV Qg 69
(1) 33+033 (L) 0.4x0.6 x10 (A) 1.3+0.02 (©) (0.9
(0) 9+18 @ 0.8 x 0.3 x 100 @ 1.3-0.02 (E) 022
(D) 9-18 (F) 0.7 x0.5 x 1,000 (E) 1.3x0.02 (N) (0.052
(L) 1+0.0t (U) 02x0.4x0.9 (1) 0.70f70 (5) 1+186
(1) 1-0.01 (N) 0.6 x0.1x0.5 (S) 0.7 0f 700 ® 1x18.6
o /> SRS SO D o /& /& P SN S0 S S S o S LS
/S 09 NS Qv K/ ’\q, NYENTAN Qg w QQQ Qq/ o/ X QQ NS QQ W




What D d theVdr ki ng Horse
Get Every Friday?

Decide whether you would choose mental math, estimation, or a tool (calculator
and/or paper and pencil) to solve each problem. CIRCLE the letter in the appropriate
column next to the problem.

Then solve the problem. Find the answer at the bottom of the page and write the
letter you circled under it.

Choose:‘ M mental math, E estimation, or T tool

Susan would like to estimate the width of a lawn. She knows
that her stride averages about 0.7 meter. She counts
39 strides to cross the lawn. About how wide is it? m

=
m

A red blood cell 0.085 mm in diameter is magnified 100
times. What is the diameter of the magnified cell?

Hector bought 2 shirts at $17.95 each and a pair of pants
at $26.50. The sales tax was $3.74. How much change
should he receive from 4 twenty-dollar bills? $

Ernie ordered 3 buckets of fried chicken at $11.95 each
and 5 pints of cole slaw at $2.19 each. The sales tax
was $3.04. About how much did his order cost? $

Ms. Hugmee makes teddy bears. She uses 0.26 m of
ribbon and 1.2 kg of stuffing for each bear. How much
ribbon does she need for 10 bears? m

Mike worked 2.25 hours on Monday, 2.5 hours on E
Wednesday, and 4.75 hours on Saturday. He earns
$6.20 an hour. How much did he earnin all? $

Video World sells an RCA VHS VCR, Model Q, for $487.50. However,
the store offers a discount of 0.03 of the price if you pay A
cash. About how much would you save by paying cash? $

mm

—| O
T| T
> O C|-

ANl 2
- <
o

o
>

~N| O O A WIN —

Earth travels around the sun at a speed of 18.5 miles P S| C
8 per second. How far do we travel every hour? mi
WORLD RECORD: Peter Dowdesdale ate 62 pancakes, buttered Hl K X

9 and with syrup, in 6 minutes 58.5 seconds. Each pancake
was 6 inches in diameter and 0.3 in. thick. If all 62
pancakes were stacked, how high would the stack be? in.

TOPIC 4-j: Problem Solving: Choosing a Calculation Method B'46 MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK B
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What Did Grok Do With His New Helicopter ?

TN L R T T ATt AT L G T AT ST T T T T T T T T B TR DI )
Do each exercise below. Draw a straight line connecting the square by the exercise
to the square by its answer. The line will cross a number and a letter. Write the letter

in the matching numbered box at the bottom of the page.
O L TR LT T T R TET I S (T TR E (TR T T T LR T e L e e g et

@ 4.9 +854 +127

@ 16.95 - 7.38

@ 5.16 + 9.2 + 30

. 8.32 x 3.5

@ (41.6 + 6) x 0.002

(13.49-9.7) x 0.5

@ 0.4x0.4 %04

(12) 0.63 x 9,000
(13) 7.6 x (7-0.25)

0.18 x 0.18 x 10

@ 944 + 32.6 + 8.33

@

(8.001 — 5.9) x 100
(10-0.1) x 10 x 10
(0.08)2 x 1,000

(0.5 + 0.5) x 983.33

*
¢
*
*
¢
*
*
L
*
*
*
*
*
*
L 4
*
*
L 4
*

®

®
@

©

0.0952
2.646
26.14
1.895
0.20428
51.3
9.57
0.324
210.1
6.4
0.064
44.36
984.93

990
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How Much Did Dorque Pay For Two Dead Batteries?

®

‘.'.‘ For each exercise, write an estimate of the answer. On the number line E
) under the exercise, find a point near your estimate. Write the letter of the
;,,} exercise on the number line at that point. :
12
(W) 27.6+39.25 (E) 6x4.89
148 — 49.375 (T) 2.8x3.43
0.9 x24.5 (E) 32.1+8.75+40

®
®

In the diving competition Greg scored
754.41 points. Igor scored 712.18
points. About how many more points
did Greg score than Igor?

® A car repair rate book lists 2.75 hours
as the time needed to tune up an
8-cylinder car. If the hourly labor
charge is $32.50, about how much

will a tuneup cost? $
<l 1 | | | | 1 L L
0 10 20 30 40 50 60 70 80 90 100
(H) 8.04-3.89 (0) 0.30t6.9
(E) 9.625 +0.057 (F) 207 x3.4
(B) 14.706 - 13.88 (E) 6.17+0.92 +2.25

@ Sarah bought a lavender sweater with a

duck design for $49.50. The sales tax
was 0.06 of the price. About how much
was the tax? $

<l | | |

® Jack and Jill ate dinner at The Hill Grill.
The bill was $38.15. They left about 0.2
of the bill as a tip. How much did they
leave? $

| | L l I

0

®
©
©

1 2 3 4

7.2 x0.104
0.91-0.38
0.29 of 3.1

@ The bottom of a pan is steel with a layer

of aluminum bonded to it. The steel is
0.409 cm thick. The aluminumis 0.178
cm thick. About how thick is the bottom

6 7 8 S 10

@ 0.32 + 0.094 + 0.57

@ 2.06 x 0.05

@ 0.615—0.393

® Ms. Marble bought a chocolate bar that
weighed 2.16 ounces. Charlie Marble
ate about 0.4 of the chocolate when she
wasn't looking. About how much did

s .
of the pan” cm Charlie eat? oz
< | | | | | | | | L | 5
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1.0
TOPIC 4-1: Review:
MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK B B -49 Estimating Sums, Differences, and Products



What Did Arf the Dog Give Hs Master for His Birthday?

Do each exercise and find your answer in the rectangle below. Cross out the box that
contains your answer. When you finish, write the letters from the remaining boxes in
the spaces at the bottom of the page.

lggy Snerd loves his new refrigerator, because Iggy loves to eat. His old refrigerator
had 17.6 cubic feet of storage space, but the new one has 20.2 cubic feet. How much

more space does the new refrigerator have?

lggy bought the refrigerator on a payment plan. He paid $150 when he bought it, and
he agreed to pay $28.50 each month for the next 24 months.
A. What will be the total of the 24 monthly payments?

B. How much will Iggy pay for the refrigerator altogether?

Each wall of the refrigerator has two layers of steel with a layer of @ wall
insulation between them. Each layer of steel is 0.074 in. thick, and the
insulation is 0.45 in. thick. How thick are the walls of the refrigerator?

The refrigerator, naturally, has a door. Bolts 0.625 in. long go through hinges 0.13 in.
thick and into the refrigerator cabinet. How far does each bolt go into the cabinet?

The refrigerator is expected to use 120 kilowatt-hours of electricity each month. If the
electric rate is 7.3¢ per kilowatt-hour, how much will it cost per month to operate the

refrigerator?

For dinner Iggy bought a barbecued chicken. It weighed 1.81 pounds and cost $2.79
per pound. He also bought 5.4 pounds of potatoes at 49¢ per pound.
A. What was the cost of the chicken? (Round to the nearest cent.)

B. What was the cost of the potatoes? (Round to the nearest cent.)

C. What was the cost of the chicken and potatoes together?

lggy also bought a 6-pack of fruit juice for $2.80. Each of the 6 cartons contained 8.75
fluid ounces. How many ounces of juice did Iggy get altogether?

Iggy bought ice cream for dessert. The store brand cost $3.89 for a half gallon. The
deluxe brand was sold only in quarts and cost $2.79 per quart.

A. How much did a half gallon (2 quarts) of the deluxe brand cost?

B. lggy bought a half gallon of the store brand. How much did he save?

TOPIC 4-m: Problem Solving: One-Step Problems

B-50

MIDDLE SCHOOL MATH WITH PI1ZZAZZ! BOOK B

CA KE EP LE AP AN oT Al NT
5250z | $5.05 2.6 ft3 $1.69 $2.19 (0.598in.| $7.70 $4.48 $834
RO LE FP AN DO SlI Fi TS IT

$794 |0.495in.| 53.8 0z | 3.4 13 $2.65 $684 $5.58 [0.535in.
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Wha Did Kate Call Her Twin Sster ?

Solve each problem below. Find your answer in the answer column and notice the letter next
to it. Look for this letter in the string of letters near the bottom of the page and CROSS IT OUT
each time it appears. When you finish, write the remaining letters in the rectangle at the
bottom of the page.

The Macmillan family bought three bicycles last year. Two of them  3ZaNGaN GRvZamY %
were 10-speed racing bikes that cost $189.50 each. The third was Answers
a touring model that cost $135.75. How much did the three bikes
cost altogether?

The record speed for a bicycle with one rider is 58.64 miles per hour.
The record for a bicycle with two riders is 62.92 miles per hour. How
much faster was the bicycle with two riders?

@ On May 23, 1932, Hubert Opperman set a 24-hour record for
distance on a bicycle. He rode for 24 hours at an average speed of
35.8 miles per hour. How far did he travel?

Ms. Wink bought a helmet for $37.95, a lock for $12.39, and a
pump for $8.50. The tax was $3.82. How much change did she
receive from 2 fifty-dollar bills?

GGG GG -?-::Q GRS
&
w
(@)
(o]
=~

Cycle World sells bicycle tire tubes at $4.95 each or in a package
of 3 tubes for $12.50. How much do you save by buying the

package of three?

@ Bill works at Two-Tired Bike Shop after school. He works 1.75
hours each day Monday through Thursday and 1.5 hours on
Friday. If Bill is paid $5.40 per hour, how much does he earnin a

week?

Michelle lives 2.7 km from school. Last year she made 150 round-trips
from her home to school and back, riding her bike. How far did she
ride altogether?

~

Vincent bought a bicycle that weighed 29 Ib. He also bought a rack
that weighed 1.3 Ib, a mirror that weighed 0.24 Ib, and a lock that
weighed 0.625 Ib. How much did the bike weigh with these

accessories attached to it?

O,

©

In lowest gear on a 10-speed bike, each turn of the pedals makes
the wheels turn 3.4 times. In highest gear, each turn of the pedals
makes the wheels turn 1.8 times. With each turn of the wheels, the
bike travels 6.5 feet. How much farther does the bike travel with

each turn of the pedals in lowest gear than in highest gear? NN,

AAZ DA DA I N T .@@@@@u
N
N
(00]
=
©
o0

N N A

ﬁ 0 W &
o = O

(o))

s 7 38w
= T

R
S g O

I © ¢
P
) N ]
g

. = :
TR PR TS AS PRI R R AN JR R IR SRR A IR A R

Y

WRHSDOFUNPBYLOSISCWRANHTOWERY
IANSWER TO PUZZLE: I

TOPIC 4-n: Problem Solving:
MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK B 8-51 One-Step and Multi-Step Problems



How Can You Get Ridof VARNISH?

Use the informationin the advertisement to find the total cost of each purchase. Write
the letter of the exercise in the box containing the answer.

Fourth of July Party Supplies

Ay ¥, . 90\ !/
S, e 3, 5 @ ;; — \
: g N x? 3 AN

2,

| ASSBRTMENT
plates ¥ arty hats fireworks
$1.70 pack 32¢ each $18 box
\\\\\\“ll“
i<, 2
ISR
cups crepe paper balloons
$1.49 pack $210r0ll  $1.25pack

%ok ok ok sk sk sk ks k k ok ke ke ok ke sk k ok ke ke ok ok ok ok ok
ok Ak hkhk khkhkhkhkhk AhkhkhkhkhkhAA Ak hhkhkhkhkhkkhkih

American flags Liberty Bell
small  $2.95 (poster board)
medium  $6.00 $3.50
large $8.75
@ 2 packs of plates and a @ 4 boxes of fireworks and
large American flag $ 10 Liberty Bells
@ A Liberty Bell and 3 rolls of @ A pack of plates, a pack of
crepe paper $ cups, and 8 party hats
@ 8 medium American flags @ 6 rolls of crepe paper and a
and a box of fireworks $ medium American flag
@ 5 packs of plates and ® 20 packs of balloons and a
5 packs of cups $ box of fireworks
@ 9 packs of balloons and ® A pack of cups and a dozen
2 rolls of crepe paper party hats
@ 24 party hats $ @ 100 small Americanflags  $
5.75

156.95 |43 |66 |17 | 12.15 295—( 107 | 1545 |52 9.80| 18.60 | 7.68 | 5.47 | 5.33

TOPIC 4-0: Problem Solving:
Using Data From an Advertisement B-52 MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK B
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Why Did Bongo Quit Playing the Piano?

Weekday Long Distance Direct Dial Telephone Rates
8 AM. to 5 PMm 5PM to 11 pMm. 11 Pm. t0 8 AM.

Each Each Each

First additional First additional First additional
TO minute minute minute minute minute minute
Atlanta, GA $0.38 $0.32 $0.27 $0.23 $0.18 $0.15
Detroit, Ml 0.27 0.21 0.18 0.14 0.11 0.07
Kansas City, MO 0.40 0.33 0.26 0.22 0.17 0.13
Los Angeles, CA 0.51 0.42 0.36 0.30 0.23 0.19
Miami, FL 0.44 0.36 0.31 0.25 0.20 0.16
Richmond, VA 0.32 0.25 0.22 0.16 0.12 0.09

The table shows long distance rates from a city in New York. Use the table to solve
each problem. Find your answer at the bottom of the page and write the letter of the
problem above it.

11:30 P.M.?

9:15pP.M.?

What is the weekday rate for the first
minute to Detroit at 9 A.m.?

What is the weekday rate for the first
minute to Miami at 7:30 P.m.?

What is the weekday rate for each
additional minute to Atlantaat 3 pP.m.?

What is the weekday rate for each
additional minute to Los Angeles at
How much does it cost to call Richmond
for 2 minutes on a weekday at 10 A.M.?
How much does it cost to call Kansas

City for 2 minutes on a weekday at

How much does it cost to call Detroit for

2 minutes on Tuesday at 6:40 AM.?

®

@ @ @ ®

®

How much does it cost to call Atlanta for
4 minutes on Monday at 10:20 A.M.?

How much does it cost to call Los
Angeles for 5 minutes on Friday at
2:45pMm.?

How much does it cost to call Miami for
9 minutes on Wednesday at 6:10 p.m.?

How much does it cost to call Atlanta for
31 minutes on Thursday at 1:25 A.M.?

On Saturday the rate is the same all
day. Itis the same as the 11 pm. to

8 Am. weekday rate. How much does it
cost to call Richmond for 15 minutes on
Saturday?

How much more would a 10-minute
weekday call to Kansas City cost at
noon than at midnight?

S /A oy
Q \2) 120)
Q- - 0, R Q-

MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK B
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What Do Archery ExpertsDo to Stay in Shape?

Weekday Long Distance Direct Dial Telephone Rates

8 AM. to 5 pPMm. 5pMm to 11 PMm. 11 pm. to 8 AM.

Each Each Each

First additional First additional First additional
TO minute minute minute minute minute minute
Chicago, IL $0.44 $0.37 $0.31 $0.26 $0.19 $0.16
Dallas, TX 041 0.34 0.29 0.24 0.18 0.15
Denver, CO 0.36 0.30 0.25 0.21 0.16 0.13
Honolulu, HI 0.62 0.53 0.43 0.37 0.27 0.23
Las Vegas, NV 0.29 0.24 0.20 017 0.13 011
New York, NY 0.48 0.40 0.34 0.28 0.21 0.18
Seattle, WA 0.35 0.29 0.24 0.20 0.15 0.12

The table shows long distance rates from a city in California. Use the table to solve
each problem. Circle your answers in the answer column. When you finish, write the
letters in order from the letter of the smallest correct answer to the letter of the largest

correct answer.

@ Joe Green made a 4-minute call to New York on Monday at 10 AM. What
was the charge for the call?

Ms. Marek made a 7-minute call to Honolulu on Wednesday at 7 pm.
What was the charge for the call?

Dr. Ship called her sister in Seattle on Thursday at 2:30 pPm. The call was
15 minutes long. What was the charge for the call?

Robert called his father in Dallas at 11:20 pm. on Tuesday. The call was
21 minutes long. How much did the call cost?

Mr. Brown called a friend in Chicago on Friday. The call began at
9:30 pPm. and ended at 9:43 pPm. How much did the call cost?

Mrs. Mitchell called her old math teacher in Las Vegas on Wednesday.
The call began at 6:57 Am. and ended at 7:16 AM. What was the charge
for the call?

Max made a 9-minute call to Denver on Monday at 4 pm. How much
would he have saved by waiting until 6 pPm. to make the call?

Zorna made a 51-minute call to her boyfriend in New York on Thursday at
9:35 pm. How much would she have saved by waiting until after 11 pm. to
make the call?

® Q@ @06

On Saturday the rate is the same all day. It is the same as the 11 PMm. to
8 AM. weekday rate. Find the cost of an 11-minute call to Honolulu on

(©

Answers

Saturday. =
Letter of smallest —> &= Letter of largest
correct answer correct answer

TOPIC 4-p: Problem Solving: Using Data From a Table B-54 MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK B
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DAFFYNITION DECODER

Doughnut:
0.32 0.0666 25 426 5604 23 013 25 238 0.0092 0.94 0.0666
Coffee: -
0.13 0.0666 0.94 25 0.0092 5.723 0.079 5.718 70.7 0.082 0.27
Meteorite:
25 46.89 8.05 46.95 25 032 0.94 429 0.32 61.3 0.082 46.95
TO DECODE THESE THREE DAFFYNITIONS:
Do each exercise below and find your answer in the code. Each time the answer
appears, write the letter of the exercise above it.
I =g
(N) 4J9.52 (s) 7)56.35 (E) 6)5.64 (D) 9)2.43
(H) 8J490.4 (v) 3J76.812 (1) 9J0.738 (F) 5/0.395

(Z) 2556+ 6 (U) 282.8+4 1.56 + 12
@ 40.026 (R) 0.1332 (K) 0.0736 @ 1225
49

7 2 8
® Mr. and Mrs. Motor spent 5 nights at @ A box containing 18 holiday greeting
the Dew Drop Inn. They paid a total of cards in 3 different designs sold for
$234.75. What was the cost per night? $5.76. What was the cost per card?
$___ $

MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK B B'55 TOPIC 5-a: Dividing a Decimal by a Whole Number



What Do You Call a Rowof Large
Animals Separating Two Yards?

When dividing on a calculator, the quotient often has so many digits that it fills the
display. But sometimes it does not. Do you know why?

Your answers for this puzzle will look like those from an 8-digit calculator.

For each exercise, keep dividing until either (a) you have 8 digits in your quotient, or
(b) you get a remainder of 0. Do not round your answer. Then look for the last digit of
your answer in the CODE KEY and notice the letter below it. Write this letter in the
box containing the number of the exercise.

) 7187 (2) 6l163 (3) 41159

(4) 24+19 (5) 397+8
(6) _43 @) _95 (® _200

12 2 13

last digit of answer:
Code|1|2|3|4|5]|6|7]s

Key [yTnlclslelllelr

TOPIC 5-a: Dividing a Decimal by a Whole Number B-56 MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK B
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8.29

6.3

15.152

0.2

5.37

$3.21

3.7

4.9

7.411

60.67

3.158

73.4

0.233

5.23

7.426

8.13

0.48

72.9

$3.29

6.4

60.74

EASUCONCUTHMBRETZ ST FAOTOD

5.167

|
~
)

s P L
w
5

What | sUsed For Agronaut Sandwiches?

Do each exercise and find your answer in the rocket. Cross out the
letter next to each correct answer. When you finish, the answer to the
title question will remain.

For exercises 1-5, round to the nearest tenth.

@ 8)29.85 @ 5)31.47 @ 4718.1

(4) 656 +9 (5) 3.6+17

For exercises 6-10, round to the nearest hundredth or nearest cent.

() 6/31.4 (7) 7158 (s) 3/182

(o) 3.875+8 $46.96 + 15

For exercises 11-14, round to the nearest thousandth.

@66.7+9 @31—:-6
5.6 22
@'27 7

@ A monthly magazine charges @ Ms. Shoe had 51 ounces of

$38.50 for a one-year sub- Nuclear Fizz punch to share

scription (12 issues). What is among her 8 children. How

the cost for each issue? many ounces did each child

(Roundto the nearest cent.) get? (Round to the nearest
0.1 ounce.)

TOPIC 5-b: Dividing a Decimal by a Whole Number:

MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK B B-57 Rounding the Quotient
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What Do You Call aTeephonefor Lizards?

Divide mentally, write your answer, and then mark it in the answer

columns. For each set of exercises, there is one extra answer.
Write the letter of this answer in the corresponding box at the right.

En

32.7 + 10
1 ©37 (D3 5 (T)0.003  (G)0.0033
32.7 + 100 1,000)0.3 10J0.03
. .033
32.7 + 1,000 (D327 (B)os3r L33 (R)0.03
327 + 10 @ 0.0327 1,000]3.3 100)330 @ 0.0003
0.88 + 10
2 (1)ss8 (A)0.88 6 781.5 7815 (L)7815 (T)78.15
880 = 100 10 100
. 7815
8.8 + 1,000 (Weso  (N)o.0s8 @785 ([N)o
78.15 7,815
88,000 + 100 (8) 0.0088 100 Tooo  (K)0.07815
946.6 + 10
3 (E)9oes  (1)0.9466 7 43.4 344  (N)434  (S)0.0344
. 0.344
9,466 + 1,000 (H) o468 (U)94.66 OLZ N0
34.4 434
94.66 + 1,000 ® 0.09466 1,000 10 (P)4.34
4 508 0.0508 8 601.07 60.107 60.107 0.60107
100)5.08 10)50.8 @ @ 10 1,000 @ @
: (A)50.8 (P)5.08 (U)601.07  (R) 6.0107
601.07 60,107
1,000508  10/5,080 (M) 0.00508 100 100 (0)0.060107

Permission s given to instructorsto reproducethis page for classroom use with Middle School Math with Pizzazz! (Binder B). Copyright © Wright Group/McGraw-Hill
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How Much Does the Average Dragon Weigh?

Do each exercise mentally and find your answer at the right. Write the letter of the
answer in the box containing the number of the exercise.

@ 8.54 x 10 854

(2) 854+ 10 100 (1) 854 (D) 0.0854

(4) 31.7+100 317 (P 3170  (E) 0.0817
1,000

0.94 of 1,000

5,280 + 100
@ 5,280 x 100

@ 3.14159 x 1,000

3.14159 x 10

‘ 0.627 of 100

@ 0.627 + 10

$3.50 x 10 @) $3.50 (D) $35.00 (S) $350.00

$3.50 x 1,000 10 (©) $035  (F) $3,500.00

(22) 66.66 + 1,000 66.66 (L) e666  (U) 0.6666

(23) 100 x 66.66 100 (A) 6666  (R) 0.06666

@5 7x10 7 (H) 0007 (C) 7,000

(26) 1,000 x 7 1,000 (N) 70 (s) 07

I1 2[3]415]6]7 89 [10]11[12[13[14]15]16[17[18]19 |20 |21 22232425262]
TOPIC 5-d: Mental Math Review:

MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK B B-59 Multiplying and Dividing by 10, 100 and 1000



How Would You Describe Wanda Farr After

She Me& 3 LionsDeep in the Jungle?
e

93.25 | 6,509

l 43.6

56

0.073

3.4

3.6

6,513

0.52

6.8

0.04

Do the exercises below and find your answers in the rectangle. Shade in each area

containing a correct answer. You will discover what happened to Wanda!

(1) 0.4]152 (2) 0.9]0.243
(5) 0.03]1287  (6) 0.05]0.416

@ 2.08+1.6

. 0.1092 + 0.21
7.46

@ 0.24 @ 0.038
0.5

0.096

TE\S A package of M&M’s® candies contains
5 colors of M&M'’s and weighs 1.68 oz.
If each candy weighs 0.03 oz, how

many are in the package?

TOPIC 5-e: Dividing Decimals

B-60

@ 1.2)63.6

(7) 0.008]0.62

@ 58.581 + 0.009

@ 1.316

A machine uses 2.5 liters of fuel each
hour it runs. Its fuel tank was filled with
10 L, but 1.5 L have already been used.
How many more hours will the machine
run?

@ 0.07)0.476

0.006]1.2444

MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK B
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Why Didn't the M echanical Skunk Have a Bad Smell?

Find each quotient. Round to the nearest hundredth. Find your answer at the
bottom of the page and cross out the letters above it. When you finish, the
answer to the title question will remain.

(1) 7]9.375 (2) 4]275 (3) 0.6)4.43 (4) 0.9J0.51 (5) 0.05]1.622
(6) 0.03)0.148 (7) 0.007]0.0435 0.008]0.205 (9) 0.4]0.019 6)5
e
HE | TH | IT IS WA LK SO W SH | UT | UP OF FO | OD | PO OR ED

493 | 688|487 | 2563 [6.35| 3244 | 746|134 |0.83|0.07 (738 | 3252 [0.05|0.86|6.21 | 25.58 | 0.57
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Do each exercise. Round your answer as indicated and find it in the appropriate answer
column. Notice the word under the answer. Write this word in the box containing the letter of

the exercise.

Answers A-H:

16.3
LOTS

46
THOUGHT

58.42
PLAYERS

3.3
SOME

13
WHO

7.1
PEOPLE

. 58.48
INSTRUMENTS

29
THE

9.78
BAND

16.8
THAT

15
FROM

7.3
DRUMMER

49
HAVE

9.73
PERCUSSION

TOPIC 5-f; Dividing Decimals: Rounding the Quotient

Round to the nearest tenth.

@ 6)17.2 0.9)6.58
@ 0.4J0.515 @ 7132

(E) 0.08]1.34 (F) 1.5/5
Round to the nearest hundredth or nearest cent.
@ 3)29.2 @ 0.7)40.933
@ 0.06)0.5077 @ 83

(K) 5/$219.82 (L) 12]$84.80
Round to the nearest thousandth.

@ 9)55.43 @ 0.018)0.4
Solve.

@ A jet travels 0.4 mile for each gallon of fuel. It
has enough fuel left to travel 14.5 miles. How
many gallons of fuel does it have? (Roundto the
nearest 0.1 gallon.)

® When you buy a dozen bagels for $2.39, you get

an additional bagel free. What is your cost per
bagel? (Round to the nearest cent.)

8-62

Answers |-P:

6.159
BUT

$0.15
DRUMS

36.3
ARE

0.38
DIFFICULT

| $4391
MUSICAL

$7.07
PLAY

6.154
WITH

8.46
ARE

22,222
OTHERS

$7.02
BEAT

$0.18
CYMBAL

8.49
HAVE

$43.96
TO

36.9

STICKS
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What Did The Farmer Say 10 the Cow
Late at Night?

Use compatible numbers to estimate each quotient. Think of numbers that are easy
to divide and close to the actual numbers. Under each exercise, circle the letter of the
best estimate. Write this letter in the box containing the number of the exercise.

(1) 60.54 - 29 @ 3227 + 8 (3) 357+ 4.t
H about 20 | about 40 K about 120
E about2 O about4 T about12
() 81.9+42 (5) 43.033+6 (6) 3,520 +71.4
A about 20 E about7 P about5
Y about 200 N about9 T about50
14.66 (8) 7475 6,190 (10) 32.625
@ 5.108 . 9.8 @ 10.3 . 99.4
U about3 I about 75 C about 60 E about0.3
J about8 W about 750 S about 600 H about0.5
4.53 11.94 1,630 (14) 2317
@ 0.5 @ 0.307 81.8 . 3.95
T about9 I about 40 G about 2 P about 6
L about 90 O about 70 B about 20 N about 9

®

Max Bogg drove 158.5 miles at an
average speed of 40 miles per hour.
bout-how many hours did the trip

take?

M about4 h K about7h

Patty Wack drove 311 miles and used

10.4 gallons of gasoline. About how
many miles did she travel on each
gallon?

V about 20 mi R about 30 mi

@

Heavy Metals, Inc. bought 59.2

Buff Hunk worked 15 days and earned

pounds of 12-gauge steel for $293.04.

About how much did they pay per
pound?

$798.25. He earns $7.75 an hour.
About how many hours did he work?

D about $5 R about $8 L about70h S about100h
I12 6 |29 (141 4 (18|11 | 7 |16 13|10 |17 | 3 | 8 [15]| 5 I
MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK B B'63 TOPIC 5-g: Estimating Quotients: Compatible Numbers



Math Without Computing

3 x0.25 3+0.25 0.25+3
20 x 0.5 20+0.5 05+20

Each of these problems can be solved by doing one of the computations in the box
above. Next to each problem, write the computation needed to solve it.

1 A running track is 0.25 mi long. How 9 It took Rolex 20 days to write his
many laps around the track are dinosaur report. He wrote half a page
necessary to run 3 mi? each day. How long was the report?

2 Osgood bought 20 candy bars at $0.50 1 0 Twenty pounds of cashews are packed
each. How much did he pay for the candy into cans. Each can holds half a pound.
bars? How many cans are filled?

3 Bubbles Mirth and two of her friends 1 1 What is the cost of 3 pounds of
bought a bottle containing 0.25 L of root potatoes at 25¢ per pound?
beer. If they divide it equally, how much
will each person get? 19 Ascale model of a sailboatis 20 cni

long. Each centimeter on the model is

4 Each super chocolate kiss weighs 0.5 oz. 0.5 ni on the actual boat. How long is
How many kisses can be made from 20 the actual boat?

oz of chocolate?
1 3 An antelope ran 3 miles in 0.25 hour.

5 Paper Plus is having a sale on school What was its average speed in miles

supplies. The discountis 0.25 of the per hour?
regular price. How much would you save
on a $3 notebook? 14 A string of outdoor lights is supported
by 21 equally-spacedposts. If the
6 A pack of construction paper is 0.5 cm distance from the first post to the last
thick. If there are 20 sheets of paper in postis 0.5 km, how far apart are the
the pack, how thick is each sheet? posts?

7 Ms. Burger bought a 3-pound package of 1 5 A window is made using 2 panes of
ground beef. She divided it into 0.25- glass separated by an insulating air
pound patties. How many patties did she space. The glassis 0.25 cm thick, and
make? the separation between panesis also

0.25 cm. How thick is the window?

8 Three diamonds together weigh 0.25
carat. What is the average weight of the ‘| 6 A math workbook is 0.5 in. thick. How
diamonds? many of these books will fit on a shelf

that is 20 in. long?

TOPIC 5-h: Problem Solving: Choosing the Operation B-64 MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK B
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What Is the Title?

TO DECODE THE TITLE
OF THIS PICTURE:

Do each exercise and find your answer
in the appropriate answer column.
Notice the symbol next to the answer.
Each time this symbol appears in the
code, write the letter of the exercise

above it.

CODED TITLE:

() ><¢e¢ **

o @ c

/Il == @@ && [] >< xx // /]

@ 7.2 + 16.6 + 8.45

@ 4.18 x 0.6

@ 0.33 + 33 +3.3

(F) 711956

®

® 57.5 x 0.009

/7 zz ][

32.067 —9.29

- %% ¢¢ z2

Answers
forM-S:

## 207

[ 127

Il 0.0996

<> 16.33

-- 500

Answers

for W—N:
[] 67.66
&& 0.95
** 3225
Xx 36.63
)( 0.5385
“7  2.508
|| 475
<> 0.98

2.8

%% 22.777
\\  4.66
@@ 13.6
?77? 63.86
1[ 3753
$% 05175
() 24.677

MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK B

@ 0.6)3.24

16

N4
0.5

(1) (25+0.187) x 10

@ 0.09)7.863

@ (100 — 19.2) + 100

26
0.16

@ The paper feed on a copying machine has room for a
stack of paper 4.0 cm high. If 10 sheets of paper are 0.08
cm thick, how many sheets will fit? (HINT How thick is 7

sheet?)

B-65

¢¢ 334

\\ 320

== 26.87

zz 54

() 215

@@ 5.9

[] 0.0876

>< 16.25

++ 0.21

) (347

/] 0.808

TOPIC 5-i: Review: All Operations with Decimals
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Wh o Put the Periodsin the Dr. Seuss Books?

Solve each problem below. (When you divide, unless otherwise stated, round the
quotient to the nearest tenth.) Find each answer at the bottom of the page and cross
out the letters above it. When you finish, the answer to the title question will remain.

1. The Factor family drove from Arizona to 7. One evening Julie Factor went running
Malibu, California, to spend a week at on the beach. She ran 3. 4miles in 40
the beach. They drove 421 milesin9 minutes. What was her average time for
hours. What was their average speed in each mile?
miles per hour? min

_ mph

2. After driving three hours, the Factors 8. On 4 days Jim Factor went swimming in
stopped for lunch. The bill for 4 the ocean. The chart show_s how fa_r he
hamburgers and 4 milkshakes was swam each day. How far did he swim
$1 2. 65. How much change did Ms. altogether?

Factor receive from a $20 bill? Sunday 15mi | Thursday  1.75 mi
$_ Monday 2mi Saturday 0.5 mi

3. Mr. Factor bought 9. 8gallons of gasoline
at$1.15 a gallon. How much did he pay mi
for the gasoline?

$ 9. One day the Factors went deep-sea

4. The Factors rented a condominium fishing. Mr. Factor caught a fish that
about 3 blocks from the beach for weighed 8. 75pounds. Julie caught one
$127. 50per night. If they stayed 6 that weighed 10. 3pounds. How much
nights, how much did they pay for the heavier was Julie's fish?
condominium? Ib

) $ 10. The Factors shot 5 rolls of film with 36

5. One night Ms. Factor baked chocolate exposures on each roll. It cost $14. 85to
chip cookies. She used a 20-ounce process each roll. How much did it cost
package of cookie dough to make 3 for each exposure? (Round to the
do;en cookies. tht was the average nearest cent.)
weight of each cookie? $

0z

6. One afternoon at the beach, Jim and 11 Their favorite photograph was of Jim
Julie Factor buried Mr. Factor with sand. Factor falling off a surfboard. The
They used 45 palils of sand to do the job. original print was 3. 5inches wide and 5
If a pail holds 6.5 pounds of sand, how inches long, but they had it blown up to
many pounds of sand were poured on poster size. If the poster was 6.2 times
Mr. Factor? wider than the photo, how wide was it?

Ib in.
TH |DR |EY | Hl |GH |RE |SD | SP | OT |UP | IN | TE | XT | CA | RS | EN
11.27|5.75| 0.6 |14.7 |21.7 |46.8 | 710 | 0.41 |271.5| 765 | 11.8 |10.97| 1.55 | 7.35 | 0.48 |292.5

MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK B 8-67 TOPIC 5-j: Problem Solving: One-Step Problems



Where Do Generals Keep Their Armies?

I Solve each problem below and find your solution in the answer column. Write I

the letter of the answer in each box containing the number of the problem.

@ Daphne bought 3 paintbrushes at $4.25 each, an easel for
$30.00, and 8 tubes of paint at $2.95 each. How much money

did she spend altogether?
P 9 :‘_ Answers
@ Roberto needs 10 kilograms of clay for a ceramics project. He * @ 16 L
already has three pieces that weigh 1.3 kg, 2.4 kg, and 0.9 kg. :'_ '
How much more clay does he need? * @ 4.9 kg
* :
@ Sing Lu jogs around a park near her house 3 times a week. The * @ 24
distance around the park is 0.8 mile. How many laps around the :
park are necessary to run 6 miles? - @ 18
*
@ Karen's hobby is chemistry. For one experiment she used 3 : ® 16.7 min
liters of water and 3 empty beakers. She poured 0.7 L into the *
first beaker and twice that amount into the second. How much * ® 124.66 m
water was left for the third beaker? *
* (T) $66.35
@ Mia makes decorative candies by pouring melted chocolate into % @ 55 cm
molds. Each mold holds 0.4 oz of chocolate. Mia bought a 20- * '
ounce bag of chocolate but has already used 10.4 oz. How : @ 9
many candies can she make with the chocolate she has left? *
_ _ _ * (N) 09L
@ Luis bought two pieces of wax to make candles. One piece *
weighed 3.49 kg, and the other weighed 4.71 kg. If wax costs x @ 1.8 cm
$1.80 per kg, how much did Luis spend altogether? * @
* 5.4 kg
Keo's model airplane uses 0.03 L of fuel each minute it flies. If the :
fuel tank holds 05 L, how long can the plane fly without refueling? * @ $14.76
Round to the nearest 0.1 minute. *
( ) + (K) $63.45
A scale model of a train has an engine that is 17.2 cm long and 1 @ 12176 m
10 cars that are each 13.5 cm long. Each centimeter on the * '
model represents 0.8 m on the actual train. How long is the *
actual train? 1’ @ 15.3 min
_ + R 75
@ Roger made a leather belt in crafts class. He attached a buckle *
at one end and punched 5 equally spaced holes at the other. If * @ $17.66
the distance between the first hole and last hole is 10 cm, how *

far apart are the holes?

[6417963829956981

TOPIC 5-k: Problem Solving:
One-Step and Multi-Step Problems 5'68 MIDDLE SCHOOL MATH WITH PI1ZZAZZ! BOOK B
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What Should You Eat
Somewher e Over the Rainbow?

Decide whether you would choose mental math, estimation, or a calculator to solve
each problem. CIRCLE the letter in the appropriate column next to the problem.

Then solve the problem. Find the answer at the bottom of the page and write the
letter you circled under it.

Choose: M mental math, E estimation, or C calculator

M| E
V

>10

1 It takes Saturn 29.464 years to revolve around the sun. It takes
Neptune 164.79 years. How much longer does it take Neptune to

revolve around the sun? yr

2 There are 5,280 feet in a mile. A jet is flying at an altitude of 33,400 D
feet. To the nearest 0.1 mi, how many miles high is the jet?

mi

meters. To the nearest 0.1 km, how many kilometers high is the jet?
km

R
3 There are 1,000 meters in a kilometer. A jet is flying at an altitude of 9,700 | P G C
W

4 If an average 7th grade student weighs 91 pounds and Hugo the N
Elephant weighs 18,130 pounds, about how many average 7th grade
students would be needed to equal the weight of Hugo?

5 Mr. Muckworth earned $26,450 last year. He worked an average of C R |
7.5 hours a day for 236 days. How much did he earn for each hour of
work? (Round to the nearest cent.)

$

6 Einstein Middle School ordered pencils embossed with the school GlYIS
name and atom logo. The school ordered 720 pencils at 9.8¢ per
pencil. About how much did the pencils cost?

$

7 WORLD RECORD: Peter Dowdeswell ate 100 yards of spaghettiin PILIO
record time. It took him an average of only 0.217 second for each yard.

How long did it take him to eat the spaghetti? S

8 A manufacturer of VCR's reduces the packaged weight of each VCR A S U
from 29.3 to 27.8 pounds. On a shipment of 230 VCR's with shipping

costs at 55¢ a pound, how much does the company save? $

135.326

TOPIC 6-a: Problem Solving:
MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK B B-69 Choosing a Calculation Method




What Should Yau Do If aHealth Food

Salesman Knockson Your Door ?

Use a calculator to do each exercise. Find your answer and cross out the letter next
to it. When you finish, the answer to the title question will remain.

Answers

() 39.75

L 49.1

0.342

8.8

In golf, a player's average is found by adding the player's scores on
several rounds of golf and dividing by the number of scores. The quotient

is rounded to the nearest hundredth. Find the average for each golfer.
@ Scores: 84, 96, 83, 79, 88, 90

@ Scores: 94, 89, 94, 85, 91, 90, 101, 85

@ Scores: 78, 82, 79, 72, 90, 87, 75, 78, 86, 79, 69, 81, 73

S E N

86.67

89.60

0.269

39.4

In ice skating, a performanceis rated by several judges. The highest and
lowest ratings are dropped. The remaining ratings are added. Find the
scores for each skater.

(4) Judges'ratings: 8.3, 838, 8.6, 8.3, 85, 8.0, 8.4
@ Judges'ratings: 7.9, 7.6,7.9, 8.1,7.9,8.0, 7.7
(6) Judges ratings: 9.8, 9.9,10.0,9.7, 9.9, 9.8, 9.6

12.7

86.40

48.3

79.15

0.367

In baseball, a player's batting average is found by dividing the number of
hits by the number of times at bat. The quotient is rounded to the nearest
thousandth. Find the batting average for each player.

@ Hits: 195 At bats: 788
. Hits: 794 At bats: 2,954

@ In 24 years of professional baseball, Ty Cobb got 4,191 hits in
11,429 times at bat.

T K E A TMWUP

41.25

83.48

30.1

91.13

0.247

In diving, each dive is given a number called the degree of difficulty. A
dive is rated by several judges. The degree of difficulty is multiplied by the
sum of the judges' ratings. Find the scores for each dive.

Difficulty: 1.5 Ratings: 6.5, 6.0, 6.5, 7.5
@ Difficulty: 2.7 Ratings: 8.0, 8.0, 8.5, 8.0
@ Difficulty: 2.4 Ratings: 9.5, 9.0, 9.0, 8.5

28.9

87.75

421

H S AV E L F

15.0

In basketball, a player's scoring average is found by dividing the number
of points scored by the number of games played. The quotient is rounded
to the nearest tenth. Find the scoring average for each player.

@ Points: 1,444 Games: 165
Points: 5,712 Games: 380

@ In 14 years of professional basketball, Wilt Chamberlain played in
1,045 games and scored 31,419 points.

TOPIC 6-b: Using a Calculator:
Sports Scores and Averages B-70 MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK B
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Find the unit price of each item described. Round each price to the nearest cent.
Write the letter of each exercise above its answer.

@ 5 Ib of potatoes for $2.19

$ per Ib
(A) 200 ft of foil for $6.24

$ per ft
@ 36 oz of peanut butter for $4.39

$ per oz
@ 18 issues of a magazine for $28.90

$ per issue
@ 1 dozen doughnuts for $4.50

$ per doughnut
@ 22 oz of cereal for $3.67

$ per oz

(A) 60 oz of honey for $4.89

$ per oz
@ 1 dozen roses for $29.75

$ per rose
@ 25 greeting cards for $7.95

$ per card
@ 147 oz of detergent for $9.27

$ per oz
@ 7 tennis lessons for $99

$ per lesson
® 3.5 Ib of cheese for $8.94

$ per Ib

Ketchup

@ 14 oz for $0.99 $ per oz
(F) 640zfor$3.10 $ per,0z
Chocolate candy bar

@ 1.65 oz for $0.50 $ per oz

@ 8 oz for $1.95 $

per oz

Solve.

A monthly magazine charges $17.40 for a
one-year subscription (12 issues). The
same magazine sells on the newsstand for
$2.00 a copy. How much do you save on
eachissue by buying a subscription?

@ A season ticket to the Olde Theater costs
$76 and admits you to 6 plays. Single
tickets to each play cost $15. How much do
you save on each play by buying g season

2.67

Fried chicken

® 5 pieces for $4.79  $ per piece
@ 21 pieces for $18.77 $ per piece
Aspirin

(M) 30 tablets for $2.59 $ per tablet
(H) 165 tablets for $7.28 $ per tablet

@ A sports store pays $380 for a case of 144
baseballs. The store sells the baseballs for
$4.75 each. How much less is their cost
than their selling price for each ball?

$

For film and processing, a 36-exposure roll
of film costs $19.20. A 24-exposure roll
costs $16.40. How much can you save per
picture by choosing the better buy?

ticket? $
0.0212.33/0.8910.15|2.160.07{0.960.46 | 0.04 [ 0.30(0.09(2.11 | 0.24 | 0.55 0.05:|
MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK B B-71 TOPIC 6-c: Using a Calculator: Unit Prices



Why Does Zara Have a Good Driving Record?

|

Cross out the box containing each correct answer. When you finish, write the letters
from the remaining boxes in the spaces at the bottom of the page.

%

@ The scores of 7 students on 4 different tests are

given in the table. Find each of the following to Name TiSt T;St T(;St TiSt
the nearest tenth of a point: cind o3 - - "
A. The average of Dean's scores. Deag 74 85 o1 79
B. The average of Kim's scores. Tara 03 96 84 88
C. The average of Brett's scores. Marco 86 99 89 100
D. The average of the scores on Test 1. Kim 76 87 66 82
E. The average of the scores on Test 3. Damon 76 81 62 90
F. The average of the scores on Test 4. Brett 83 100 77 94

@ The receipts of a school cafeteria for one day were $1084.77. If 849 students were
served, find the average amount each student spent to the nearest cent.

@ Practice times for 4 swimmers in the 100-meter - . .
backstroke are given in the table. Find each of Tr('g)' 1 Tr(':‘)' 2 Tr('g)' 3
the following to the nearest 0.01 second: Name
A. The average of Cesar's times. Cesar 71.68 74.09 74.35
B. The average of Lee's times. Ten 6941 7022 67.80
C. The average of the times on Trial 1. S'Ck 6004 6395 65.29

: ) ee 73.80 73.87 75.31
D. The average of the times on Trial 3.

3.08 Ib, and 4.16 Ib.

A. What was their average weight to the nearest 0.01 pound?
B. How much greater than the average was the weight of the heaviest squash?

Find the following:
A. Average earnings per month to the nearest cent.

B. Average time worked per month to the nearest 0.1 hour.

C. Average earnings per hour to the nearest cent.

®

Bill makes money mowing lawns on weekends, His time
worked and earnings for five months are given in the table.

Michelle picked 6 squash from her garden. They weighed 3.47 b, 4.29 Ib, 3.55 Ib, 4.41 Ib,

Month Hours  Earnings
May 95  $50.75
June 10.0 54.00
July 12.5 62.75
Aug 9.5 47.25
Sept 12.0 60.00

many minutes did he take to run the race? (Round to the nearest 0.01 min.)

Sam ran a marathon of 26.219 miles at an average of 5.27 minutes for each mile. How

TH CA RS SH EH IT AS El
78.3 74.33 s 0.58 b $4.95 $5.14 70.69 s 77.8 $55.15

SS SW ON T HE RE ST LU
$1.28 129.77 138.17 82.3 88.1 83.4 81.6 10.7 h

CK SK IL LE AN TS SS ON
11.2h 3.831b 70.23 s 71.14 s $54.95 88.5 3.711b 73.37 s

| -
TOPIC 6-d: Using a Calculator: Averages 6'72 MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK B
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When Doesa Farmer GO to a Drug Store?

|

1.

Round each solution to the nearest tenth and find it in the answer boxes. Write the
letter of the answer in each space containing the number of the problem.

|

Alain Prost won the British Grand Prix by
driving for 1.41 hours at an average
speed of 139.2 miles per hour. How
many miles was the race?

mi

Walter Poenisch swam from Havana,
Cuba, to Duck Key, Florida, in 34.25
hours. His average speed was 3.76 miles
per hour. How far did he swim?

mi

Matt Biondi set a record by swimming
100 meters at an average speed of 2.052
meters per second. How long did he take
to swim the 100 meters?

s

A baseball pitch has been clocked at a
speed of 147.9 feet per second. At this
speed, how long does it take the baseball
to travel from the pitcher's mound to
home plate, a distance of 60.5 feet?

S

Teuvo Louhivouri set a record by riding a
bicycle 515.8 miles in 24 hours. What
was his average speed?

mph

The record for traveling across the
United States on a motorcycle is 74.6
hours. If the distance traveled was 2,945
miles, what was the average speed of
the motorcycle?

mph

Answers 1 - 6:

Gobdd b obdddb b Fobddbddb b bbb bbb bd b bbb bbbt bbbk b dddd b kb ok b bk

7. Herman van Springel won the

10.

1.

Bordeaux-to-Paris, France, bicycle race
by riding for 13.59 hours at an average

speed of 26.65 miles per hour. How far
did he ride?

mi
In 1934 Walter Nilsson rode a unicycle
3,306 miles from New York to California.
If he averaged 28.5 miles a day, how
many days did the trip take?

d

Dave Dowdle set a record by running
for 24 hours at an average speed of 7.1
miles per hour. How far did he run?

mi
A hockey puck has been clocked at a
speed of 166 feet per second. At this
speed, how long would it take the
puck to travel the 200-foot length of
a hockey rink?

Guiseppe Cantarella set a record by
roller skating 1,320 feetin 34.9

seconds.

A. What was her average speed in feet
per second?

fps

What was her average speed in miles

per hour? (1 foot per second = 0.68

mile per hour.)

mph

Answers 7 - 11:

(B) 06
(N) 215
(D) 1963

(1) 487
(@) 34.2
(T) 04

@ 128.8
(M) 395
@ 126.9

@ 1.2
(Y) 1644
) 378

(L) 273
@ 170.4
@ 1.4

(W) 362.2
@ 25.7
(F) 116

I7 9 [11a] 5 [ o [11a] 5 [11a]11a] 1 [11B] 2 [8 [2 [10[6 | 2 [11B]11B] 3 [11B 4]
TOPIC 6-e: Using a Calculator:
MIDDLE SCHOOL MATH WITH PI1ZZAZZ! BOOK B B-73 Speed, Time, and Distance



Why Did Notso Bright Save Burned-Out Light Bul bs?

Solve each problem. Find your answer and notice the two letters next to it. Write these
letters in the two boxes above the exercise number at the bottom of the page.

Suppose your heart beats an average of 72 times a minute. Each
time your heart beats, it pumps about 0.02 gal of blood. At that rate,
how much blood is pumped in an hour? gal

@ A new car costs $15,795. The car weighs 2,832 pounds. What is the
cost for each pound of car? (Roundto the nearest cent.)

& Answers
@ King Midas once said that his daughter was "worth her weight in LD 251
gold." Suppose gold was worth $420 an ounce and his daughter
weighed 90 pounds. According to King Midas, how much was she NH 72.27
worth? (1 pound = 16 ounces). $
ST 13
@ The speed of sound is 760 miles per hour. At that speed, how long
would it take to travel around the world, a distance of about 25,000 RO 604,800
miles? (Round to the nearest hour.) h
IS 86.4
@ WORLD RECORD: A famous diamond called the "Polar Star" was
sold for a record price of $113,000 per carat. The diamond weighs OM 299
41.3 carats. How much was paid for it? $
PL 28
@ The speed of light is 186,000 miles per second. At that speed, how RA 4.97
long would it take to travel from Earth to Mars, a distance of 9
iles?
48,000,000 miles? (Round to the nearest second.) S DA 4,666,900
@ A famous professional basketball player was paid $1,000,000 last El 558
year. He played in 76 games for an average of 44 minutes per game. '
How much did he earn for each minute of playing time? (Round to TR 7547
the nearest dollar.) '
(8) On the way back from a field trip, two buses stopped for gas. One RK 7
bus took 26.1 gallons and the other 32.7 gallons. If gas cost $1.229 US 258
per gallon, how much did all of the gas cost? (Round to the nearest
cent) $ Bl 619,480
@ WORLD RECORD: To raise money for charity, Jonathan Hook TO 33
kissed 4,106 women in 8 hours on March 10, 1983. To the nearest
second, how many seconds did he average for each kiss?
(1 hour = 3600 seconds) s SH 4,714,900
4 6 2 8 1 5 g 3 7

TOPIC 6-f: Using a Calculator: Mixed Applications B-74 MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK B
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What DoesThe Fairy Quean Like Best About Her Job?

é| Do each exercise and find your answer in the set of answers to the right. Write ‘é
the letter of the answer in the box containing the number of the exercise. ?

Give the missing exponent or factor. % Answers 1 — 8:

(1) 3,800 =3.8 x 10 (2) 160,000 = 1.6 x 10l t (T)s081 (F)g  (N) 508t
(3) 70,000,000 = 7 x 100! (4) 4,920,000 = 4.92 x 10[] 3‘; (©)s (®s (1)es0
(5) 63,000 =| | x 104 (6) 5,081,000 =[x 108 %@274 He ©7
(7) 900,000 =[] x 108 274,000,000 =|_] x 108 t(H)5 (A)63 (U)o0.274

Answers 9 - 17:

®1.86x104 ®3><106 (1)8.05x 103

o

Write the number in scientific notation.

(9) 47,000 4,700,000
(11) 516,000,000 (12) 516,000
(13) 3,000,000 30,000,000
(15) 805,000 8,050

oofeefooferh ool ol ode

Write the number in standard form.

9.8 x 105 9.8 x 108 @ 17,200 @ 706,600 @ 5,000,000,000
1.72 x 104 1) 1.72 x 107 3:; (R) 50,000,000  (T) 98,000 (G) 980,000

(22) 5x10° (23) 5 x 106 ; @ 70,660 @ 5,000,000  (0) 1,720,000
7.066 x 105 @ 7.066 x 108 ¥ @ 9,800 (L) 70,660,000 @ 706,600,000

+
The estimated temperature at the sun's core is 2.5 x 107 H @ 17,200,000 @ 25,000,000 ® 2,500,000
degrees Fahrenheit. +

3
L3
3
o+
3
3
L3
) . + 3 6 5
Light travels at a speed of 186,000 miles per second. i 80.5 x 10 47 x10 5.16 x 10
(17) Lig p p ) ® O)
o+
L
+
KX
+
L
L

a
1123 4 |5 |6 7189 |10 1111213 |14 |15|16|17 |18 1920 |21 221231242526




Why Shouldn’'t You O der H ephant
Eggsin a Restaurant?

Find the value of each expression. Use the values for the variables given in
the chart below. Write the letter of each exercise in the box under its answer.

a=05>5 c=0.1 m=25 x=10
b=0.3 d=0.08 n=17.4 y=100
@ a+c @ ab @ cm
(E) a-c (A) bd @mb
(V) a+d @ nx ® dx
®n-b ® n @ 4
X X
@ m+n
174 | 058 | 015 | 0.8 | 174 | 06 | 0.75 17.1{0.45 0.25 | 0.024 | 0.008 | 0.4 | 19.9

® x+c ©n ® x
Cc m
® x-c
©n ® m ©m
y a Xy
12 | 250 | 125 ) 35 [2500| 9.9 258 | 55 |(0.0025/ 0.174 | 174 4 10.1
TOPIC 7-b: Variable Expressions B'76 MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK B
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Why Did the Actress Cut a Hole in
the Theater Floor and Dive Through?

Complete the table for each function. Find each answer at the bottom of the
page and write the corresponding letter above it.

@ y=Xx+5 @I y=x-8 @ y=4x
x |y X |y x |y
2 T 50 s 16
15 ® 24 © 45
99 ® 9 ® 25

@ y=3x+2 © y=8x-95 ®y 30 —2x
X |y x |y x |y X |y
4 A 3 ® 6 ® 5 ®
18 O 4.5 © 1 @) 7 ©
0 © 10 ® 7.5 © 12 ®
1.5 ® 7.2 ® 0 @ 20 ©




==+ Test of Genius ***

@ Place the digits 1 through 9 in the

How many squares can you countin
this figure?

@ Three stamps can be attached to each

other in various ways. One way is
shown here. In how many other ways
might three stamps be attached?

o0o00dC
000000

Q

A math teacher drove by a playground
that was full of boys and dogs. The
teacher happened to notice that there
was a total of 40 heads and 100 feet.
How many boys and how many dogs
were there?

@ What day followed the day before

yesterday if two days from now will be
Sunday?

@ What should go in the empty square?

M| ]| ®
@A | [
DRNO)

TOPIC 7-d: Test of Genius

©

empty boxes so that the three rows
across and the three columns down
form correct arithmetic sentences. All
calculations are performed in order
from left to right or top to bottom.

X + =15
" N % x

— X =24
_ . R

- + =3
2 %:15 =12

How can you make change for $1.00
using exactly fifty coins?

Replace A, B, and C with numbers so
that:

Ax<xA=8B
B-A=C
A+A=C

How can a baseball team win a game
without a single man crossing home
plate?

SCORING KEY

8 or 9 — Superstar Genius

6 or 7 — Star Genius
4 or 5 — Genius

or less — Genius of the Future

MIDDLE SCHOOL MATH WITH PIZZAZZ! BOOK B
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NOTE: This puzzle and the next 8 on problem-solving strategies may be
difficultfor students unfamiliar with these strategies. You may want to provide

extra help and guidance through the exercises. How Does a Beaver KnowWhi chTreeto Cut Down?
What Do You Call a Lanb Covered with Chocolate? J Ty working backward to help solve each problem. Find your answer in the i
i answer box. Write the letter of the answer in each space containing the number
X 3 Use the "guess and check method to solve these problems: : of the problem. |
(1) Guess an answer that meets one of the conditions. ;
< (2) Check your guess to see i it meets the other condition. 1. Susan made a deposit of $74to her 7. Bob's mother asked how he had done
< Find each correct answer and cross out the letter next to it. When you finish, bank account. She then had $192in the on amath test. Bob said, “If you
< 'R the answer to the title question will remain. account. How much money was in the multiply my score by 3, then subtract40
o account beforethe deposit? $ 18 from that answer, then divide by 2 you
N 60 will get exactly 100." What was Bob's
b 1. Sum of two numbers = 15 2 Sum of two numbers = 16 2 Aram gave Steve 38 of his baseball score? 80
fa LN 54 Difference of the numbers =3 Difference of the numbers = 6 cards. He then had 145 cards left. How
— Find the numbers. (6,q) Find the numbers. (5, i) many did he have to begin with? 183 8. Keithbought a belt for $9 and a shirt
< | 34 What is their product? _ ,~ What is their product? that cost 4 times as much as the belt.
R 5"" 55 3. Mark weighs half as much as his father. He then had $10. How much money did
3. Sum of two numbers = 13 4 Sum of two numbers = 11 E Marrl;wfelghhs 76 po#gds, how much Keith h_av’)e lgg%e bought the belt
Difference of the numbers = 1 Product of the numbers = 24 oes his father weigh? 1s21b and shirt?
Find the numbers. (&, 7') Fﬁin'l‘dgtthe numbers. ? 8 4. Karen's uncle said, “If you add 10 to my 9. Mom had just filled the cookie jar when
A 4 A o . X .
What is the larger number? 7 is their difference? s age and then double the sum, the result the three children went to bed. That
is 90." How old is Karen's uncle? 35 night, one child woke up, ate half the
Sum of two numbers = 14 6. Sum of two numbers = 15 cookies, then went back to bed. Later,
Product of the numbers = 40 Product of the numbers = 36 5. Ms. Shoe kept 2 meatballsfor herself, the second childwoke up, ate half the
Find the numbers. {1 ) 10) Find the numbers. (3, 'rz' ) then divided the others equally among remainingcookies, then went back to
Whatis their difference?” ¢ What is the smaller number? 3 her 14 children. If each child got 5 bed. Still later, the third child woke up.
meatballs, how many didys. Shoe ate hal_f th_e remaining cpokies, leaving
The Vampires played 20 games. 8. Zarinasaid, "The sum of my have to begin with? 3 cookies in the cookie jar. How many
The team won 4 more games age and my father's age is 50. ) cookies were in the jar o beginwith? 2t
than it lost. How many games The product of our ages is 400." 6. Aburglar tryingto escape pofice got on
did the Vampireswin? 2 How oldis Zarina? {() the elevator in a tall building. He went 10. Ms. Match went to a store, spent half of
up 8 floors, down 4 floors. up 3 floors. her money and then $10 more. She
X X o . down 7 floors, and down 2 floors. If he went to a second store, spent half the
. Emie has twice as many 10. Tommy said, "My mommy is 4 finished on Floor 20, what floor did he money she had left and then $10 more.
stickersas Bert. Together they times as old as | am. The sum start on? 2 She then had no money left. How much
have 90 stickers. How many of our ages is 40 “ How old 1s 2 money did Ms. Match have when she
stickers does Ernie have? 60 Tommy's mommy? 32_ started out? $ 60
Henry's sister is 3 years 12. Dadis twice as old as Junior.

younger than Henry. The Gramps s twice as old as Dad. ® 38 @ 24 @ 67 ® a5 144 b @ 80

product of their ages is 180. The sum o the three ages is

How old is Henry? i5 140. How old is Gramps? 80 @ 72 @ 84 ® $118 @ 194 ® $55 @ 28

The Cyclone Coaster has 16 14. A math teacher drove past a ®) ss0 © 1520 () 22 () s50 (©) 183 Q@) s98
cars. Some of them hold 2 farmyard full of chickens and 2
passengers and some hold 3 pigs. The teacher noticed that \QV 10p1 3107676428 6(10(6|3]10(6[9 5
passengers. if there is room for there were a total of 30 heads Hi

36 people altogether, how many and 100 legs. How many pigs ClH E V E/RIONEHIE[C HEW S
cars hold 3 passengers? Y were there? 20 WHICHEVER ONMNE HE CHEWS

B-8  toric ib: Pddem Soving Stategy:wark Backwards

B-7 10OPIC 1-a Problem Soiving Stategy Guess and Check

What Train Do Pigs Ride?

~
N 3 0N
2> o o 8 B I @ 3 " " . — .
£ g & E S < |8 & |l 109 Far each exercise, write all the possibilities for the situation in an organized
2 23 Q% T X8 3 @ g ist. Then answer thé question and circle your answer in the answer column.
Mo [ ] PN 2 Tla| T «©
ul 5 ﬁ._' B - ; cf: g %_ N J, N 'f § 3 Z When you finish, write the lettersin order from the letter of the smallestcorrect !
[ o8| % 3|8 & < 2 § 3 |y Py MRS answer to the letter of the largest correct answer. }
> 2ol X S @ x X x © X % o X
= 3T|85|5 2| § & | <|aa (B8] 2 e ®
= = A radio disk jockey has chosen the next 3 songs he will play, but
: L @ @ @ @ @ @ @ @ @ @ @ @ he hasn't decided, in what order to play them. How many choices .
~ does he have? o
o i
(O] N = Tl O
| EL . .
I =y Zo Q ) w|l§ . Q é%‘ o H al ge ém @ At Micron Middle School, each studentmust take two of these
o) =3 - a g NO) c & g8 allg % e 8 =|ie éEd classes: art. music, keyboarding, cooking, or shop. How many
) g §§ AL R Xf% |29z 53 % E Jg_ @ differentcombinations does the studenthave from which to choose? | QO Anowers
e x 9 S = > 3
SEs s 5, |22 8% g32 |Bf |Z3¢
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S5 = "o | 2 & . - -
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552 @G|z e g EE- 30 s’g> 11
W g5 885 |25% 858 LFoc |88 |285E
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2z § ‘3’_5 choicesdoes the directorhave? 9
= 830 e 2 |g 8 (.5 0.0,
b S35 Seels § Zos 8 2¢) <2 |u3d
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g a8 o 43 g8 3 égﬁ SBe 2 8285 gg g |5 -§E E arrangementsof the 4 trophies are possible?.z‘l,- © @
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afo +25s §g§-m FES "85S FEEIEY IR
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Why Is a Stick o Gum Like a Sneeze?

Make a table and look for a pattern to help you solve each problem. As an
example, a table has been started for the first exercise.

Find each answer and cross out the letter next to it. When you finish, the
answer to the title question will remain.

@ Zelda's parents put $100in a savings accounton Zelda's first birthday.
Each year on her birthday they putin $200 more than on her last
birthday.

A. What will the total be when Zeldais 7 years old?
B. Whatwill the total be when Zeldais 10 years old?

\<L3,640j[year 1 [2 s+ s]el7](8]9 "

= %275 |Emount 100 | 300 | 500 | 700 |q00 1,100 1,300 |,soo||,7aa 1,900
< 580 | total {100 | 400 | 900 },600]2,500(3,600]4.9006,%08,100] ,
10,000
A $4,900 Dr. Dorque wrote a book called 1007 Random Numbers in Ascending
POy Order. In the first month after it was published, 10 copies were sold. In
w | $9,600 the second month, 30 copies were sold. in the third month, 60 copies
(e | were soid. In the fourth month, 100 copies were sold. if this pattern
Q 550 continues,
A. How many copies will be sold in the tenth month? §58
T |4 B. How many copies will be sold altogetherin a yaar?a ,640
x ES__ @ A subway train left downtown with 121 passengers aboard. At the first
o [$110 stop, 1 person got off At the second stop. 3 people got off. At the third
stop, 5 people got off. At the fourthstop, 7 people got off. If this pattern
<« |630 continues,
A. How many people will get off at the 7th stop? {3
w |15 B. How many stops wili the train have made when all the
— passengers are off? { |
x (1
@ Bob's aunt offered him a choice of rewards for getting good grades. If
- |3.850 he chooses Plan 1, she will give him $10 for every "A” on his report
13 card. If he chooses Plan 2, she will give him $1 for the first "A," plus $2
® for the second “A," plus $4 for the third "A," and so on, doubling with
6 each additional "A." Bob gets 8 differentgrades on his report card
= A. If Bob chooses Plan 1 and gets an "A” in every class, how much
money will he receive?
B. If Bob chooses Plan 2 and gets an "A" in every class, how much

money will he receive? § 2.8
C. How many “A" grades must Bob receive to make Plan 2 the
better choice? &

— | $4,400
% | $10,000

B-11 TOPIC 1-¢ Problem Soiving Strategy. Make a Tabe

How Did the Hunter Get Hurt While Bending
Over to Study Some Tracks?

Draw a picture to help solve each problem. Cross out the box containing
each correct answer. When you finish, write the letters from the remaining
boxes in the spaces at the bottom of the page.

Hope's Mom baked a cake for Hope's
birthday. it is in the shape of arectangle 10
inches long and 6 inches wide. If she starts
at one corner and puts a candle every 2
inches, how many candles will fit around

the edge of the cake?

Four friendswent to a park to fly kites. Asher
stood 80 feet due west of the flagpole.
Baxter stood 50 feetdue north of Asher.
Cranby stood 100 feet due east of Baxter.
Dudley stood 50 feet due south of Cranby.
How far was Dudley from the flagpale?

50£+

5 Gompers is trying to cut a round pizzainto
the largest possible number of pieces with
3 straight cuts of the knife. He can't restack
or rearrange the pieces after a cut. What is
the largest number of pieces he can _7cut?

The deckin Hope's backyardis round, It has
5 posts evenly spaced around the edge to
supportatrellis. For her birthday party, she
wants to connecteach post to all the other
posts with crepe-paper streamers. How many
streamers will she need? 10

Asher’s kite flew the highest. Baxter's kite
was 50 feet lower than Asher's but 100 feet
higher than Cranby's. Cranby'skite was
100 feet higher than Dudley's. Dudley's kite
was 300 feet above the ground. How high

was Asher's kite? 5 S50+

Derek planted a garden in the shape of a
square 32 feet on each side. The garden
has a stream on one side, but he plans to
builda fence on the other three sides. If he
puts a fencepost every 8 feet, how many

posts willhe need? i 3
7 Driving along Route 77, Zeke passed the

towns of Bam, Jam. Ram, and Wam, in that 8 Five cars entered Euclidean Grand Prix
order. He noticed it was 27 miles from Bam autorace. They were given numbers for

to Jam and 33 miles from Ram to Wam. On identification. Car 33 came in last. Car 55
his return trip, he noticed it was 100 miles came in ahead of Car 22 but behind Car
from Wam to Bam. How far is it from Jam to 44, Car 22 came in ahead of Car 66. Which
Ram? car won the race?

Yomi
AT T RA
7 22 0 44 19 16
TH
52 0 7
_
NH[l | T|H|I M

A TRAIN HIT HIM
TOPC 1-1: Problem Soiving Strategy Draw a Pidre B-12

Why Was the Fencing Champion So Honest?

What logical conclusion, if any, follows from the given statement? For each
exercise, circle the letter of the better choice Write this letter in eachbox ~ w
Y containing the number of the exercise.

1. Allwhales are mammals. Mobyis a 2. Allislands are surrounded by water.
whale. Javais anisland.

@ Javais surrounded by water.
@ No conclusionis possible.

Moby is a mammal.

No conclusionis possible.

w

. All elephants are wrinkled. Ajax is an 4. Allelephants are wrinkled. Clyde is
elephant. wrinkled.

() Ajax is wrinkled. 8 Clyde is an elephant.

No conclusion is possible.

ﬁ No conclusionis possible.

o

. Alllibrarians like to read books. Marion
is a librarian.

(©) Marion likes to read books.
(U) No conclusion is possible.

6. Aillibrarians like to read books. Terry
likes to read books.

Terryis a librarian.
No conclusion s possible.

C o)

~

. All'squares have 4 sides. Susan drew a
4-sided figure.

8. Allsquares have 4 sides. Susan drew a
square.

@ Susan drew a 4-sided figure.
No conclusionis possible.

.! Susan drew a square.

G No conclusion is possible.

©

. Some radio stations play music. KISS 1s
aradio station.

() KisS plays music.
G No conclusion is possible.

10. Some flowers are roses. Carlos bought
a flower.

Carlos bought a rose.
No conclusionis possible.

11 Allenis taller than Bill. Bill is taller than
Charles. Charlesis taller than David.
Which of the following is true?

12. Kongis stronger than Wong. Wongis
stronger than Hong. Hong is stronger
than Pong. Pong is stronger than Tong.

A S >
Allenis taller than David. Which of the following is true?

Charles is taller than Allen. Pong is stronger than Kong.
Wongis stronger than Tong.

8|4 19212 2 112

HE| WASS| Al [MA

3 5[1 81612 1210p 97

N| O|F| BI|S| |SWoO|RD

TOPIC 1-g. Problem Solving Stralegy
8-13 Use Logical Reasoning

What Did the Hiker Say As He
Removed His Backpack?

Do each exercise and find your answer at the bottom of the page.
Wirite the letter of the exercise in the box containing the answer.

soccer

=

volleyball

® cerea? [ B cereal eggs
@ both eggs and cereal? Lf '
@ red but not white? 3‘/’

A survey was taken to find how many students play certain sports.
@ soccer? 30
® bothtennis and soccer?
30| 9 |10]34]14 120] 5 [27({21 26| 7 | 16|20 (1386 3 1 4 [ 8 |113]
rﬁlarrs LioADRolFF ;I—Pl N E

A teacher asked students in her class what they had eaten for breakfast.

@ cereal but noteggs? {2

@ egos? (3
A geography class made a study of the colors used in national flags.
According to the Venn diagram, how many flags contain:

® white? ({3

@ white but not red? 1.'7
According to the Venn diagram, how many students play:

@ tennis? z.b

@ soccer but not tennis or volleyball? 2[

@ volleyballz 2O

@ both tennis and volleyball? 8

@ both soccer and volleyball? 5

THAT'S A LOAD OFF MY SPINE

TOPIC 1+h: Problem Solving Strategy: B-14

According to the Venn diagram, how many students had eaten:
® eggs butnot cereal? 9
© rea 120 red white
@ both red and white? gé
@ tennis but not soccer or volleyball? l+ tennis
@ volleyball but not tennis or soccer? lO
® all three sports? 3
Use aVenn Diagram

ANSWERS

B-80
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What's the Difference Between a Barbell and an Ocean?
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Write a decimal for each exercise. Cross out the box containing each correct answer. Whenyou T @ @ @ @ @ @ @ ® 3 "
finish, write the letters from the remaining boxes in the spacss at the bottom of the page. o=z e us o3 FIgN g P zoraX 3P §Z° Q =
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Why Does What Do Gorillas Eat For Lunch?
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Think of the location of each decimal on the number line. Onthe number line under each exercise,
write the letter of the exerciseas close to that point as possible.
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the exercise in the box above its answer.

1. Write a decimal for the amount shaded. g
T 1. Write the decimal.
@ severn lenths

(E) 91 hundredths

S

@ 15 and 2 tenths

@ 7 and 34 hundredths
(1) 12 and 72 hundredths
® four hundredths

(N) 3and 9 hundredths

secsesssncsnsssseusresovsEr e

1. Write a decimal for each lettered point.
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How Can You Hdp Prevent Burglaries? Why Is a S ngl e Cow Al ways Brave?

Do each exercise and find your answer in the set of answersto the right. Write the Do each exercise and find your answer in the set of answersto the right. Write the
letter of the exercise in the box containing the number of the answer. letter of the exercise in the box containingthe number of the answer.
I Give the value of the digit 3 I Give the value of the digit 4 !
in each number. @ 3 hundreds @ 3 tenths in each number. @ 4 ones (10) 4 thousandths
@ 235 |3 @ 16.003 26 @ 31tens @ 3 hundredths ® 6475 |7 @ 3204 {O 4 tenths @ 4 ten-thousandths
@ 0.134 2, @ 475 q @ 3ones @ 3 thousandths @ 01422 28 @ 54.08 |3 (28) 4 hundredths @ 4 hundred-thousandths
. Give the value of the digit 8 Il.  Give the value of the digit 6
in each number. . 8 hundreds @ 8 tenths in each number. @ 6 ones 6 thousandths
@ 0.086 7 @ 94008 3 @ 8tens @ 8 hundredths @ 20816 19 @ 873699 26 6 tenths 6 ten-thousandths
@ 825 25 © 87025 |9 . 8 ones @ 8 thousandths @ 517776 & @ 0.6008 (4 @ 6 hundredths @ 6 hundred-thousandths
ill.  Give the value of the digit 5 . Give the value of the digit 9
in each number. @ 5 hundreds @ Stenths in each number. @ 9 ones 9 thousandths
@ 45916 & @ 95044 15 @ 5tens . 5 hundredths @ 28.43911 3 0.004595 [2i (8) 9 tenths (8) 9ten-thousandths
@ 12775 2.3 @ 6.157 8 @ 5 ones @ 5 thousandths @ 30815 22 8.037907 9 @ 9 hundredths @ 9 hundred-thousandths
IV. Write the decimal. ’ Q) 274 V. Write the decimal. { @ 6.0029
@ twenty-seven and four tenths [a 274 @ six and twenty-ninehundredths 1 @ 6.209
® two and seventy-four hundredths | @ 2.704 @ six and twenty-nineten-thousandths 2 32 @ 6.29
@ twa and seventy-four thousandths  } O ' 2.074 ® sixty-two and nine thousandths 11 @ 62.009
V. Write the decimal. (@) oste V. Writethe decimal. @) 40.0308
@ eighty-one and six hundredths & . 8.016 @ forty-threeand eight tenths 5§ @ 43.8
® eighty and one hundred six thousandths 2O @ 81.06 four and thirty-eight thousandths le . 4.3008
@ eight hundred sixteen thousandths  } 2. . 80.106 @ forty and three hundred eight ten-thousandths 7 . 4.038
VI. Write the decimal. (@2 53.009 VI Wiite the decimal. @) 7.015
@ five hundred three and nine tenths Z‘-l- ' 503.9 ® seven and fifteen hundred-thousandths 2. 5 @ 71.05
@ five hundred and thirty-nine hundredths |7, 530.09 @ seventy-one and five hundredths 2 @ 7015
® fifty-three and nine thousandihs 2 2. @ 50.309 © seven hundred fifteen thousandths 2. { @ 7.00015
® five hundred thirty and nine hundredths & @ 500.39 ® seven hundred one and five tenths 2 7 @ 0.715
HE 4\5 67|86 |10f1|12[13[14{15(16]17(18]19[20|21]22 (23|24 [25(26 12|34 [5]6|7[8]9[10]1t[12[13]14]15[18[(7]18119]20(21]22|23]24(25]26{27 |28
vod |s4oydd |SuRE |JddK |H gNE |dqw |dANNJT |88 |4 |ddw |HERE
B-19 TOPC 2 Place VALE to Thousandins TORC 2:d:Phce VALE D Hunared Thousaneins B-20
What Did the Boy Rodent Say to the Girl Rodent? Why Do We Remember the First Lid That

Cameto America?

Sop i cachoxarckeinte || @16 3 2[5 1] _—
boxes to the right. Write the I P H El R U Write each number as a decimal and find your answer in the list to the right. Write the
letter of the exgrcise in this box @ o letter of the answer in the box containingthe number of the exercise. If the answer
| [ has a . shadein the box instead of writing a letter in it.
@ 82.4375 ® 9.02637 1. two and seventy-six hundredths @ 2.076
1. Start with the digitin the 1. Startwiththe digit in the : Yy 2. 70 g
tenths place. —_—— thousandthsplace. 6 2. two and seventysix thousandths 2 , @7 (@) 27.008
2 Add the digit in the 2. Multiply by the digit in the .
tens place. 1z hundred-thousandthsplace. _42 3 two hundred seventy-sixthousandths ©, 27 @ 276
3 Multiply by the digitin the o 3. Divide by the digit in the 2 4. twenty-seven and six thousandths 27.00 6 ' 0.276
ten-thousandthsplace. L hundredths place. — <l
@ ® 7 126,659 5. three thousand eight hundred fifty-four ten-thousandths ¢ . 3854 @ 38.0054
0.143825 f A . N
1. Startwith the digitin the 1. Startwiththe digitin the 6 three and eight hundredifty-four ten-thousandhs 3.0854 @) 30854
millionths place. thousandsplace. -7 7. thirty-eight and five hundredfour thousandths 3 @ . SOY (®) 38504
. he digitin th 2. Add the digitin the
2 i%?;?sgc: giinthe —y— thousandtl%splace. e 8 thirty-eightand fifty-four ten-thousandths 38 . OO S4- %@ 0.3854
3. Multiply by the digitin the 3. Subtractthe digit in the . . .
ten-thousandths place, a2 hundreds place. s 9. nine hundred seventy-onemillionths &. 0@ 47 | é 9.000071
4. Add the digit in the 4. Divide by the digitin the 10. nine and seventy-one millionths . 0.009071
hundred-thousandthsplace. i hundredthsplace. _\3_ . - q.00007 !
11. nine and seven hundred one millionths q-000701 @ 9.000701
R
O 4.526371 @ 890.3725 12. nine thousand seventy-one millionths ¢, O 0.000971
9.009071
1 Start with the digitin the 3 1. Start with the digitin the
ten-thousandths place. hundredthsplace. _7 13. six hundred fifty-two and eighttenths &S 2.+ & (D) 006528
2. Multiply by the digitin the 2. Add the digitin the . X - y
hundred-thousandthsplace. 21 hundredsplace. _[5_ 14. six thousand five hundred twenty-eighthundred. tgo'usaargtE 28 . 650.00028
3 Sl'JlFtraﬁthT digit in the 3. tDiv'i[ge bly the digitin the 15. six hundred fifty and Menty-eighthundred-lhousz é 00028 ® 652.8
millionths place. [N enthsplace. _ S5 ) ) . e 600.528
4. Divide by the digitin the -~ 4 Multiply by the digitin the < 16. six hundred and five hundred twenty-eightthousafftss - | & 2.9, ©
o 'i
ones place. d tens place. 17. four hundred ten and nine hundredths $i0.09 @ 0.0418
@ 0.0198236 ® 45.63041 18. four hundred nineteen ten thousandths o.0419 @ 410.09
1. Start with the digit in the 1. Start with the digitin the . - *
thousandthsplace. 1 tenths place. _ 6 19. fourand nineteenmillionths 4 oo 0019 @ 40.019
2 ﬁﬁﬁé’iﬁiﬂi l?églrt] in r:2;|ace. 4 2 mg;ﬂlya% ‘the digitin the 30 20. forty andnineteen thousandths o 19 (¥) 0.04019
) . i T 21. four thousand nineteen hundred-thousandths @+ O %O 1] ® 4.000019
3. Multiply by the digit in the A 3. Divide by the digitin the 8
ten-thousandths place. -1 hundredthsplace. 1o
4. Add the digit in the 4. Subtractthe digitin the 6 14| 8 |3 |17)9 11|15 4 |6 |18| 1 |20(13|10|16|5 |21 (12(18]|2 |7
millionths place. 59 tensplace. — O T yd Al S| 4 D il S H Clol VY E d E R
8-21 TOPC 2: Place Ve to Milionths TOPC 2:e: Pace VAL o Milionths 8-22
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What Did Geor ge Washington, Abraham Lincoln, and
Chrigtopher ColumbusHavein Common?

Do each exerciseand find your answer in the answer column directly under it. Write the letter of the
answer in the box containing the number of the exercise. If the answer has a ‘ shade in the box

What Was the Tr uck Driver Doing With a Load of Hogs?

For each exercise, circle the letter of the correct choice. Write

this letter in the box containing the number of the exercise.

II. Arrange the numbers from least to greatest.

instead ot writing a letter in it. P I Write . <, or = in each 'G Sl<l|= (14 | Whichis the least number? [
Round to the nearest tenth. : Round to the nearest hundredth or : Round to the nearest whole number — = 15]  Whichis the greatestnumber? Y’
* tothe nearestcent. » orto the nearestdollar. 1 | 0.387 K3 0.384 @ R|L @ 4,006 @ 4,206 ® 402
o AN
(MDes B (p) 3raen E: @ ez R $7, 7520 ’i @) o360 saas0 @ 2 | 0.135 @ 0.145 El@v Y e P e R
@19 H (D) ssoo@ i (@ osssr b () seoassL ¥ @ moorA @) siests Y 3 | 6106 o616 s |@| 138 whichisthe greatestrumber? L.
OE:t | 0.0555 R z (13 24. 790060 s0.040:@ (23) 3008666 N 27633 D >y 0'92@0 520 7 © o © 27.333333  (B) 27.333
@osmE (9 12 78028Y: ssas1e8 @ $26.4848 N 9.8277'S $99.000 H d S g IR Whichistheleastnumber? D~ |
m (66T 4%W  » (18) o.6084222 A $7.505B 5 @) 1565 L $99.009 L w L° 2-35.3 Which is the greatest number? R
X
a') Answers: Answers: : Answers: Answers: : Answers: Answers: B 6,\0_7&%% F g B __l @ 8.499 @ 8.491 ® 89
* 20 chi R
® o ©s:  i@Qow  @Qwma @O s167 7 | 16.088 7 1087 0 |DIr ¥ yhchisteeastumters Ko
®:: ®rs D3 ®we @ @ s3 8 | oo Bo.oo @ 1 |x ® o2 ® 0.0 ® o
* b $45 ™ g : g
@ . @ 33 : @ oa 0.9 ¥ e 158 \J 5. 6000@5'6 ¢ _K,n_ﬁ Which is the leastnumber? ©
® 7.3 @ 0.2 * @ 24.79 @ $26.47 @ 9 @ $99 10 | 0. 04301 @0 0439 @ ola 83| Whichis the greatestnumber? c
g ®o05 @ o- b @oe © 7.7 ; 10 $4 g P Q | |®| - C 7.651 @) 7.51
g ® 17.2 @ 50 * ® 833 @ $60.48 5 8 $168 : n 22'07 728 A EF Whichis the least number? .
H ®Me7 OFX: . @ O - I OF $100 2 4210038 o038 £ |@ L B2 whichis the greatest number?©
. ®os @  (® 28 GEL OEY ® w6 ) 13 } 91 &19.0999 . ()| s|a ©) 9028 (©) 92822 (K) 9.22822
S [5]2]6]9 0]4]8 1 15]17 |12 g 20 [ 1317 | 19 [ 16 | 23 [ 29 [21 30 | 25 28] 22 [27 |24 é 6]19[15[3 | 9 |16 13’5 21 11r1 18 8 f1al25/20(24]7 [12]4 f22[17] 2 [23]10
s |TH[EYEWERERA L LEEBCRRNEoNEH oL [PlAY|S ¢ ITIR|Y[! N[ Ta]F|1 nD}A]Plo|R[K|1 N6 |P|L|A|c|E
What Did Orgo’s Mother Tdl Him to Do With the Seat Belt? g When Bunker Bung Got a Better-Paying Job,
(e} [} - ..
5 Do each exercise and find your answer in the adjacentanswer columns. Write the letter of the & Why D'\d H's Mgher Visit Hawaii?
. exercisein the box containing the number of the answer. - Do each exercise and find your answer in the adjacent answer columns. Write the letter of]
§ the exercise in the box containing the number of the answer.
a Round to the nearest tenth. Round to the nearest hundredth or nearest cent. e L
§ @ 8a7e D ® e e eANSWERS® @ 0 @ @ 40718 Q ® e @*ANSWERS** ® @ g Round to the nearest whole number. Round to the nearest tenth.
& 15.02499 T © ens (E) 1300 (23) 0.6666666 A (V) 9234 (T) $324.47 ° (D475 Answers 1= 7: ® 632 6.3 Answers 15— 21:
(2 0.2525252 O ®so (150 92.354009 H O 8538 (P) 0.02 () 382 38 ®s @ 639 ©.4 OEENOEY
@) s91.908 S 0.4 () 32 04023875 0 407 (c) 068 @ o5 92 ®as O« @) 8275 82,8 Q@ 64 ) 827
(2) 31736404 H @es (V1208 @) w5975 $070  (H) 9235 (@) 73333 7 CENNGRS 31225 31, 2 @ 1oz () 312
@) 7es T (5 es19 (0) 03 (1) soe08 S F)oos (1) $324.45
() 24475 245 @ s Q) 244 1406363 1 40. G GEANNGEE
120.955 £ L 113 (R 82 (11) $324.4705 T ® o067 (U)$538
2’1 U z ®) 105 161 ® 60 (V) o2 9.090909 9.1 @62 (s
5 * e s 160.2029 160 7 38 9.030303 9.0 82.8 140.6
Round to the nearest thousandth. Round to 1-digit accuracy. @ @ ® @ @ @
() 238383 E ® e o eANSWERSe e @ @ 6175 P o e @ANSWERS*® @ 54.666666 5D Answers 8- 14; @ o 0.4 Answers 22 - 28:
70.6581 M (M) 70659 (R) 4.207 (15) 2.6808 E ® 50 (D63 ) 7905 79 ® s @ 200 (3) 665000 6.5 ®ro ©os
0.4444444 S (D 15201 (E) 2384 0.33333):2 T QLK () o.008 34375 3 @ @ ss 5. 2505050 5.3 © 1.8 (B 53
(9) 1520072 | (0 2385 (P) 0.446 (13 5925 ©s () 600 (@) so09 ol 1 (P)a @ 747.80 7TH17.9 @65 (N) 130
(#) 1520027 T (H) 816635 15.200 0.0727 S (OLE (&) 0.08 Y
(1) s16.63a51 H (8) 0.444 4.300 0.00772 H ® 60 ® 4 ® 54'16626_12 5 @ @ 12049 120 ® 129 (© 121
(6) 42008 | (@) 70861 (N) 816.636 @ 048849 R, ® 007 (N) 0009 @ 195 @ @ 1o @ 1205 13.0 © o4 (D 7are

1|23 g4i5)/6 /798 |9|10R11[12Q13
H Tol_DIH( MITQIK

ma

15/16 17|18 |19 20 21 (22|23 |24 @ 25(26(27 |28
EPIHISlSTRAP SHIVIT

199875 200

BB BRI
S[H|E H}ANT

®© 80

1|4

@ 8ot

M o

6|3 [10(22T1s | 25]21]15 241912717 25823162620
pltloREN|T|olY TH slo|N|s RA\SE;I

1204049 12.9

© s2

() e66




Why Islt SoTiring To Do Nothing?

Use front-endestimationto estimateeach sum. Under each exercise, circle m

the letter of the better choice. Write this letter in the box containingthe
number of the exercise.

1. Is $10.00 enoughto buy each set of items? Choose "yes" or "no."

“1sa75] “|s720] * s131! *|s372| ¥ s620
5.37 2.50 2.24
5.15 4.49 2.12
B vyes U) yes G yes 1 vyes @ yes

@no M no @ no @ no F no

IL. Is $15.00 enoughto buy each set of items? Choose "yes" or "no."

*les1a| " |¢522| *|s208
4.64 6.10 7.94
3.05 3.47 4550

yes @ yes H yes @ yes
no K no @ no R no
1Il. Choose the better estimate for each sum.

3,367
" 7.495 1,267 (14) 0,019
+ 4640 @, 7.471 ® 5,500 ®
+ 47198 + 3,046
| about 14,000
P about 7,000 (© about 15,000 about 10000 (D) about 18.000
(® aboiit 8,000 about 11,000 D about 18,000
8.254 4,512 6,330 3,508
® 1,760 3,175 @ 4719 7,653
+ 5.989 2,088 9,444 933
— + 2238 + 1526 + 3,891

L about 15.000
@ about 16.000 @ about 12.000 about 21,000 @ about 16.000
M about 13.000 about 22,000 W about 17.000

B[2[2] |88 5[ 1 ] i[85 6] [3[0]7] [4[a]i7[®
bu| Rk 5 AND| RE
8-27 T et EromeEn Extmaton

Why Did the Ant Wear a Bathing Sit
in the Kitchen?

1 For each exercise, write an estimate of the answer. On the number line
under the exercise, find a point near your estimate. Write the letter of the 3
exercise on the number line at that point. bl
© 21.3+378 60 @ 875+208 30
© 1036-112 90 © 161-594 1O
© 387+193+125 70 @ 48+607+20 40O
©) 1638-6482 |00 ® s2-76 O

Andy bought a shirt for $27.95, a pair of pants for $39.75, and a
belt for $11.50. About how much did he pay for aIlClhree items? g (0]
(o]

1 ™
1 Q | I|3

—
0 10 20 30 40 50 60 70 80 90 100

® 1348+ 16194005 30
@© o.n428-385711 5

@ 21.7+408+703+ 122 45 © 1049+ 00184537 25
® ©Gi15+39-988 O ® 48.75-30.03 (O
@ Billy Bubble is 139.5 cm tall. His father, Mr. Bubble, is 1775

@ 5.291+2866+7.333 15

@® s29-3125 50

181.0 cm tall. Egtimate the difference in their heights. cm
0 P 8" H E
{ | 1 — 1 | 1 | . | 1
0 5 10 15 20 25 30 35 40 45 50

@© 225+3875 ©
W 17.33-528 (2
© 316+087+135+467 |0 ) 1.925+0.0008 2

® 2+89-608 § ® (162.3-151.9)+ 3.7 4

@ Ms. Take bought three steaks. They weighed 0.94 pounds, 1.83

@ eo3+0.04+007 16
® 2641-7.75 18

pounds, and 1.16 pounds. About how much steak did Ms. Take take? b
[ c A O A v
-l 1 | .| S | | 1 | B
0 2 4 6 8 10 12 14 16 18 20
TOPIC 8+b: EstimatingSUTS and Differences B-28

NOTE: Final zeros have been dropped from answers in which they occur
(except for dollars and cents). The answers then match those that would be
obtained on a calculator.

[+ md .o
N~
cLQL
L) o~ gE2
gh[9 gmee > EEGE
(] ﬁm& DD g BDBNS| S 2 S
- g8~ doM gon Q9 O £- 29
g So o | & - 2 Uy géfﬂ\
+ |- + +
5 hla ar S\ BsE.
s e @ o T igsp
ks S e f37
@ + LB ¥
£ 3 o
= \n 2 N~ o8E
© | 2 P as g g 28 |w
- |3 @ © o <R &l e N Lo
o ; mor. 90 oo + JEun |
2% | g oell -8 ®© 8§ g&o
.s' 8 + + + < g¢ 2 [
2 s B3%
= E
g1 @ ® 3 255
> 8. S g 8§z = ?
=) EE 0 8 ZfeB 3 es‘b-esl
Risd =9 %
PREE 2o ~ \n @ &
v | T2 &R 2 S8 =55
@ | 3e| =L 28 s 8 <[5
o 28 + + + + 90‘0(
T ™ — - L]
& 5= + -3 o
Gy ® 60 ® 8 52 3 e
AR S o e [=[“e
T E a® [ &)
b= 53 . T ®a gg_. T eee,
~ 2e o QW n o 8,
g [egl en s S|, D Fan S
g9 Qo w o Yy F 3 2,
x oo @ « - 8o W 9
[ &g + +| + N.v,. 661;:‘: d
. F- §ﬂ1 3
S Hlo o o %3 lgh e
o & Q v JEZs o
8% 2 8=5 | s
) N 5 Zuo 9
Q o * fg8 [T o0l
s 2@ 23ga 5‘.5;1
> ~ N Y Zhe 8
- + & EB=22 )
s cop oG 883% ¢ % 83
méﬁ s RYS o8 §§§
* l * ®» g g8

8-29 TQP C3¢ Addhg Decimsls

Did You Hear About ...
21 A B [

' > j "vove |}
THE FROG | WHo [DEcioeEp! To MovE \
G H | J K L
To | PARIS | JusT | se HE |couLbD \@
6| M N [+] P Q R
I ORDER | & HAMBUREER. WITH | FRENCH | FLIES 2

Do each exercise and find your answer in the appropriateanswer column. Notice the
word under the answer. Write this wordin the box containingthe letter of the exercise.

® 518 835 (O) 7279

Answers A-I -g872 - 4.08 - 1683 Answers J-R:
5476 | .y 4.27 4559¢ [ sz
| FROM | I
8.272 0.68 0.036 0z
@ - @ - 318 ® - 0.455
. . 0.225
FLORIDA ° ‘35 5 O%Z
| $55.96 0.044 0z
16.3 94. 6.78042
o © 5 @ % O mec:
BECAUSE 13,634 23.265  5,83772 HE
14.4 144s
THE PAD
ez | (D 47-638 4o, 2 (K) $192.70- 5 55 <55
JUST (D) $60- $18.83$ 4 1. 17(W) 0.4906 - 015772 HAMBURGER
| s5.082 0.33288 0.34198
TO (W) 7.001-6.90. 101 @5—0054 qs HAVE
‘ 12.834 ‘ Ms. Tulips bought $56.12worth of groceries. | #4117 ‘
| out However, she had couponsworth $9.85. How CouLb
4.27 “ much did Ms. Tulips spend for the grg c&ries? 0.101
FROG A U.5. penny weighs 0.1 0z, The e-27 A
[ 562 hummingbird on record was 2.24 inches lon 40.62
) 9
THAT | and weighed 0.056 0z. How much less than a SO
| 0.225 penny did the hummingbird weigh’?o ° | $141.31
- THE
‘—&— ® A team of 4 students is runningin a 400»n%fttr oz !
0.135 relay race. The first 3 runners had times of 138s
DECIDED 14.7 s, 16.2 s, and 15.3 s. What time must the FLIES
23.265 4th runner beat in order for the total to be less $44.37
PARIS than 60 seconds? 13.8 s ROLL
TOPIC 3d Subtracting Decimals B-30

ANSWERS

B-84
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it Write these letters in the two boxes above the exercise number at the .
bottom af the page. |

A bicycle weighs 32.5 pounds. The box for it weighs 7.8 pounds.
What is.the total shipping weight for the bicycle and its box?

®

The members of the Pedal Pushers Bicycle Club have traveled
134.8 miles of a 200:-mile trip. How many more miles do they have

MO MMNR MSOOTHNE M

10 g0? 8415
RO) 49.6
@ A stone dropped from a tower falls 4.9 meters the first second and O
14.7 meters the next second. How far doesiit fall during the two
seconds? 2542
@ Last week, Maria worked 1.75 hours on Monday, 2.5 hours on o )
Wednesday, and 4 hours on Friday. How many hours did she work I
h TF) 145
?
last week? %45— 19.22
Bill's normal temperatureis 98.6°F. Today Bilt is sick and has a
temperature of 102.3°F. How many degrees above his normal @ 40.3
temperatureis this? . 4
PR 4
@ At the beginning of a trip, the odometer in Mr. Kilowatt's car read
9,6514 miles. At the end of the trip. it read 10,475.9 miles. How 8.25
; s .
many miles was the trip? 82 ¥} g mi 17.83
@ Atarestaurant. Mr. Fudge ordered a fish platter for $12.75 and a @ 824.5
piece of cheesecake for $250 The tax was $0.97. If he left a $3 H
tip, how much did Mr. Fudge spend m all? § @ 18.62
# .
(8) Mike drove a nail 2.5 in. long through a board 0.75 in. thick into a 18.6
post. How far did the nail go into the post? ~ —in i %
@ At the 1984 Olympics, the United Statesteam set a record in the /
400-meter relay. Each racer ran 100 meters. Their times were ;‘é
10.29, 9.19. 8.41, and 8.94 seconds. What was the record time for E @ 3.7
the relay? a3z s § (FO) 3843
i
U.S. coins have precise measurements. For example, a quarter i
has a diameter of 24.3 mm and weighs 5.67 g A dime has a
diameter of 17.9 mm and weighs 2.27 g. What is the differencein
the diameters of these two coins? k29 q! mm i
i
asbNBhAR R NaklehklilpebE
7 2 10 5 1 8 3 6 9 4

PEDE

TOPIC 3-g- Problem Solving: Mixed Applications

A SUNBATHING CENTI
6-33

o - — Q
'g A~ U! N 9 o [,, -~ 0: Q 1 Why did the cowboy want to ride a bull in the rodeo?
) O m m i o 0 O
Q. S®omm 0o 70° TO -@ET A -EEwW -BUCLKS
a = © = w @ a2 o8 9 o 13 5 6 16 13 2 10 16 1 11 18 4 15 12
i 1 | o o <t = I c o
-é 5 528 L4 O O 2 Where does Santa keep his track and field trophies?
Q
w 2 | @OEOG QOO LN -HLS -POLE -YAULT
(= 9 7 3 9 12 14 5 17 16 8 2 18 17 13
E 2 n \n
5 o 0 o o . Do each exercise below. Find your answer in the appropriate answer box
g é . . o F - "') o0 0‘ Q - and notice the letter next to it. Each time the exercise number appearsin
® X" oa - the code, write this letter aboveit.
2 3 90000 g = 8 ©
£ S o N @ o & s« 3% 9 Answers Answers
® =o ) 1 S & o o e om 1 2218 O 16493 10-18: | J 137457 L 14.3kg
2s N @ 11 I T
g ig © S - - - moe >~ ° 9 T 115378 W 25.83 v 27.359 R 60.8kg K 111211 F $21.33
@
£%5 @ @ @ @ @ @ @ @ @ @ G 257.32 E 15893 U 26.28 E 225 T 14.4457 D 112101
23 &
g °s g + A 66 N 111278 C 2838 Y $2213 U 629kgy M 136kg
HQE FL" . 9 R P 138657 B $47379 S
£ LN X 1. . 13.865 473.79 1.8125
ggﬁ mNNan . 3*4)'»-{. 28159 H 116 B 249.32 6
- 3% M = ® == S T ~ (@) e ® 3.666 (@ sozs
o 3 o o R Z 3 ? t}l <\'4 - + 9.08 +7.934 - 51.9
2130232k A B 25.83 THA 28.38
= £T [ 2 S 2 S ° © e o~ o~ OB E 386.5 @) 2918 a7.
3 11| 00000 9 000006 s s 4o S
[ —_— 2 . _—
T o m BOTEN 5732 127 #1359
3 if . © sTer (3) 13+64+4278 22,18 () ss0-52867 2.1 .33
- 56N N9 - Q © * ? © P (@) s377.49+99630 S1472. 79 3-11875 1.8125
flos-== :
ﬁ §§ % T . § <3 .8 . (19 0436+ 09097 +5+81 ¢ gijg7 (4 20.3057-64413 . B DT
(2} ¢ ¢ ¢ o ¢ TS99 % (19) 1011 +0.101+1001 ) 25-025 9 ,2%
g g ; g g :r" :‘ :r" 2 3 Dexter weighs 50 kg. His body contains Anne'sbody contains 38 6 kg of oxygen.
30.8 k ofg gd49k )éf 6.1 kg of hyd d th t oth
.8 kg of oxygenand 4.9 kg .1 kg of hydrogen, and the rest other
O P @ @ @ @ @ @ @ @ @ @ hydrogen. The restis made up of other elements. The weight of other elements
m elements. How many kilograms of other is 20.4 kg less than the weight of
elements are in Dexter'sbody? oxygen. How much does Anne weigh?
.3 kg 62.9 Kg
8-31 TOPC 3¢ Mental Matht Acdition and Subtraction TOPC 3.+ Review Addition &t Subtraction 8-32
What Lieson the G ound 100 Feet In the Air? What Position Does a Pig
.
Solve each problem below. Find your solution and notice the two letters next to Play n Bag)a“” N

Solve each problem and cross out the letter above each
correct answer. When you finish, the answer to the title
question will remain.

On a baseball diamond, the distance from home piate to the pitcher’s mound is 60.5
feet. From the pitcher's mound to second base is 66.8 feet.
A. How far is it from home piate to second base? | 277, D -F
B. From home plate to first base is 90 feel. How much less is this
from home plate to second base?a =3 2 F4=
A baseball must weigh not less than 5 ounces nor more than 5.25 ounces.
A. A baseball weighs 5.41 ounces. How much heavier than the maximum weight
is this? ? o7
B. A baseball weighs 4.37 ounces. How much lighter than the minimum weight
is this? ¢y L3 oz
A baseball bat must be no more than 2.75 inches in diameter and no more than 42

‘ 1

-lran the distance

inches long.
A. Abatis 2.375 inches in diameter. How much less than the maximum diameter
isthis? @3, 3 [Ls)

i .
B. Anbat is 38.8 inches long. How much less than the maximum length is this?3, 2

i,

Ticket prices at a baseball stadium are given in the chart.
A. Merlin Fogg plans to buy one adult ticket

and two children's tickets in the reserv Ticket Prices
section. How much will the tickets cost?2® 15,50 Got chid
If Merfin pays for the three tickets with & acuit _cnl

4

8
$20 bill, how much change should he recﬁ\z?so box $8.00 $5.75
C. How much more will Merlin pay if he buys box reserved 6.50 4.50
seats instead of reserved seats? « OO | bieacher 400 275
D. How much less will Merlin pay if he Buys

bleacher seats instead of reserved seats? $ & .00
Meriin bought four candy bars at a baseball game. They weighed 1.16 ounces, 2
ounces, 1.7 ounces, and 1.38 ounces. How many ounces of candy did Merlin buy
altogether? b.24% o2
In baseball histary, the fastest recorded pitch traveled at 100.9 miles per hour. The

fastest recorded base runner took 13.3 seconds to run around the bases, averaging
18.45 miles per hour. How much faster was the pitch than the runner?

N h N
s H|O R T|s LD o] P
4
- S
| ARRER
N N N = = = N - N N
Blw|w|®|g|®|a|cl/8|m|la|lm|w|E|S|v|w|%|a|&]|°
slE2lals|gl8|slgln(8]2|8 |z |RIE|g|B|a|e
- (@)W | R g N0 § SlY¥(x|N|= ||t || T
1° )
SHORT SLOP
TOPC 3-g Probem Solving Mixed Appiicatians B-34
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Who Made Clothesfor the Brontosaur us?

Enter the given informationin the checkbook record below. Compute the
balance after each check or deposit. Write the letter next to each balance in
the correspondingbox at the bottom of the page.

After Building 9 Modd Ships, Why
Was Baxter B X Reminded of Cats?

Estimate each product. Under each exercise, circle the letter of the better choice.
Write this letter in the box containing the number of the exercise.

@ On April 26, John Dough wrote check On May 14, he wrote check #377 to @ 7x4.83 @ 5 x9.28 @ 96 x 3.9
#37410 Miler Pharmacy for $16.00. Dr. Eric Lewis for $74.35. O about 340 ()avour 46 ©®about 370
@ On May 2, he wrote check #375 to On May 14, he also deposited a ®about 34 B about 4.6 S about 37
Pacific Electric for $136.80. dividend check for $34.62.
8.07 x $44 6.7 x9.1 X .
@ On May 5, he deposited an insurance On May 17, he wrote check #378 to @ * @ X @ 2875 x 164
payment of $58.40. Air Chance for $19528. T about $3.600 @about 61 N about 4.7
On May 7, he wrote check #376 to Oon M{ay 24, h_e wrote check #379 to @aboux $360 R about 610 © about 47
General Telephone for $47.94. Safeside Savings for $306.47. @ 41 517 230 x 1.94 @ 125 x 63.06
@ On May 10, he depositeda paycheck On May 24, he also depositeda L about210 P about 180 @ about 790
in the amount of $366.85. paycheckin the amount of $366.85.
(@) about 2,100 @ aout 1.800 R about7900
Check .. " " Bala
| ate Number o Deposit I (i0) 8x7.4 @) 32x$20 (@) 1667
374% Miller Phg,-mcy __le T _.® more than 56 ®more than $60 C morethan77
5/2 | 375 Pacific Electric. | 136ed ]| D A lessthan 56 N less than $60 (©ess than 77
5 insurance 58|49 It ® () 098 x528 5 X 4.807 (®) 253x3
5/7(376| General TCIEM Y794 5 %ﬂ@ M more than 528 R more than 25 @more than 75
5 paycheck | 3668538458, (£)tess than 528 (O tess than2s L lessthan 75
- . . I
?/"* 377! Or. Eric Lewis 1435 3{“ ® (® 107 x528 (@ 29 x49 (@ 7.3x0.18
A dividend 3462 q,‘q ] @ @mors than 528 N more than 15 ®mere than 63
%1/278| Air Chance 1952 1.3 (a0 © R less than528 ()tess than 15 D lessthan 63
eside Savi 06 2
:;iqjli 5’: chde:k ings | 30647 sede 12, @ 6.29 x 1.085 3.921 x11.64 @) 863 x$8.70
2 P Y g = 29! more than 6 W' more than 48 D more than $81
A Dr |7N l [o) [ ‘ S I El NI E. P lessthan6 @Iess than 48 @ess than $81
Qe
,?,,;, & «é‘ ,3,,\:5 ,\o, 5’ \, 410l [13]1 19| [14]7 [16|11] |18]3 |15]12[8 [17| 21|62 Fosm
A K
‘=“ AT, HE [HAD JusT |goluladt| [Hil7 e
B-35 Completing s o g Rounding D WLE LTSS 8-36
NOTE: Multiplicationof a decimal by a whole number can be explained in NOTE: Final zeros have been dropped from answers in which they occur.
terms of repeated addition. Exercises 15-17 are included to emphasize this The answers then match those that would be obtained on a calculator.
relationship. *
. ol *
Why Did the Greenhouse Call a Doctor ? Z(%How Do You TieUp a Spaceshipin Space? |
*

Do each exercise and find your answer to the right. Write the letter of the answer in
the box containing the number of the exercise. If the answer has a ‘ shade in the
box instead of writing a letter in it.

® 7.3 @ e ® 28 Answers 1= 6:
x 4 x 9 x 8 © 1841 (B 885

29.2 55.62 236.8 (@) 288 (1) 562

@ 93 (B 28 ® 145 ©) 5482 @ 2558

x 5 x 0.7 x 0.06 @ 29.2 @ 198.1
Y6.7 198. 1 88.5

@ ©7 (B se3
@ 38 69 @ 0.87 Answers 7 - 14:

x 24 x 9.2 x 85
© es38 (1) 201
q1.2 634.8 73.95 ® ses6s @) 10820

@ ¢ W) o2
0604 @ e G o6 ® 1842 (Q) 17.02

x 91 x 0.27 x 0.075
54.9%4 107.19 20.1 @ s (D) sus
@ 10719 (R) 55854
@ o45x37 17.0% (@ s2xooes 4. qu (O 4% (718

(8) 8.1+81+81+81481+81+81 54,7 Answers 15 - 10
0625+ 0625 + 0625 +0625 2,5 ®

594 (N) $1263
(@) 109+1.09+1.09+109+109 §. 45 ®

25 @ se7.80

Ms. Blox bought 6 pounds of hamburger at $1.88 per .
pound and a bag of potatoes for $1.35. How much did she $13.33 @ 5.45

spend in all? $ 12. 63 ® 54.3 @ 56.7

(19) A classified ad costs $2.45 per line per day. How much will
. it cost to run a 4-line ad for 7 days? $66 6O @ $68.60 @ 3.2

[ AL W WIS T T

B-37  7opic 4b Muliplying a Decimal by a Whoe Number

Do each exercise and find your answer in the rectangle below. Cross out the box that
contains your answer. When you finish, write the letters from the remaining boxes 1n
the spacesat the bottom of the page.

®

x 0.6 x 07 x 0.04 x 06
2.26 O.HY L,z 11.7
6.93 7. .89 .
@ x 40.()!5 @ x 5.; @ x 028,7 X ggg
3,754y 37.63 2.403 1.938

®

9.

@) 07

() 06309 x15

a8 ® 0.92 ® 4758 ® 195

1.62 376.4 @) 0.825 ® 0.436

x 5.8 x 0.007 x 18 x 0.69

396 2.6348 14.85 0. 30084

<08 0.56 158x03 o, 7¢ (B 45xs072 by, 74
(i) 09x0899 0.899( (1) 0.083x202 |g, 766

94635
. Sound is used to measure ocean depth. . A scale model of a race car is 18.2 cm

Sound travels 1.5 km per second long and 6.9 cm wide. Each centimeter
through water. If it takes 3.7 seconds for on the model represents 0.3 m on the
asound to reach ghe bottom of the actual car. How longis the actual car?
ocean, how deep is the water? 5, 55 km 5.46m

YO, wi SH, P E TH EY,

3 91 B! 496 m /30 75 48 L $41.64 .7

AS W TR YA T OK

0.90115 56 40! ¥{ 0.8871 .21 /634 4635\ 0A3111ﬂ

IN, NO E, IT P, TS P

4. 1. 4.85km Kiw, &6 N 9.576 9

TOPC 4c.

wi t/H A s|T|R o/ NoO TS

WitH ASTRO KNOTS
Muttiplying Decimals 8-38
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NOTE: Final zeros have been dropped from answers in which they occur.
The answers then match those that would be obtained on a calculator.
3
BOOKSNEVER WRITTEN . : 38 ¢ 2
o © g 9 £ © 0 o
The Broken Window Mystery by # £ § 8858880858
E v A B r | c K 25883 S 5365 06 8 s
1]
= v i - e
504 936 98l 12010111 106236 864 1444 2520 6000 =< POHOOEROOREOE®
Weeds in the Garden by - - t
5 8 oo ¥ own 0 o0 n .
b a N D L Y O N > £3 3713 BElc ~m 35 LY
099 98l 3276 25201 099 5840 1617 1672 0216 32.76 e g2 °=,[9 ®ov « 3 o 2552\
g s ~ * oM g 3ess N
Conceit Is Neat by -g 23 @ 60 © §$§§ [\
@® n 28 5
I . M. & R A T E S 2§ Ssef;
1424 101336 111111111 1962 16625 864 981 22301 504 o] £ 28 G S8 —2g5
E w 9% ~ao ! @~ o - °© 22T
8 I° @ignm BN o § x EEET
ABOVE ARE THE TITLES OF THREE "BOOKS NEVER WRITTEN.” TO (5} 3 92 SN =¥Im x 9 5 s=gF
DECODE THE NAMES OF THEIR AUTHORS: = g 3 °v ° |® I3 S8E g8
Do each exerciseand find your answer in the code. Each time the answer — '9_ Eé @ °© © o @
appears, write the letter of the exerciseaboveit. E "Wl oo g g E
<« g ) w
76 0.44 2,375 50.4 d E:! o w
© x 19 @ x 38 ® x 07 ® x 0.65 ® |on E 52857 88w 3T 0
Ty a2 L - £ 55 S0|3 28le d* D o5 ¥
I 67 1.6625 32.76 © og E 522°,|8 "z 00w ic B °
'R C 0 278w
Ekl fPo 2505 @'s 523inils
© aw @® 7 ® 817.2 ”i:" B g 52 N s 526 gg5e
R 545 * = (=] P i
x 84 x 0.29 x 0.018 x 13 = 2§ u;: 23 S E: zésg
allnd > 0018 x 13 e 1 2
2,520 2.230} 9.81 1,062.30 E g 5 3 ° B s ‘”::l ce ® 38 8§ §§§§
= - =3
v 8 0§ =rssit 33@ o ok gest
g 8 % g8 5 0 o8 <8£8
© osx06x08 9.216 ® o0sx08x70-72 s 5 B EsZp @ o @EO®
Y 3
© ws+osgx0a 1,617 ® 6-0sx022 0.99 8 é z
®) o75x8000 &;O00 M) o.123as679x0 {, FALTHITY 2 2 5% 3 8 3
' £ 5 BTlrBs88.28 384
®Agas‘tankcontalns.5.3gaIIons,The ® Tape travels through a tape player at a 2 ¥ |8 -&a858588g8888 8¢9
capacity of the tank is 125 gallons. speedof 0.048 meters per second. How E g 3 ﬁ © N O 0 0 © 0 i O o o & W
How much willit cost to fill the tank at long isa tape that can play for 30 T bl - ‘ c
$1.30 per gallon? minutes? - o~ o 1< @@@@@@@@@@@@@
$ ‘|-3b 8614 m
TOPIC 49 Multiplyng Decimals Zeros mthePodit ~ 9-40
B-39 TORC 4-c Multplying Decimals
W@ Dy Some Peop& f&ep with Hain Rollou?
Do each exercise mentally and find your answer in the adjacent answer column. ° ] §
Write the letter of the exercise in the box containing the number of the answer. @ 3z 3 S w ®
g 8 S 9 o 2 8 N
* o s o © e 5 8 85| 838
Write each product. 0.35 Write each product. @ 0.024 vg‘f} " @. .‘ .@ ..
® 0ax04 0,12  @oos i [Doz2xs LL ® 24 $§ = I i 2% s w w s B
4 © £ @ 5 N N~ ¥ @ o § W W
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0
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4 35 —
Write each product. @ 0.06 Write each product. 25 2 5%_; E © =3 § E @ ,% o §
S22 Y b 3 3 L) 4 3
® o03x08 0,18  (® o018 @ os5x05 0,25 @) o4 2 sﬁ% éa aé 66 é‘ aa
@ o2x02 0.0 @32 i @ o0s5x005 0.025 0.025 E ise N
€8 | o o |u s R @ @
® 03x03 ©.09 @ 1= ® 05x5 2.5 @® 4 % E%é $ 5582|858 ggi% s 3§
29 @ 7] 2 @ a
® 02x03 ©.06 @ 32 @ osxs0 25 ® 2 g 3:; {00 00 00 :00 00
5qe
® oaxs 3.4 0.00 © o5x0s O 0.0025 g 34£
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© o4xs0 32 @ 42 @ o5x008 0.04 @ 40 g 383
@ osx70 42 (@) 004 ® osdis 4 @ o2s é g-gE 2 O - Imi
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. .
P Why Did Igor Glue His Clock to the Wall?
- Q . (=3 c 9
L. M 3 8 ,w. £ M 2238 S M o @ Estimate each product. Under each exercise, circle the letter of the better choice.
n 832 732%¢3 3 -g 8828 Write this letter in the box containing the number of the exercise.
o
H r g E 4]
E WeoSSZERe853%e ¥ @w?wm 7.8 x4.06 6.2 x 0.81
5 - about 1.2 @muoE 32 @muos 5
Y I Gmgs 12 L about320 H  about 50
@v. e — + Zz
wg © A -0 =2 (&
s2  2Bd 28| ¢ w0 E5 2S£ 0 N w (@) 396 x525 0.42 x 093 0.19 x 0.707
§S 8 - Nol N )T 28-T20 [0 3
£ x| e My 9y 0 22L B3 18 2 v S about2 emUaE 0.4 eng 0.14
e R Y T~ F 28380 - | | =
w %nﬂ @ 6 o~ nmm‘mm.s. - T ®waasmo R about4 B about1.4
m 25 8 g g 23838S ol Y 666 x 5: )
£gs ° - T8 e8iils g2 g @9 6 x 52 4% 0.29 () 484 x$81.95
(A SES on @ o N ¥ x Ee2%3c o Z about 3.5 6&3&8 T_ about $40
28 @¢9 ‘o ; @ 3FGSD <
nw 3 mm I “ £ W m m = .mﬂ 2S¢ m L e ®muc5 35 F  about 280 @mooE $400
- 3 el
n g5 <19 | ey & S e 588263 |q %_
L5t o © OOO® © 8.3 x7.09 0514 x 60.2 (@) ogsx128
m a m m ’ | z @:63 than 56 @ more than 30 K more than 12.8
° -
- m S m o ™ < © 4 L less than 56 R less than 30 Q.mmm than 12.8
Ecd x ~ m oz O 3
558 22| BBy LMy £2T
3% ®s|7x gl T o MEgzElo ol « @p%xg (@) 038 x088 4.1 %209
.a m wm = M M N s 0 e 2 £ & Z 0 more than 0.5 O more than 0.36 \|J more than 800
= " 3 —_ P !
x m m m @ @ < 9w 2 .m 3] m W, -~ —M O less than 0.5 Oiwm than 0.36 M Jess than 800
Se8 2 g5 §8382 [T 2
m %9 LI memm_m - (39 103 x$78 @P?&E () 1.054 x39
A o X n L o ] =N Qos ™ N @
SES RO T NT % s %% Sgsee m -1 5 more than $760 more than $760 more than 3.9
naoo S|, £ o X S EOC
> %2 §°|= 32 87| 3 v 88 2352 | d L less than $760 @s& than $760 N less than 3.9
m $EE  xle EE x| S 5 ° <FEsP5 - .
T ee y
ST, - o T (19) Veal costs $7.19 per pound. Ms. Rutfle (20) Gas costs $1.099 per gallon. Zzyzx
m H m @ @ @ @ @ @ o - 8 . bought 0.82 pound of veal. About how ’ Hunk bought 18.7 gallons. About ho
2% = ity
0go d - much did it cost? much did it cost?
b © © < < 8 8 © o m T2 R about $4 @ about $6 V about $15 @ about $20
-9 3% 3 o ] © 3 I o -8 8 j (2]
P L o o S M @ ¥ N ¥ D > 2
B MW QY . 000 YD en O
m0103$300$10230 [=) 0 12{3 _mmN ,mm._m+ 184 120(11}14]2 |9 Gm_wvm
z ° p _ ~| > wiAS| (J|0(s|T| |elalsiT|I NGl [T]1 M
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B-43 TOPIC 4-. Review: Multpication ToPIC fa g P B-44
&+ n
0 o o . .
o 0 Q s38 9 e Fa What Did the Working Horse
e O & 0 o .
> 2 D RS- %, Get Every Friday?
°04-~8 (%3 © 0o W
(e o i — N Qv.e J 05 Decide whether you would choose mental math, estimation, or a tool {calculator
> e o - < ~ @9 @ L] 9 and/or paper and pencil) to solve each problem. CIRCLE the letter in the appropriate
T S &8 R <o 20 » 2 3 & % &, column next to the problem.
() x5 % x g8 T % |«
= s s & 3 m s T ) Then solve the problem. Find the answer at the bottom of the page and write the
W - a © © @ ® w letter you circled under it
; S EEFELIEE |
I 00006 ] 99990 Ly
L s - Q | s : imati T
b m 0 D A M N O o o Y] () Choose: mental math, m estimation, or tool [ —S m ._-
Sf ($3+53tdal--9o3x2% "5 d
M I PR Y du. 4 4 ._ Susan would like to estimate the width of a lawn. She knows I @ C
8. 00 o 00 &\b. [ % that her stride averages about 0.7 meter. She counts NW
o 22 © 2\ 8§ 88 o 8 z o 2 i 39 strides to cross the lawn. About how wide is it? m
=0 © < © 5 (=3 5
X c¢ s o o § o BN ST S 5 3 — n/@.b 9 |Ared blood cell 0.085 mmin diameter is magnified 100 < LG
© = 2 .m h _n. ] M N o 0 o0 M w times. What is the diameter of the-magnified cell? 8- mm |
= : @ w o % LS - - - -
M .m o S © ©o o o n (4 @ @ @ ® @ ,ocwv w Hector bought 2 shirts at $17.95 each and a pair of pants * .._. I @
o3 I ) at $26.50. The-sales tax was $3.74, How much change
m m m @ ® @ ® @ > 4 [N should he receive from 4 twenty-dollar bilis? g ! 3.8b
s 38 mj %@, O % 4 Ernie ordered 3 buckets of fried chicken at $11.95 each NIY B
> e o -+ W O A and 5 pints of cole slaw at $2.19 each. The sales tax 50
m e N . .auLv Mo S &) was $3.04. About how much did his order cost? $ 7
c'D I
] - 3 ~ <0 Ms. Hugmee makes teddy bears. She uses 0.26 m of
4 39 e 9 AN o 8 8 o u 5 ribbon and 1.2 kg of stuffing for each bear. Howmuch o ¢ @ TE
N =g 1™ 90 & 22 2 s o ribbon does she need for 10 bears? : m
D 2o x b3 2 x X X X X
= 52 o~ < o © o 1 < - 0 Mike worked 2.25 hours on Monday, 2.5 hours on _\m P @
% y;m R - ) ) ) w w w w w Wednesday, and 4.75 hours on Saturday. He earns m@ 4 o
wl S5 9_ n_v m 0_ ,_u s « @ N N «© $6.20 an hour. How much did he earn in all? $ ‘
98 | S0 T T N0 2 ° S ° ° 7 [ Video World sefls an RGA VHS VCR, Model Q. for $487.50. However, | A E)[ O
o mm @ ® @ ® @ (\ 9, @ @ @ @ @ the store offers a discount of 0.03 of the price if you pay 1S
< 23 o ﬁ cash. About how much would you save by paying cash? $
+~ T 9 | i
X > Earth travels around the sun at a speed of 18.5 miles >
n MM W P o m per second. How far do we travel every hour? gs oo mi \_n.vr m @
— 59 )
s9 ~ N\ - G WORLD RECORD: Peter Dowdesdale ate 62 kes, b AEV
= 9 : Peter Dowdesdale ate 62 pancakes, buttered
- g 2 o 3 -+ a.u 5 ﬁJ «,A? . em ol (o} ﬂw w and with syrup, in 6 minutes 58.5 seconds. Each pancake —A X
© 08 | 25 -9 & [VNF mg ' =0 [ was 6 inches in diameter and 0.3 in.thick. If all 62 8.6
W < . FUI & o - T pancakes were stacked, how high would the stack be? 'O i
- N~ ° ] - e
I e AR I
@ m + + o |2 @ o+ 1+ 1 ﬁio 13.86 |64,800| 186 (58.90 | 50 |12.66 (66,600 28 | 15 | 85 | 26 | 168
o [} (-] ©w o el o [} - -
< 5, ———
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What Did G ok Do With His NewHelicopter?

Do each exercise below. Draw a straight fine connecting the square by the exercise
to the square by its answer. The line will cross a number and a letter. Write the letter
in the matching numbered box at the battom of the page.

(1) a9+854+127 3.3

(2) 16.95-7.38 0.0952

(3) 516+9.2+30 2,646

(3) 80-447

26.14

(3 381x06 1.895
29.4 % 0.09 0.20428

@ 05107x04 51.3
832x35 957

(® (416+6)x 0002 0.324

(1349-9.7)x 05 ¥

(1) 04x04x04

210.1
6.4

(12) 0.63x 9,000 0064
(® 7.6x(7-0.25) 44.36
0.18x0.18x 10 984.93

(i8) 944+326+8.33 990

(8001-5.9)x 100
() (10-0.1)x10x 10
(0.08)2 x 1,000

(05+0.5)x 983.33 #

983.33
2.286
5.670
2912

1]2 )3
HE|ToO FIo|RIAISIP[I N
H T OuUT A SPI

B-47 TOPC 4k Review: Addiion Sutraction, Multiplication
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-k: Review:
Addition, Subtraction, Multiplication

NOTE: This is a challenging puzzle. There is, of course, a range of
reasonable estimates for each exercise. You may want to work through the
puzzle with the class and discussthe quality of different estimates.

How Much Did Dorque Pay For Two Dead Batteries?

For each exercise, write an estimate of the answer. On the number line é

under the exercise, find a point near your estimate. Write the letter of the
exercise on the number line at that point.

What Did Arf the Dog Give His Master for His Birthday?

Do each exercise and find your answer in the rectangle below. Cross out the box that

contains your answer. When you finish, write the letters from the remaining boxesin
the spaces at the bottom of the page.

more space does the new refrigerator have? 2.6 e¢w

1 Iggy Snerd loves his new refrigerator, because Iggy loves to eat. His old refrigerator
had 17.6 cubic feet of storags space, but the new one has 20.2 cubic feet. How much

he agreed to pay $28.50 each month for the next 24 months.
A. What will be the total of the 24 monthly payments? * 98 ‘+

B. How much will Iggy pay for the refrigerator altogether? ﬁ 83‘{'

2 Iggy bought the refrigerator on a payment plan. He paid $150 when he bought it, and

3 Each wall of the refrigerator has two layers of steel with a layer of wall
insulation between them. Each layer of stee! is 0.074 in. thick, and the
insulation is 0.45 in. thick. How thick are the walls of the refrigerator? (o} 59?# n.

4 The refrigerator, naturally, has a door. Bolts 0.625 in. long go through hinges 0.13 in.

refrigerator? $ 8.7

thick and into the refrigerator cabinet. How far does each bolt go into the cabinet? 0., 495 iT .

5 The retrigeratar is expected to use 120 kilowatt-hours of electricity each month. If the
electric rate is 7,3¢ per kilowatt-hour, how much will it cost per month to operate the

per pound. He also bought 5.4 pounds of potatoes at 43¢ per pound.

C. What was the cost of the chicken and potatoes together? $7‘ '70

6 For dinner lggy bought a barbecued chicken. It weighed 1.81 pounds and cost $2.79

A. What was the cost of the chicken? (Round to the nearest cent.) $505
B. What was the cost of the potatoes? (Round to the nearest cent.) f 2.5

W) 276+3025 10 ®6xa89 30
(®) 148-49.375 100 (@) 28x343 10
(H) 09x245 20 (&) 321+875+40 BQ
® In the diving competition Greg scored ® A car repair rate book lists 2.75 hours
754.41 points Igor scored 712.18 as the time needed to tune up an
points. About how many more points B—cylinde%%aér.sl(v)the hourly labor
did Greg score than Igor? chargeis .50, about how much
4o will a tuneup cost? s 90
T H E Y w E R E
1 1 | 1 ] ]
0 10 20 30 40 50 60 70 80 90 100
(®) 8.04-389 *+ @) 03069 2
(E) 9625+0057 1O ) 207x34 7
14.706-13.88 | (€) 617+092+2.25 9
Sarah bought a lavender sweater with a Jack and Jill ate dinner at The Hill Grill.
duck design for $49.50. The sales tax The bill was $38.15 They lefl about 0.2
was 0.06 of the price. About how much of the bill as a tip. How much did gey
was the tax? 3 3 leave? $
‘ =4 T H F R E E
0 1 2 3 4 5 6 7 8 9 1 0
@ 721010407 ® o32+toou+os7 1.0
(©) 091-0380.5 (®) 206x005 @1 1
(© 029031 0.9 (F) 0615-0393 0., 2
@ The bottom of a pan is steel with a layer ® Ms Marblebought a chocolate bar that
of aluminum bonded to it. The steel is weighed 2.16 ounces Charlie Marble
0.409 cm thick. The aluminumis 0.178 ate about 0.4 of the chocolate when she
cm thick. About how thick is the bottom wasn't looking. About how my chgid
of the pan? C.b om Charlie eat? ' oz
Qo F c #H A R G E
| 1 1 1 i i
0 01 0.2 0.3 04 0.5 0.6 0.7 0.8 0.9 10
_ TOPC 4-1: Review'
8-49 Estimating SUTS Differencesad Producs

fluid ounces. How many ounces of juice did lggy get altogether? 6 2., § 0 Z

[ ~]

Iggy also bought a 6-pack of fruit juice for $2.80. Each of the 6 cartons contained 8.7!

|

deluxe brand was sold only in quarts and cost $2.79 per quart.

—
o
1|

iggy bought ice cream for dessert. The store brand cost $3.89 for a half gallon. The

A. How much did a half gallon (2 quarts) of the deluxe brand cost? $5.58
B. Iggy bought a half gallon of the store brand. How much did he save?$ (_69

AP () Al
528 5. .6 1. $2.19 r598, A $4.48

RO FP AN S| TS
$794 Lo495N | 5380z | 3.4t 0.535 in.

PAIRIOFPARTE
A PAIR OF PANTS
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What Did Kate Call Her Twin Sister?

Solve each problem below. Find your answer in the answer column and notice the letter next
to it. Look for this ietterin the string of letters near the bottom of the page and CROSSIT OUT
eachtime it appears. When you finish, write the remaining letters in the rectangle at the
bottom of the page.

The Macmillanfamily bought three bicycles last year. Two of them %
were 10-speed racing bikes that cost $189.50 each. The third was
a touring model that cost $135.75. How much did the three bikes
cost altogether?8 S 14, 75

Answers

(@ 760km
& (D s36.94
(\1 4.12 mph :
(:\1 W) ss0.2mi
®© 122t

§ (N) 810 km
g () 309851 ::
{ () $514.75 ]

@ The record speed for a bicycle with one rider is 58.64 miles per hour.
The record for a bicycle with two ridersis 62.92 milesper hour. How
much faster was the bicycle with tworiders?% , 28 rmph

@ On May 23, 1932, Hubert Oppermanset a 24-hour record for
distance on a bicycle. He rode for 24 hours at an average speed of
35.8 miles per hour. How far did he travel? 8§69 ,2 m i

Ms. Wink boughta helmet for $37.95, a lock for $12.39, and a
pump for $8.50. The tax was $3,8 2 How much change did she
receive from 2 fifty-dollar bills? 37, 3l+

Cycle World sells bicycle tire tubes at $4.95 each or in a package
of 3 tubes for $12.5. How much do you save by buying the
package of three? §$ 2., 3

Bill works at Two-TiredBike Shop after school. He works 1.75
hours each day Monday through Thursday and 1.5 hours on
Friday. If Bill is paid $5.40 per hour, how much does he earnin a
week? g §S,

Michelle fives 2.7 km from school. Last year she made 150 round-trips
from her home to school and back, riding her bike How far did she

ride altogether? & | © &

Vincentbought a bicycle that weighed 29 Ib. He also bought a rack
that weighed 1.3 Ib, a mirror that weighed 0.24 Ib, and a lock that
weighed 0.625Ib. How much did the bike weigh with these
accessoriesattachedto it? 31a | &S |‘g

In lowest gear on a 10-speed bike, each turn of the pedals makes
the wheels turn 3.4 times. In highest gear, each turn of the pedals ¢
makes the wheels turn 1.8 times. With each turn of the wheels, the <

bike travels 6.5 feet. How much farther does the bike travel with C} @ $48.60
each turn of the pedals in lowest gear than in highestgear?@, 4 ‘Ffw‘ T T T

AMARAL DB/ UM PAA LA 1A cCAR AAATHAA EAX
ANSWER TO PUZZLE: PUPLICATE. I

® @ ® @

O]
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How Can You Get Ridof VARNISH?

Use the informationin the advertisementto find the total cost of each purchase. Write
the letter of the exercise in the box containing the answer.

Fourth of July Party Supplies
plates k¥ party hats fireworks
$1.70 pack 32¢ each $18 box
Coamr 2
milbes,
@@ @RSy
crepe paper
cups ] 0 S
$1.49 pack $2.10 1o balloons
$1.25 pack
Americanflags
I - {poster board)
arge  $8.75 $3.50
2 packs of plates and a 4 boxes of fireworks and
@ large American flag $ '_2;‘5 @ 10 Liberty Belis $ 17

A Liberty Bell and 3 rolls of

Apack of plates, a pack of
crepe paper $ 9 80

cups, and 8 party hats $ 5___‘ 75
6 rolls of crepe paper and a
® Broant 418.60

@ 8 medium American flags 6
$ _" medium American flag

and a box of fireworks

@ 5 packs of plates and

® 20 packs of balloons and a
5 packs of cups §1=-95

box of fireworks sH3

9 packs of balloons and Apack of cups and a dozen
® 2 rolls of crepe paper $ 15.45 ® party hats $ i.jj
® 24 party hats $ 1.68 @ 100 small Americanflags ~ $ 245
575 | 1595 [43 (66 |17 | 1215 | 295 | 107 | 1545 | 52| 9.80 | 18.60 | 7.68 | 5.47 ‘ 533
A ATWIAY [T |H E| R

o e oo, 8-52

Why Did Bongo Quit Playing t he Piano?

Weekday Long Distance Direct Dial Telephone Rates
8AM. t05pPM. 5PM to 11 PM 11 PM to 8 AM
Each Each Each
First additional First additonal First additional
TO minute minute minute minute minute minyte
Aflanta. GA $038 02 0z $023 $018 $015
Detroit, Ml 027 021 018 014 011 007
Kansas City, MO 040 033 026 o2 0.7 013
Los Angeles, QA 0t 02 036
Miami. FL. 0.36 0.31 . 010
Richmond, \A 0 025 022 016 s

016
0.08
The table shows long distance rates from a city in New York. Use the table to solve

each problem. Find your answer at the bottom of the page and write the ietter of the
problemabove it.

@ How much does it cost to call Atlanta for

@ What is the weekday rate for the first
4 minutes on Monday at 10:20 A.Mg I 34

minute to Detroitat 9 AM.2S @, 27

® How muchdoes it cost to call Los

Angeles for 5 minutes on Friday
2:45pm.2 %2.19

@ What is the weekday rate forfe first
minute to Miami at 7:30 Pm2 )O. 3 |

@ What s the weekday rate for each
additionalminute to Atlanta gt 3 P.m.? How much does it cost to call Miami for
% . 9 minuteson Wednesday at 6:10 Pgl."
What is the weekday rate for each 2.3)
additional minute to Los Angeles at How much does it cost to call Atlanta for
11:30 PM.? g
How much does it cost to call Richmond

® On Saturday the rate is the same all
for 2 minutes on a weekday,at 10 A.M.7
0.57

day. ltis the same as the 11 p.m. to

8 am. weekdayrate. How much does it

How much does it cost to call Kansas cost to call Richmond for 15 mimge? 05

City for 2 minutes on a wegkday at Saturday? . 8

915 PMm? % .

® How much more would a lo-minute
weekday call to Kansas City cost at

@ How much does it cost to call Detroit for
noon than at midnight? $ 2 .03

2 minutes on Tuesday at 6:40 AM.?

He] wials] Jklelx] PloRED

S o 0 e e o M (0 e 0 e o Lo
% CVE VL VA& LT L 7L VL VL

B-53 TOPC 4-p Problem Seiving Using Dt From a Tabe

o.l 31 minutes on Thursday at 1:25 A M,?
L VALY 68

What Do Archery Experts Do to Stay in Shape?

Weekday Long Distance Direct Dial Telephone Rates
[ 8am lo5PM 5PM to 11 PM 11PM to 8 AM
Each Each Each
First additional First additional First additional
TO minute minute minute minute minute minute

Chicago.IL $04 $0.37 031 $028 $019 $016
Dallas. TX 041 034 029 024 018 015
Denver. QO 036 030 05 021 016 013
Honolulu. HI 062 0 04 037 027 023
Las Vegas, NV 0.29 0.24 020 0.17 013 0.1
New Yok NY 048 040 04 028 021 018
Seattle. WA 035 029 024 020 015 012

The table shows long distance rates from a city in California. Use the table to solve
each problem. Circle your answers in the answer column. When you finish, write the
letters in order from the letter of the smallest correct answer to'the letter of the largest
correct answer.

Joe Green made a 4-minute cgll to New, York on Monday at 10 A.m. What
was the charge for the call? % |- G\é

@ Ms. Marek made a 7-minute call to nﬁlul&og.Wednesday at7 p.m.
What was the charge for the call? 2.

@ Dr. Ship called her sister in Seattle on Thursday at 2:30 p.m. The call was
15 minuteslong What was the charge for the call? '

@ Robertcalled his fatherin Dallas at 11:20 pm. on Tuesday. The cali was
21 minutes fong. How much did the call cost? % 3,1 é

Mr. Brown called a friend in Chicago on Friday. The call began at
9:30 Pm. and ended at 9:43 p.m. How much did the call cost? §3. 43

Mrs. Mitchell called her old math teacher in Las Vegas on Wednesday.
The call began at 6:57 a.m. and ended at 7:16 AM. What was the charge
for the call? ;2 A1

Max made a 9-minute call to Denver on Monday at 4 p.M. How ghuch
would he have saved by waiting until 8 PM to make the call? ©:83
Zorna made a 51-minute call to her boyfriend in New York on Thursday at
9:35 p.v. How mugh would she have saved by waiting until after 11 p.m. to
make the call? ; 5.3

On Saturday the rate is the same all day. It is the same as the 11 Pm. to

8 AM. weekdagate. Find the cost of an 11-minute call te Honoluluon

Saturday. '
Letter of smallest =) [A lp\ RO W[BT1 |c[S |&= Letterofjargest
correct gnswer correct answer

TOPCa-p ProbiemSolving Using DetaFomaTabe  8-54
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NOTE: This puzzle will facilitate discussionof (a) divisionon a calculator and
(b) the need to round decimal quotients. It will help students understand why

there is so much variationin the number of digits displayed in calculator
DAFFYNITION DECODER quotients I PRy

Doughnut:_c__%&_z.__\%_%%_zﬂa_ﬁési_&_ Wha:DOYOU Ca”aROWOf La’@
0.32 0.0666 25 4.26 5604 23 0.13 2. .38 0.0 0.94 0.0666 : H
Animals Separating Two Yards?
Coffee: B_ _E_ E é_ L . F i v 1 L When dividing on a calculator, the quotient often has so many digits that it fills the
0.13 0.0666 0.94 25 0.0092 5723 0.079 5.718 70.7 0.082 0.27 display. But sometimesit does not. Do you know why?
Meteorite: A 5 P C E C Your answers for this puzzle will look like those from an 8-digit calculator.

25 4680 805 4695 25 032 094 429 032 613 0.082 4695 For each exercise, keep dividing until either (a) you have 8 digits in your quotient, or

{b) you get aremainder of 0. Do not round your answer. Then look for the last digit of
your answer in the CODE KEY and notice the letter below it. Write this letter in the
box containingthe number of the exercise.

5.2857142 27. 1 b6bbb 3.9715
@ 73;.ooooooo (@ 67163,000000 (@ 41;_.900
3 12 J

29 ) 32

TO DECODE THESE THREE DAFFYNITIONS:

Do each exercise below and find your answer in the code. Each time the answer
appears, write the letter of the exercise above it.

@4%?5?26 @7{5%%55 @s%fgf} @9%’.%37

{o
3 e 3
40 36 20
A 5.604 0.682 0.079 35 _ Yo 20
®) 84904 Q) 36812 () 90738 (F) 5/6:385 50 36 o
4 4o
10 36_
4o
;0 26
O
28 £
2556+ 6 L. 2828+4 7O 7 156+12 @, 1 24 +19 !
© +2e @ T .13 ® 1.2631578 ® 0 49625
© 2092 ® o1 . (K) 00738 ® 25, o ® 4 @ 85 p
5,718 0.0bbe” T 0.0092 12 W,75 1S.38461S
® Mr. and Mrs. Motor spent 5 nights at @ A box containing 18 holiday greeting 3.5833333 ' :
the Dew Drop Inn. They paid a total of cards in 3 different designs sold for last digit of answer: ]
$234.75. What was the cost per night? $5.76. What was the costper card? rcise number:
$46.95 5%_& Code1234lse7aa 712151418171 6713
Keyuwcs\ELPFAE‘LE'FENCE-

6-55 TOPIC 5@ Dmiding a Decimal by a\Whoe Nurber
TOPC 5-a: Dividing a Decimally aWhoe Number B-56

What | sUsed For Agtronaut Sandwiches? - - - N
m 0 - < oy (= ~
Do each exerciseand find your answer in the rocket. Cross out the © ,.J g 3 s R 8 3 =Y 3
letter next to each correct answer. When you finish, the answer to the d e ©° ~ e e o e @
\Q title question will remain. < < 0 @ . 0 ‘ c @ c
- D ™~
Q For exercises 1-5, round to the nearest tenth. L0 o 2 o e = [T
| [ QQ_ © - 8 Q - o= R < 3 = E S 2
- r_,;i by 5 o o 5 ® 9 s 3 9 g S
@ K @ 5131.47 @ d* Qm o S o o X~ o ¥ o <« 8 8 o
0.2 -
N Iy 000 ©00 06C 000
a - ~ ~a Ty _JE’, mM mnc ~ ~ v?
N $3.21 ~ o '-g 2 5‘8 5(8 3.[9 3le gg 2|8
~qg | 37 ™ E RN M e - 8"
w | 49 ‘;? il &L v) 2 o
g | 7an 656+9 72.9 (®36+17 0.2z ] |« Z8 9g - o] B o0x
< Q ° w 0 =3 5 5
W g | s0e7 ) = 2 o | = =8 "\8 8 Ze 28
z For exercises 6-10, round to the nearest hundredth or nearest cent. o7 Q.‘ = =] o= = 2R 32 g~ &F
s | 3158 3 .29 . - il {
)“5‘1 Q
5 — OLLIE @71‘5% () 3lis2 .3 . o o ~ Py
3
z 2
0.233 & [ © «@
g = 22 ~ & ] @1 e 8 2
|52 S pi3 ] ] 3 ¢ g
<« § £59 =1 o o LS
~ 7.426 £o8 6
o 3 |00 e 0@
Z s N 5 5|25} g
0.48 - - cui ~ « Q 6 © o @
Q - (®3875+8 g. 4R (9 $46.96+15 £3 13 g g2 S 88| _ _8|¢gs28|83c¢8
S | 53 )
S e For exercises 11-14, round to the nearest thousandth. >’4 §§§ 6 @ é c c @ O O O @ O
N o P=
o 64 (1) 86.7+9 7 |\ (2 31+6 5,167 ggs e S
= (139 5.6 (4) 22 g8 S S
< | 60.74 Ty 0.233% F3.143 *§ 522 " S S
85§ - 2 2
>
~ 2 a2 | s idDgg
— | a5 A monthly magazine charges Ms. Shoe had 51 ounces of i5 ~£5 dc? g 9 Z '; =4 2 lo 8 S 8 Eg
N LE $38.50 for a one-year sub- Nuclear Fizz punch to share 28 5 22 xglj2e 8 + |7 T T S ¥
a1 87 scription (12 issues). What is among her 8 children. How .:- S z R oy ‘; 8 © © © © o =]
the cost for eachissue? many ounces did each child gL s "; (’; Z N 2 8 = g. g 3 g 2 S 8
g | 3143 (Roundto the nearest cent.) get? (Round to the nearest E 'é £ LR R I - -
0.1 ounce. 2582
~q | 8213 $3.21 '6.4 328 [— o~ P - J
1 TOPC 5-¢- Menial Veh
B.57 TORCs D"”d‘"gansc'"'a;&ni,‘::’ e m, Divicing by 10100 &L 1000 8-58
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NOTE: It is necessary to annex zeros in the dividend for some of these

How Much Does the Aver age Dr agon Weigh? exercises, beginning with #6.

Do each exercise mentally and find your answer at the right. Write the letter of the

answer in the box cgntaining the number of the exercise. How Would You Descr |be Wa.nda Farr Afta
She Met 3 Lions Deep in the Jungle?

(@) ssaxt0 @ 85
84 p (M ossa (M) 854
®est~10T 100 D ssa (D) 0.0854

31.7+100 E 31.7 3,170 0.0317
=L B
31.7 x 100 1,000 0317 317
® P ® ®

(@ os4of 1o @ os 5 ®) o () oox

|«

3.6

0.94 of 1,000 P 10 @ o0 (W) o4
5280+ 100 O @ 5,280 W @ 528 @ 52.8 Do the exercises below and find your answers in the rectangie. ShaFe ir! gct(aEre% TEN )
@ 5280 x 100 N 1,000 @ 528 @ 528.000 containinga correct answer. You wiIIdiscoverwhal happened to Wanda!
OFZ 528 @09024 @12 5 (®) 0.0710.476
() 3.14150 x 1,000 ® 314158 (D 214150 (B) 0.0314150
314159 x 10 O 100 © s14159 (H) 3.141.58
062701100 E (@) o7 A (®) ooszr (1) o.00627
1,000 2.9 2
@ oezr+10 Y ® 627 (& oooszr ® 00a2s ® 00sTIAHE (?) 0.0081CFZ 5 (3) 0.006[T2&E. 4
$350x10 D @) sas0 o (©) s3500 (8) $350.00
@9 $3.50 x 1,000 F 10 © s035  (F) $350000
(@) 66.66 + 1,000 R @ ssss U © 6666 (D) 0.6666
@) 1006666 | 160 (® 6666  (R) 0.06666 (3 208+16 1.2 (i) 0.1092-+0210.52 (1) 58581-0.009 6,509
0.24 0 038 7 46 1 316
@ 7x10 @ 1 80007 %7000 ®0°95 25 O 0076. 543 250158 0.0
1000 X7 (~ 1,000 A package of M&M's® candies contains @ A machine uses 25 liters of fuel each
5 colors of M&M's and weighs 1.68 oz. ?Bur Ii)ruTSItsff\ue' tall1k V\:iaSmeEd WIlP:j
I each candy weighs 0.03 0z, how L, but 1.5 L have alreadybeen used.
Il |;—| EIAEDE (;‘ISI;llOIJ:lll‘ZJ]]:lMIl;llEﬁIz‘l;ifilélm‘ﬂlifil%l%fﬁl; many are in the package? 56 How many more hours will the machine
(<] [+] Flo UINC un? 3, uf
IT DEPENDS ON WHO HE HAD FOR LUNCH
TOPIC 5-d; Mental Math Review: TOPIC §-&* Dividing Decimals B-60
8-59 Multiplying and Dividing by 10, 100 and 1000
] D d You Hear About
3 A E F
0 THE DRUMMER wrio THOUQHT THAT | Someg
@ o |8 G K L
ola °lg PERLUSSION lemuM 5 ARE DlFFlcm.T TO PLAY
- M N S P
N ® g ﬂ BUT  |oTHERs |ARE |cYmBal 7 7?7 ? 7 J]_(
= |8 Do each exercise. Round your answer as indicated and find it in the appropriate answer
[5) 0 O|lg column. Notice the word under the answer. Write this word in the box containingthe letter of
the exercise.
E ~ O o> . wn
v wis o 5 g Round to the nearesttenth.
g d JUp— Al CP:
L] o S S N ; 6rs.A-i-i:- 29 7.3 nwers
5 S o .k s (@ 8li72 0.9]6.58
@
< 46 1.3 4.6 $0.15
2 @ 2 THOUGHT @ 0.4j0.515 @ 7732 DRUMS
> 2 0 ~ 58.42 16.8 3.3 36.3
= 52 S o 55 _PLAYERS  (®) 008734 ® 1555 ARE
b ® Wni§ o 33 0.38
E E g NE Nc o ‘ SOME Round to the nearest hundredth or nearest cent. 6 DIFFICULT
85 add o) b 13 ,73 58 .4 $43.91
g 58 g 8 = “ wio ® 3 295.2 (@) 0.7740.533 MUSICAL
> c o e
) 2 2 7.4 8 .96 0.38 $7.07
= ti © NS g PEOPLE Q@) 0.06705077 @87 PLAY
£ 3 58.48 6.154
g 3% -0 21~16 INSTRUMENTS 43.9¢ $7.07 WITH
5 g% gt sl 25 (K) 5/3219.82 © 12158480 5.46
4 =1 3
= ; 2 3 W o §o THE Round to the nearest thousandth. | ARE |
g 55 ) 5 - 978 6.159 22.222 22222
s g 8 8 £18/3 |_BAO ) (W) 915543 ®) 0.018704 OTHERS
g3 158 $7.02
9 553 ® ® - | w THAT | Solve. BEAT
ﬁ g LE> é | E < .5 @ A jet travels 0.4 mile for each gallon of fuel. It $0.18
> 88 3 FROM has enough fuel left to travel 14.5 miles. How CYMBAL
[~ : & ) ~ 7.3 many gallons of fuel does it have? (Roundto the 8.49
= 5 g2 o-ﬁ E12 DRUMMER nearest0.1gallon) 36,3 HAVE
= FoE .= - T saase |
Q 38 2 ?ﬂ- u’;: Tie 3 H‘;\?E When you buy a dozen bagels for $2.39, you get sf(‘)g o
> 552 —|o 3 © L an additional bagel free. What is your cost per
"o T. 8 9.73 bagel? (Round to the nearest cent.) $O I8 36.9
é g3 o ® 8 PERCUSSION L STICKS
g5 2 <
Lo

TOPIC 5-f: Dividing Decimals. Rounding the Quotient  B~62
6-61  TOPIC 5+ Dividing Decimals. Rounding the Quotient
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What Did The Farmer Say To the Cow

Late at Night?

Use compatible numbersto estimate each quotient. Think of numbers that are easy
to divide and close to the actual numbers. Under each exercise, circle the letter of the
best estimate. Write this letter in the box containing the number of the exercise.

() 6054+29

H about 20

@abcul 2

() s57+34

K about 120

@abuut 12

@ 322748
Oahout 40

O about4

@ s19+42
@about 20

(6) 3520 +714

P about5

(6) 4303376
@about 7

Y about200 N about9 @abautso
6,190
@ 1468 7475 ® 25 32625
@abou(S (Dabout 75 C about 60 (B)avouto.3
J about8 W about 750 @abouteoo H about0.5
23.47
@ 12 ® gy ® 150 35
@aboulg Oabcut 40 G about 2 about 6
L about80 O about 70 about 20 N about9

@ Max Bogg drove 158.5 miles at an
average speed of 40 miles per hour.

About how many hours
take?

@about 4h

K about7h

Pany Wack drove 311 miles and used
10.4 gallons of gasoline. About how
many miles did she travel on each
gallon?

V about 20 mi ®abcut30mi

did the trip

@ Heavy Metals, Inc. bought 59.2
pounds of 12-gauge steel for $293.04.

. Buff Hunk worked 15 days and earned
$798.25. He earns $7.75 an hour.

NOTE: Students are asked only to choose the operation needed to solve
each problem. They should be choosing an operation based on the meaning

of the problem, rather than just choosing a reasonableanswer; therefore
answers are omitted.

Math Without Computing

3 x0.25
20x0.5

3+
20+05

0.25

025+3
05+20

Each of these problems can be solved by doing one of the computationsin the box
above. Next to each problem, write the computation needed to solve it.

1 Arunning trackis 0.25 mi long. How

many laps around the track are
necessarytorun3 mi? 3 = Q.25
Osgood bought 20 candy bars at $0.50
each. How much did he pay for the candy

bars? 20 Xx0.5

Bubbles Mirth and two of her friends
bought a bonle containing 0.25 L of root
beer. If they divide it equally, how much
willeachpersonget? @, 25 = 3

Each super chocolate kiss weighs 0.5 oz.
How many kisses can be made from 20

? .
oz of chocolate? 20 +0.5

Paper Plus is having a sale on school
supplies. The discountis 0.25 of the
regular price. How much would you save

on a $3 notebook?
3 x0.25

Apack of constructionpaper is 0.5 cm
thick. I there are 20 sheets of paper in
the pack, how thick is each S_heet?

12

It took Rolex 20 days to write his
dinosaurreport. He wrote half a page
each day. How long was the report?

Twenty pounds%f?age(vpvs' a%.e packed
into cans. Each can holds half a pound.
How many cans are filled?

) 20+0.5
Whatis the cost of 3 pounds of
potatoes at 25¢ per pound?

3x0.2
Ascale model of & sailboat is 20 cm
long. Each centimeteron the modelis
0.5 mon the actual boat. How long is
the actual boat?
0x0.5

An anteloperan 3 milesin 0.25 hour.
What was its average speed in miles

per hour? 3 ‘T o. zs.

A string of outdoor lights is supported
by 21 equally-spaced posts. If the
distance from the first post to the last
post is 0.5 km, how far apart are the
posts?

Abouthow much did they pay per About how many hours did he work? . - a.5 —."ZO
pound? Ms. Burger bought a 3-pound package of A window is made using 2 panes of
ground beef. She divided it into 0.25-
@aboulSS R about $8 L about70h @about 100h pound patties. How many patties did she slzmsesFhargtasbis ardhautathigaiand
make? \ the separation between panesiis also
I 1216 1219 [14]4]18] L] 7 116]1]13]10][17]3]8]15]5 I ’ 3 +0,25 0.25 cm. Howthickisthewindusw’?
Three diamonds together weigh 0.25 ¥ 0.2
LT ! s P A 5 TV R E B E D T MlE carat. What is the average weight of the 16 Amath workbool??s 0.5 in. thick. How
1T 1S PASTURE BEDTIME diamonds? 0.25 = many of these books wil fit on a shelf
8-63  TOPIC 5.9: Esiimating Quotients: CompatbleNumbers : -3 thats 201in. Iong?zo L0.5
TORC 5h Problem Sotng: CHOCEE the Operation ~~ B-64
- o3 §
What | s theTitle? . . o |
- So 3835 52 $38388% |lw
TO DECODE THE TITLE <6 ¥IB 328, $3 38R IT,
OF THIS PICTURE: g -w e e moeo s awn NS gl
[ ok 2 _ od 4 e < T X -
Do each exercise and find your answer 3 :5 ®# 00 J0F o «< v O Wdon [0
in the appropriate answer column. 2 é’a = T
Notice the symbolnext to the answer. /1] g a n W o
Each time this symbolappearsin the Y ] M . Eo
code, write the letter of the exercise 'E 5% T ™~ IE &= <o w
aboveit. S a e g o Z§§§E tv— ﬁ
s 82 =10 + m g6eocd
CODED TITLE: e 55 ® ~ - goszhe (1| 10
€% 32 uw ¥ w .~ zopisé T
TOP VIEW OF ALL 20 g5 -0 o ¥8 m T Fhgiiv =y
zz ec $6 \\ ## =a 77 °' [] 8¢ . xx 17 °-‘3 3; - s = o x + 2°5 82N 4 oY
. n A e
M LSSING A DI Ho Q08 Y8 m gl g .o fftsEN|«T|F
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Who Put the Periodsin the Dr. Seuss Books?

Solve each problem below. (When you divide, unless otherwise stated, round the
quotientto the nearest tenth.) Find each answer at the bottom of the page and cross
out the letters above it. Whenyou finish, the answer to the title question wili remain.

1 The Factor family drove from Arizonato
Malibu, California, to spend a week at
the beach. They drove 421 milesin 9
hours. Whatwas their average speedin

miles per hour?
H:Q 5 mph

2 After driving three hours, the Factors
stopped for lunch. The bill for 4
hamburgersand 4 milkshakes was
$12.65. How much change did Ms.
Factor receive froma $20 hsi“’)

3 Mr. Factor bought 9.8 gallons of gasoline
at $1.15 a gallon. How much did he pay

for the gasoline?
$11.27

4. The Factorsrented a condominium
about 3 blocks from the beach for
$127.50 per night. If they stayed 6
nights, how much did they pay for the

condominium? s Iﬂ 5

5. One night Ms. Factor baked chocolate
chip cookies. She used a 20-ounce
package of cookie dough to make 3
dozen cookies. What was the average

7. One evening Julie Factor went running
on the beach. She ran 3.4 miles in 40
minutes. What was her average time for

each mile?
11,8 min

On 4 days Jim Factor went swimming in
the ocean. The chart shows how far he
swam each day. How far did he swim

altogether?
175 m
05mi

5.75 mi

One day the Factors went deep-sea
fishing. Mr. Factor caught a fish that
weighed 8.75 pounds. Julie caught one
that weighed 10.3 pounds. How much
heavier was Julie's fish?

1.55 b

©

Sunday

15mi Thursday
Monday

2m Saturday

o

10. The Factors shot 5 rolls of film with 36

exposures on each roll. It cost $14.85 to
process each roll. How much did it cost
for each exposure? (Round to the
nearestcent.)

weight of each cookie? 5 O.%]
0z I
6. One afternoon at the beach, Jim and 11 Their favorite photograph was of Jim
Julie Factor buried Mr. Factor with sand. Factor falling off a surfboard. The
They used 45 pails of sand to do the job. original print was 3.5 inches wide and 5
If a pail holds 65 pounds of sand, how . inches long, but they had it blown up to
many pounds of sand were poured on poster size. If the poster was 6.2 times
Mr. Factor? wider than the photo, how wide was it?
292, 5 b . in.
M sD ot TE | RS |
D[ o7 D] 7= PP e P
1.27|5.75 | 0.6 |14.7 |21.7 1488 | 710 0.44271 5| 765 | 11.8 |10.97| 1.565 | 7.35 | 0.48 |292.5
H1S DOTTERS
B-67 TOPIC 5: Problem Sotving: one-step Probles

NOTE: These problems relate to hobbies or special interests. Students may
findthem quite challenging.

Where Do Generals Keegp Their Armies?

Solve each problem below and find your solutionin the answer column. Write
the letter of the answer in each box containing the number of the probiem.

@ Daphne bought 3 paintbrushes at $4.25 each. an easel for
$30.00, and 8 tubes of paint at $2.95 each How much money

did she spend altogether? $ 66.35

* Answers
Roberto needs 10 kilogramsof clay for a ceramic project. He * @ 16L
already has three pieces that weigh 1.3 kg. 2.4 kg, and 0.9 kg. : .
How much more clay does he need? 5 14 * 4.9 ke

kg P OREL

Sing Lu jogs around a park near her house 3 times a week. The .
distance around the park is 0.8 mile How many laps around the * 0 24
park are necessaryto run 6 miles? -7, Y * 18

*
Karen's hobby is chemistry. For one experimentshe used 3 : ® 16.7 min
liters of water and 3 empty beakers. She poured 0.7 L into the *

second. How much
L

Mia makes decorative candies by pouring melted chocolate into
molds, Each mold holds 0.4 oz of chocolate. Mia bought a 26-
ounce bag of chocolate but has already used 10.4 oz. How

many candies can she make with the chocolate she has left? 2. LI-

(® 12466m

@) 6635
® 25

% 0oL

@ 1.8em
@ s54kg
O s1am
(K) $63.45
® 12178 m
@ 15.3min
® 75

©) s17.68

first beaker and twice that amountinto t!
water was left for the third beaker? ¢,

Luis bought two pieces of wax to make candles. One piece

weighed 3.49 kg. and the other weighed 4.71 k g If wax costs

$1.80 per kg, how much did Luis spend altogether?,
$14.7¢

@ Keo's model airplane uses 0.03 L of fuel each minuteit flies. If the
fusl tank holds 0.5 L, how long can the plang fly without refueling?
(Roundto the nearest 0.1 minute.) ,a . ™ ;ﬁ

®@ & 6 O

A scale model of a train has an engine thatis 17.2 cm tong and
10 cars that are each 13.5 cm long. Each centimeteron the
model represents 0.8 m on the actual train. How long is the

in?
actualtrain? y 9 ) 76 m

Roger made a leather belt in crafts class. He attached a buckle
at one end and punched 5 equally spaced holes at the other. If
the distance between the first hole and last hole is 10 cm, how
far apart are the holes? 2 sem

N PRIV el
TOPCs-k: Pobem SoilgN. THEIR SLBEG§-V4 ES

One-Step A Mutti-Step Problems =

KX EEAENENERE AR REREXE X

R xx

What Should You Eat
Somewher e Over the Rainbow?

Decide whether you would choose mental math, estimation, or a calculator to solve
each problem. CIRCLE the letter in the appropriate column next to the problem.

Then solve the problem. Find the answer at the bottom of the page and write the

What Should You Dolf aHeal t h Food
Sal esnmanK nockson Y our Door?

Use a calculator to do each exercise. Find your answer and cross out the letter next
to it. When you finish, the answer to the title question will remain.

In golf, a player's average is found by adding the player's scores on
several rounds of golf and dividing by the number of scores. The quotient

Answers

letter you circled under it. n is rounded to the nearest hundredth. Find the average for each golfer.
W (1) scores: 84,96,83,79.88,90 B+ & 7
Scores: 94, 89, 94. 85.91. 90, 101, 85
Choose: M mental math, E estimation, or C calculator | z 0.342 @ q 1. ’3
D J Bl M E|C L_’ (3) Scores: 78,82, 78,72, 90,87, 75, 78,86,72,69,81,73 79.1S
1 It takes Saturn 29.464 years to revolve around the sun. It takes VIF N 88 Inice skating, a performance s rated by several judges. The highest and
Nepiune 164.79 years. How much longer does it take Neptune to 86.67 lowest ratings are dropped. The remainingratings are added. Find the
revolve around the sun? 135.326 scores for each skater.
¥l ~ | 89.60 (@) Judges'ratings: 8.3,88,86,83,8.5,80,84 42,
2 There are 5,280 feet in a mile. A jet is flying at an altitude of 33,400 D R
feet. To the nearest 0.1 mi, how many miles high is the jet? ‘Q 0.269 6 Judges' ratings: 7.9. 7.6. 7.9, 8.1. 7.9. 8.0, 7.7 3q , q_
| e T “ T asa | (B) Judges'ratings: 9.8,9.9,10.0,9.7,9.9,98,96 4 q )
Ti i { . A jetis flyi i 9, - . . . -
3 mh:t:sé%ai'?:g:a‘?:ﬁ)ﬂ ir‘:lilw::aﬁﬁ:d:m};;gr:;;u?gl:ll:g?e?’?g 700 ® G C = in baseball, a player's batting averageis found by dividing the number of
' 9. 7 km 127 his by the number of times at bat. The quotientis rounded to the nearest
- ! thousandth. Find the batting average for each player.
4 If an average 7th grade student weighs 91 pounds and Hugo the N @ F bd Ng | 86.40 )
Elephant weighs 18,130 pounds, about how many average 7th grade < 1 @ Hits: 195 Atbats: 788 Q. 247
students would be needed to equal the weight of Hugo? 200 s < | 483 | . Hits: 794 Atbats: 2954 &, 249
B [Mr. Muckworth earned $26,450 last year. He worked an average of ClIR ‘S A L79‘1 5 in 24 years of professionalbaseball, Ty Cobb got 4.191 hits in
7.5 hours a day for 236 days. How much did he earn for each hour ot 11,429 times at bat.
work? {Round to the nearest cent.) 00.67 ' ©.36 7
$ 'ﬂ- iﬂ: ] v 4125 In diving, each dive is given a number called the degree of difficulty. A
 |Einstein Middle Schoo! ordersd pencils embossed with the school G @ S : diveis rated by several judges. The degree of difficultyis multiplied by the
name and atom logo. The school ordered 720 pencils at 9.8¢ per _ 5348 sum of the judges' ratings. Find the scores for each dive.
‘ pencil. About how much did the pencils cost? $_70 - Difficulty: 1.5 Ratings: 6.5,6.0,6.5,7.5 39,75
7 WORLD RECORD: Peter Dowdeswell ate 100 yards of spaghetii in @ L O N - @ Difficulty: 2.7 Ratings: 8.0, 8.0, 8.5, 8.0 87‘ 75
record time. It took him an average of only 0.217 second for each yard. 91.13 e . .
How long did it take him to eat the spaghetti? 21.7 s N @ Difficulty: 2.4 Ratings: 9.5,9.0,9.0,85 86-
. = \Q 0.247 Inbasketball, a player's scoring average is found by dividing the number
8 A manufacturer of VCR's reduces the packaged weight of each VCR A S @ of points scored by the number of games played. The quotientis rounded
from 29.3 to 27.8 pounds. On a shipment of 230 VCR's with shipping > 289 to the nearest tenth. Find the scoring average for each player.
costs at 55¢ a pound, how much does the company save? $ . . 8 2
\( 87.75 @ Points: 1,444 Games: 165 ¢
(4) Points: 5.712 Games: 380 15,0
90 200 [135326 70 | 18.38 [189.75| 97 | 87.55 | 21.7 | 1494 | 63 | 400 42.1 ; ; ; ;
150 In 14 years of professional basketball, Wilt Chamberlainplayed in
w A Y (W] P P J \ E ? . 1,045 games and scored 31.419 points 3¢, }
TOPCeb u: Calouator:
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VHY DD THE BARY Pig EAT 0 MUCH?

Why Does Zara Have a Good Driving Record?

Find the unit price of eachitem described. Round each price to the nearestcent.
Wrile the letter of each exerciseabove its answer.

Cross cut the box containing each correct answer. When you finish, write the letters
from the remaining boxes in the spaces at the battom of the page.

@ 51b of potatoes for $2.19 @ 60 oz of honey for $4.89

$0.44% _perlb $0-08 peroz

® 200t of ol for $6.24 (@ 1 dozenroses for $29.75
03 pertt $.4.59d per rose

@ 36 oz of peanut butter for $4.39 @ 25 greeting cards for $7.95

$0.12, peroz $.0.92per card
@ 18 issues of a magazine for $28.90 @ 147 oz of detergent for $9.27

$4.6} perissue $0.06 per oz
@ 1 dozen doughnuts for $4.50 @ 7 tennis lessons for $99

© $0.38 per doughnut ${M. [Yperlesson

@ 22 oz of cereal for $3.67 ® 3.5Ib of cheese for $8.94

$0.17 peroz $Z.58per b

TR WwWlA[S | MIATK]ILI INTG A

032 |0.1210.41 |14.14/0.38 0.44[0.19 248 10.03 (255 (017 | 1.61|0.06 | 2.67 | 0.08

Fried chicken

(®) 5 pieces for $4.79 $0,96_per piece
@ 21 pieces for $18.77 $ O-S aperpiece
Aspirin

@ 30 tablets for $2.59 $ 0-09 per tablet
@ 165 tabletsfor $7.28 $ 0.05 per tablet

Ketchup

© 1402f0r$0.99 $.0,07 per oz
® 64 0zfor$3.10 $_0.08 peroz

Chocolatecandy bar
(D 165 oz for $0.50 $ (). B3O per oz
® 8ozfor$195  $.0,24peroz

Solve.

@ Amonthly magazine charges $17.40 for a

@ Asports store pays $380 for a case of 144
one-year subscription (12 issues). The

baseballs. The store sellsb e baseballslor
same magazine sells on the newsstand for $4.75 each. How muchless is their cost
$2.00 a copy. How muchdo you save on than their selling price for each ball?
eachissue by buying a subscriplié)n? $ %

@ For film and processing, a 36-exposure roit
of film costs $19.20. A 24-exposureroll
costs $16.40. How much can you save per
pleture by choosing the better buy?

3

® Aseasonticketto the Olde Theater costs
$76 and admits you 1o 6 plays. Single
tickets to each play cost $15. How much do

you save on each play by buying=2 saason
ticket? $.2.33

| H|o

[002 [2.33]0.89 | 0.15[2.16

0.07{0.96 | 0.46 | 0.04 { 0.30 { 0.09 12.11 | 0.24 | 0.55 | 0.05

B-71 TOPIC&-c: Ushg a Calculator: Uni Prices

The scores of 7 students on 4 differenttests are Test  Test  Tost  Test
given in the table. Find each of the following to Name 1 2 3 4
the nearesttenth of a point: -

A The average of Dean's scores. 8. 3 gz‘:x gi ,27 9 84
B. The average of Kim's scores. 77, & T P gg :l Z:
C. The averageof Brett's scores. 28,8 Marco 86 %9 8 100
D. The average of the scoreson Test 1. 81, & Kim 76 87 66 82
E. The averageof thescoreson Test3.7§.% | Pamon 76 81 62 90
F. The average of the scores on Test 4. e8.1 Bret 83 100 i 94

@ The receipts of a school cafeteria for one day were $1084.77. If 849 studentswere
served, find the average amount each student spent to the nearest cent. $[ Z 9

3 Practice times for 4 swimmersin the 100-meter

backstroke are given in the table. Find each of N Tl T2 Tl

the following to the nearest 0.01 second: ame © () {s)

A The averageof Cesar's times. 73,37 § Cesar 71.88 7409 7435

B. The averageof Lee's times. 74,33 & Teri 8941 70.88 §7.80

C. The average of the times on Trial 1.70.23 § | fick 0 S
Lee 23 80, 73.87 7531

D. The averageof the times on Trial 3,79‘ '3 95

@ Michelle picked 8 squash from her garden. They weighed 3.47 1o, 4.29 Ib, 3.55 Ib, 4.41 b,
308 Ib, and 4.16 Ib.
A. What was their average weight to the nearest 0.01 pound? 3 93 1
B. How much greater than the average was the weight of the heaviestsquash?o. 53 ‘b

@ Bill makes money mowing lawns on weekends, His time Month Hows  Earnings
worked and earnings for five months are given in the table
Findthefollqwj‘r]g‘.g g g’ 4.45 May o5 8 ogts
A. Average earnings per month to the nearest c an - July 125 62.75
8. Average time worked per month to the nearest0.1 hour. } ayg 9.5 47.25
C. Average earningsper hour to the nearest c;nst. " [0, Th Sept 12.0 60.00

@ Sam ran a marathonof 26.219 miles atan avaragé of 5.27 minutes for each mile. How
many minutes did he take to run the race? (Round to the nearest 0.01 min.) |3, ,(7

TH CA S, SH E IT S El
X 2 . $4.95 A G . $55.15
SS, sw (¢] T RE ST
. 120.77 8. 2. 8. 83.4 1. 0.7
CK LE Al 58
11.2h 783 23 71.14s A 8. 3.711b .3
[sIHl e[ [sWRIE[CTKLIETS[S]

SHE 1S WRECKLES:
TORC 6-d Using a Calculator:Averages B-72

NOTE: These problems can be solved using the formula: speed x time =
distance. Exercises 1, 3, and 5 illustratethe 3 types of problems that are
included.

When Does a Farmer Go to a Drug Store?

lﬂ Round each solution to the nearest tenth and find it in the answer boxes. Write the m

letter of the answer in each space containingthe number of the problem.

1. Alain Prost won the British Grand Prix by 7. Herman van Springel won the

w

»

o

driving for 1.41 hours at an average
speed of 139.2 miles per hour. How
many miles was the race?
mi

Walter Poenischswam from Havana.
Cuba, to Duck Key, Florida, in 34.25
hours. His average speed was 3.76 miles
per hour. How far did he swim?

—12 mi

. Matt Biondiset a record by swimming

100 meters at an average speed of 2052
meters per second. How long did he take
to swim the 100 meters?

s
A baseball pitch has been clocked at a
speed of 147.9 feet per second. At this
speed, how long does it take the baseball
to travel from the pitcher's mound to
home plate, a distance of 60.5 feet?

s

. Teuvo Louhivouriset a record by riding a

bicycle 515.8 miles in 24 hours. What

©

10.

Bordeaux-to-Paris,France, bicycle race
by riding for 13.59 hours at an average
speed of 26.65 miles per hour. How far
did he ride?

:%:LEZ— mi
. 1n 1934 Waiter Nilsson rode a unicycle

3.306 miles from New York to California.
If he averaged 285 miles a day, how
many days did the trip take?

d

. Dave Dowdle set a record by running

for 24 hours at an average speed of 7.1
miles per hour. How far did he run?
—3170:4—mi
A hockey puck has been clocked at a
speed of 166 feet per second. At this
speed, how long would it take the
puck to travel the 200-foot length of
ahockey rink?

Guiseppe Cantarella set a record by
roller skating 1.320 feet in 34.9

was his average speed? seconds. )
mph A What was her average speed in feet
6. The record for traveling across the per second?

United States on a motorcycle is 74.6
hours. If the distance traveled was 2,945
miles, what was the average speed of

37.8 s
B. What was her average speedin miles
per hour? (1 foot per second = 0.68

Why Did Netso Bright Save Burned-Out Light Bulbs?

Solve each problem. Find your answer and notice the two letters next to it. Write these
letters in the two boxes above the exercise number at the bottom of the page.

Suppose your heart beats an average of 72 times a minute. Each
time your heart beats, it pumps about 0.02 gal of bloed. At that rate,
how much blood is pumped in an hour? 8&6.4 ga

Anew car costs $15,795. The car weighs 2.832 pounds. What is the
cost for each pound of car? (Roundto the nearest cent.
$

Answers

@ King Midas once said that his daughter was “worth her weight in LD 254

gold.” Suppose gold was worth $420 an ounce and his daughter

weighed 90 pounds. According to King Midas, how much was she NH 7227

? = 3

worth?(1 pound = 16 ounces) ST 13
@ The speed of sound is 760 miles per hour. At that speed, how long

would it take to travel around the world, a distance of about 25,000 RO 604,800

miles? {Round to the nearest hour.) 33 h IS 864

{(5) WORLD RECORD: A famous diamond called the *Polar Star* was
sold for a record price of $113,000 per carat. The diamond weighs9 OM 299
'i', O &b, 300

41.3 carats. How much was paid for it? $
PL 28
The speed of light is 186,000 miles per second. At that speed, how
long wauld it take to travel from Earth to Mars, a distance of RA 4.97
48,000,000 miles? (Round to the nearest second. 258 s
fles? {Rou ) DA 4,666,900
@ A tamous professional basketball player was paid $1,000,000 last Bl 5.58
year. He played in 76 games for an average of 44 minutes per game. :
How much did he earn for each minute of piaying time? &F.lound to TR 7547
the nearest dollar.) $ .
RK 7

On the way back from a field trip, two buses stopped for gas. One
bus took 26.1 gallons and the ather 32.7 galtons. If gas cost $1 229 us

the motorcycle? 29. 6 mpn mile per hour.) 25,7 meh per gallon, how much did all of the gas cost? (Round 10 the nearest 258
° " cent, s 12. Bl 619,480
Answers 1~ 8: Answers7 ~ 11 @ WORLD RECORD: To raise money for charity, Jonathan Hook TO 33
kissed 4.106 women in 8 hours on March 10, 1883. To the nearest
06 @ 487 @ 1288 ® 1.2 @ 273 @ 9622 second, how many seconds did he average for each kiss? g SH 4,714,900
®) 215 OEEOKX] @) 1644 (@) 1704 (§) 257 {1 hour = 3600 seconds) 7 s S
— . |
. 1
@183 (T) o4 GREANICGELNORE @ 116 Tolu se 1IN Rt solA RL\JRJO oM
- T T T T > T T+ T shial 3 ol B 4 6 2 8 1 5 9 ‘ 3 7
l7 o [1A[5 [ 9 [1A[ 5 [A[1A[ L 1Bl 2 B [ 2 (1016 [2 1B} 3 |i1B] 4
WHlE\NlHLF_I\LEJ:_ELSJAl ARIMASIS IISIT TO uUSE IN HIS DARKROOM
T NEEDS A FARM ASSIS TORC -t Using a Calculatar Mixed Applications 8-74
TOPIC 6-¢ Using a Calculator
8-73 Speed Time. and Distancs
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I NOTE: Encourage students to do the computationsfor this puzzle mentally.
2 © !
5. & u. ws| & .8, Fu Why Shoul dn't  You Order Elephant
serol Y2gT%| 888gg 2O EgosIn a Restaur ant?
@@@@ 8 X T ye g 2R &8 &z
e s 5 2 M -3 = § :8 P Find the value of each expression. Use the values for the variables givenin
"g ® o o g é@@@@ é@@@@ N the chart below. Write the letter of each exercisein the box under its answer.
~ 8
B a=05 ¢=01 m=25 Xx=10
b ‘T@@®® PRI o8 8 | — I b=03 d=0.08 n=17.4 y = 100 I
TElvs 23 xx2| 8g8g88 fu
[ NS 2 >
23810000 sef25) Esieq IX ORI ® 2 o.s ®em 0.25
g |28 £ 20
2|2 |t OO EERL® & ®s-c o.4 ® bd p.024 ®mb o.75
L2 L. o
7|83 te go|Y 8 g o @ a+d 0.58 @ mx 94 ®d 5.9
23 pT|2sec%:5(5888s8 [£2
= |28 Orls8%iogl8sgesy oo ® n-b 7.1 ®2 ® 4 5.008
- @ @a wn
252 Loy |i00000: 0EOEO & @ men
~=|E2] T o, ® < 19.9
PEE | -l R S, g
8 §§ " g x ; o) o 'b . S 3 8 S —L‘N 174 | 058 | 015 | 08 | 174 ‘ 06 | 075 1 171 | 045 | 025 | 0024|0008 | 04 | 199
@ < - o 0 . o9 - [~
&if| iize| xx5%y) 884§ < Ev erlyonc HialTElS
[=3 . - - i
2| 8228 4,900 LrEED
HlsE] g8e8¢x §ng°.g;. TEw2 e low ® ® ©
2z oToeu -gcﬁwgmi 2T % x 39 - dim 5 5 78 3 g5 my 5 5o
=13l O0Ee| Eiiim ii:EisP> Srr o ow il o
T e ¥ b & o o LR L N ) o m+x 4b mxy
£ o 2.5 L 2,500
£33 ; $EOR®;|.000®E8 .
w|EE| B 3 @ z E § :D-‘ ©X+c(o| @ﬂ_ ®i
882*3 ~m ¢ ‘o “0-5'60 g-_g\g ¢ 174 m 4
88| = (O |E> x9 S 3 (5009 P sz
=Y s é""a:’ggozo*é,‘éog§~§sm¢ ®x-cqq
% = = = 3 ~ £ &
% BeNRlivasBcligneRit, © s ®m @.m
é gggwnJggg'gQggyg;g—gﬁ— y oY a2 5 Yy 0.0025
2 > € 5 S E'D 2 % Eo
feggBl2gi 822 gty
%:E%g §§§§§§%32.§,‘3§§’N£ 12 | 20 | 125| 35 |250| 99 | 5 |258 | 55 |00025(0174| 174 | 4 | 101
s ORI @EREBI: ®0O® v EvElPlH AINIT] |¥ L ks
8-75 TOPC 7-a' ScientificNotation TOPC 7-b: Vaieble Expressions B-76
NOTE: For this puzzle, students need to know the order-of-operations rule
that multiplicationis done before addition or subtraction. . a
ak* T G * %% .
L0%
n — W~ O] 1 How many squares can you countin Place the digits 1 through 9 in the
> ‘:l- j- ‘ D + > 3 l?] + 9 St this figure? @ empty boxes so that the threerows  ¥)
[\ | ‘._ T 0 across and the three columns down + o
r x l | form correct arithmetic sentences. All "
< ] ool ln 9 calculations are performed in order
x| | 1 © | > ! X (0|~ I‘ - | & from left to right or top to bottom. ¥ K
_® | [| ¥ | v
| 19 qu+3=15-eo
/o Ex
+ + X ~
08t | ~ 0
B3RS T &3 -@— (L] N -
2 - x =24 ¥ 9
0 > ‘ =2 ‘ | X
Ai [\2} 9 o | 2 |© 8 M @ Three stamps can be attached to each 4 8 g [
.:; - 1 - N other in various ways. One way is - + * T
— [=] 4 Ridd ‘ shown here. In how many other ways N o
(o 0 ™ ! g might three stamps be attached? - ‘ + =3
= & > ol i | o0 ol B2 o P ' 7 217 A
[~R=Bk:] J x-S > ~ o S5other 5 15 =12 t ?‘
-; g £ e \ > LT ways el
= |8 O] ‘e . How can you make change for $100 U-A'O
< |2 9 ing exactl ity coins? - N
L = § n —@@ (<) Z @ A math teacher drove by a playground using exactly fifty coins?
TR _ !9 that was full of boys and dogs The Replace 5 B andcwith numbers °
) 4 2 © N & [Te) n \9_ 05 teacher happened to notice that there that: . so
b g >'-_1- =™ | ;2 ,T) ~ o | O was a total of 40 heads and 100 feet.
=0 5= ,L * n St How many boys and how many dogs AxA=8B A=3
U'U gé’ p ? o - were there? 3 boys, lod095 B-A=C B=9
n o Bs S Y o ooy What day followed the day before A+A=C
8 Q "':'.%‘: o)\« \A : A 928 @ yesterday if two days from now will be C=6
= = |8 | (e)— Sunday? How can a baseball team win a game
= 0 EE’ 2 @ 0% TthSday withouta single man crossing home
Vo 28 61 @ What should go I the empty quare? Jate? )
< E 58 @@ & = PR AN players are women
§ a = < | e o
H NN AlE]®
S Q
5 Llea| |w >~ (O .:6 D E = ] i
S |RE + « O + ‘_ i [N $ SCORING KEY
:g Q gg x ,_-’f; & @ A El 8 or 9 — Superstar Genius
QL sz 0 ol lw - 8or 7 — Star Genius
@ c [ToRNe)] ? 4 or 5 — Genius
Ez §§ x| 2 L* IR g 02 E @ \ 3 or less — Genius of the Future
a i
35 28c ©- K
e
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